	Name of location			l l	1	1			•	1				1
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	1	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1	Alwarpet	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2	Andavar Nagar to Choolaimedu, Periyar Pathai	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Anna Nagar	Chennai	Regular	200	Open	CC	20	20	400	25	10	Bidding	30	5
	Anna Nagar 2nd Avenue Main Road	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Anna Salai, Teynampet	Chennai	Regular	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Arunachalapuram to Besant nagar, Besant ave Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Ashok Nagar to Kodambakam power house	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Ashok Pillar to Arumbakkam Metro	Chennai	Regular	200	Open	DC	13	14	182	25	60	Draw of Lots	15	5
9	Ayanavaram Road Connecting Medavakam Tank Bund Road And New Avadi Road	Chennai	Regular	150	Open CC 2	CC	20	20	400	25	10	Bidding	30	5
	Balaji Nagar, Kolathur	Chennai	Regular	150	Open	CC	12	15	180	25	10	Bidding	30	5
	Bazulah Road, T Nagar	Chennai	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Between Koyembedu and Parrys Corner (on PH Road)	Chennai	Regular	200	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Between Moolakadai To Doveton	Chennai	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
	Bharathi Salai, Royapettah & Triplicane	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Cathedral Road, Teynampet	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Chennai City Periphery Within CMDA Limits	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Chinmayanagar to Nerkundram, Nerkundram Main Road	Chennai	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
	Choolaimedu	Chennai	Regular	200	Open	CC	11	20	220	25	10	Bidding	30	5
	Cooks Road	Chennai	Regular	175	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Ennore High Road from Korukkupet IOC depot to container terminal Ampa Skywalk To Sterling Road On LHS	Chennai Chennai	Regular	150 200	SC Open	CFS CC	20 20	20 20	400 400	0 25	0 10	Draw of Lots Bidding	0 30	3 5
	Padi Flyover On MtH Road Towards Ayanavaram (Konnur High Road)	Chennai	Regular Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Royapuram Brige To Patinathar Temple On LHS On Sn Chetty Street.	Chennai	Regular	175	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	Gerugumbakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Gopaluram to Naddukuppam, Avvai Shanugam Salai,	Chennai	Regular	150	OBC PH	CC	20	20	400	25	10	Bidding	30	4
	Guindy to Velachery, Velachery Road, on LHS	Chennai	Regular	200	Open	CC	20	20	400	25	10	Bidding	30	5
	Harrington Road	Chennai	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	lyyappanthangal to Poonamallee	Chennai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
29	Jamalia to Stephenson Road	Chennai	Regular	200	Open	CC	14	30	420	25	10	Bidding	30	5
	Kaliamman Koil Street	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
31	Kamarajar Salai, Kodungaiyur	Chennai	Regular	150	Open	CC	11	20	220	25	10	Bidding	30	5

	Name of location		1	T	1		<u> p</u>		9	1			I	Т
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		J	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
32	Karaneswarar Pagoda Street, Mylapore	Chennai	Regular	150	Open	CC	12	20	240	25	10	Bidding	30	5
	Kavignar Bharathidasan Road, Alwarpet	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	KK Nagar	Chennai	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	Kodambakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Korukkupet	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Kundrathur	Chennai	Regular	200	SC	CFS	20	18	360	0	0	Draw of Lots	0	3
	Kundrathur to Chennai city outer ring Road, Murugan koil Road	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kundrathur to Pammal,Pammal Main Road	Chennai	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Luz church Road, Mylapore	Chennai	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mahalingapuram	Chennai	Regular	400	Open PH	CC	20	20	400	25	10	Bidding	30	5
	Mahatma Gandhi Road, Adayar	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Malar Hospital to Besant Nagar via theosophical society	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mambalam High Road, T Nagar	Chennai	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	Manapakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Manapakkam to Gerugambakkam, Manapakkam Main Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mandavelli to Bharathi Nagar	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mandavelli to Pattinapakkam via Mandavellipakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Medavakam Tank Road Between Purasawakam Junction To Ayanavaram Signal	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	MG Road (Adayar to Vannanthurai) on RHS	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mugailavakkam to Kundrathur via Mugalivakkam Main Road	Chennai	Regular	200	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
	Mylapore to Ramakrishna nagar, Ramakrishna Mutt Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mylapore to Santhome, Kutchery Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Nandanam to Gopalapuram, Mowbrays Road	Chennai	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
55	Nandanam to RA Puram via Pasumpon Muthuramalinga Thevar Rd and St Marys Rd	Chennai	Regular	150	Open CC 2	CC	20	20	400	25	10	Bidding	30	5
56	New Avadi Road To Padi Flyover On LHS	Chennai	Regular	220	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Nungambakkam to Mylapore, Cathedral Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Nungumbakam to Aminjikarai, Nelson Manickam Road	Chennai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Paper Mills Road To Retteri Signal	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
60	Perambur AA Road (From Perambur Railway Station To Vyasarpadi Jeeva Station)	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	Name of location			1	1	1	<u> p</u>		9	i i		l	1	Т
SI. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
61	Peters Road, Royapettah	Chennai	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
62	PH Road Between Ega Signal To Central	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	PH Road Between Ega Signal To Koyembedu Flyover	Chennai	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	Porur to Iyyappanthangal	Chennai	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	Porur to Mugalivakkam	Chennai	Regular	150	OBC PH	DC	20	20	400	25	60	Draw of Lots	15	4
	Porur to Vadapalani Arcot Road	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Pushpa Nagar Tank Bund Road - Nungambakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	RA Puram to Parthasarathipuram, Mowbrays Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	RA Puram to Santhome, greenways Road	Chennai	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	Ramapuram	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Reddy kuppam Road, West Mambalam	Chennai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Ritherdon Road	Chennai	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Royapuram Town	Chennai	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Santhome to Kailasapuram, Santhome high Road	Chennai	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
	Shanmuganagar salai, Choolaimedu	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Shanthi Colony Anna Nagar	Chennai	Regular	300	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Shenoy Nagar	Chennai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Spur Tank Road (Mayor Ramanathan Road)	Chennai	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	St.Thomas Mount to Porur signal on LHS	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Sydenhalmns Road (Raja Muthhaiya Salai) Connecting Ph Road And Elephant Gate Signal	Chennai	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
	Tank Bund Road, Nungambakkam	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Teynampet to Alwarpet, Eldams Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	TH Road from Korrukpet IOC depot to moolakadai via Kodungayur	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Thousand lights to Greames Road, on LHS	Chennai	Regular	250	OBC	CC	20	20	400	25	10	Bidding	30	4
	Tondiapet from Appollo hospital to Toll gate on LHS	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Tondiarpet High Road Between IOC Depot To Kodungayur Dump Yard	Chennai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Tondiarpet High Road Near Tolgate Within 3 Kms Radius	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Triplicane	Chennai	Regular	200	OBC	CC	20	20	400	25	10	Bidding	30	4
	Vadapalani to Valluvur Kottam, Arcot Road	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Valasaravakam to Vadapalani, Arcot Road, Left side	Chennai	Regular	250	OBC	CC	18	18	324	25	10	Bidding	30	4
91	Valluvar Kottam To Ega Theatre Signal	Chennai	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

	Name of location			J tile C	Tuto or ru	IIII Itaaa	US PCI I	011011111	g actain	.			Ι	
SI. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	1	um Dimen a of the sit M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		2 3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	J	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
	Vannandurai to Besant Nagar	Chennai	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
	Vijayanagar Bus stand to SRP TOOLs, Tharamani Road, Velachery.	Chennai	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Villivakkam	Chennai	Regular	160	OBC	CC	20	20	400	25	10	Bidding	30	4
	Virugumbakam to Anbu Nagar, Kamarajar high Road	Chennai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vyasarpadi	Chennai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Washermenpet	Chennai	Regular	175	Open CC 2	CC	20	20	400	25	10	Bidding	30	5
	Chennai City (within CMDA LIMITS) -1	Chennai	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Chennai City (within CMDA LIMITS) -2	Kanchipuram	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Chennai City (within CMDA LIMITS) -3	Tiruvallur	Regular	200	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Chennai City (within CMDA LIMITS) -4	Kanchipuram	Regular	200	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Urapakkam West	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	200 feet Road between Eachankadu Junction to OMR (LHS)	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	200 feet Road between Eachankadu Junction to OMR (RHS)	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	200 feet Road between Pallavaram to Eachankadu Junction (LHS)	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	200 feet Road between Pallavaram to Eachankadu Junction (RHS) Anakaputhur	Kanchipuram Kanchipuram	Regular	150 150	SC	CFS CC	20 15	20 18	400 270	0 25	0 10	Draw of Lots	30	3 5
_	Chromepet to Meenambakkam (LHS) on NH 45	Kanchipuram	Regular Regular	150	Open OBC	DC	20	20	400	25	60	Bidding Draw of Lots	15	4
	Chromepet to Thiruneermalai on Thiruneermalai Main Road	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Errakarai Road(connects Kundrathur Road to Chennai city outer ring Road)	Kanchipuram	Regular	200	Open	cc	20	20	400	25	10	Bidding	30	5
11:	Essa Pallavaram	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Inner Ring Road from Alandur to Velachery	Kanchipuram	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Kovilampakkam	Kanchipuram	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	Kundrathur to Baikadai via Kundrathur Main Road	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Madambakkam	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Madipakkam	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Mangadu to Paraniputhur via Pattur	Kanchipuram	Regular	175	Open	CC	20	20	400	25	10	Bidding	30	5
	Medavakkam to Pallikaranai on Tambaram - Velachery Road LHS	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Medavakkam to Pallikaranai on Tambaram - Velachery Road RHS	Kanchipuram	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Nukkampalayam Link Road	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Ottiyambakkam	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
122	Palavakkam to Vettuvankeni on ECR (LHS)	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5

	Name of location		1	<u> </u>	1		<u> p</u>		9	i i		l	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
123	Panaiyur to uthandi toll plaza on ECR(LHS)	Kanchipuram	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
124	Panaiyur to Uthandi toll plaza on ECR(RHS)	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Pathuvanchery on Agaram Main Road	Kanchipuram	Regular	150	OBC PH	CC	20	20	400	25	10	Bidding	30	4
	Rajaji Road, Tambaram	Kanchipuram	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	Selaiyur	Kanchipuram	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Sholinganallur Main Rd between ECR and OMR	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Sholinganallur to Kelambakkam on OMR (RHS)	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Tambaram to Chromepet (LHS) on NH 45	Kanchipuram	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Taramani to Perungudi on MGR Main Road	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Thiruneermalai to Thirumudivakkam on Thirumudivakkam Main Road	Kanchipuram	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Thoraipakkam to Sholinganallur on OMR (RHS)	Kanchipuram	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
	Urapakkam	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
135	Velachery Tambaram Main Road between Tambaram Railway station and Rajakilpakkam	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vettuvankeni to Panaiyur on ECR(RHS)	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Vijayanagar junction to OMR on Tharamani Road	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
138	West Tambaram to Mudhichur	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Zamin Pallavaram	Kanchipuram	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Alapakkam Main Road	Tiruvallur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Ambattur	Tiruvallur	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Ambattur To Puzhal	Tiruvallur	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
	Atthipattu Pudu Nagar	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Avadi to Poochiathipedu	Tiruvallur	Regular	160	Open	CC	20	20	400	25	10	Bidding	30	5
	Ayapakkam	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Church Road on Mogappair East	Tiruvallur	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Elaiamman Kovil On Thiruvottriyur Towards Railway Station	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Kathirvedu On RHS Before Kathirvedu Subway	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Kattupalli Road	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Korattur	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
151	Madhavaram Junction To Manjakkam (On 200 Ft Ring Road) (LHS)	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Manali To Ennore (On Athipettu Main Road)	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	5
153	Manjampakkam To MFL Junction (On 200 Ft Road)	Tiruvallur	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5

	Name of location			<u> </u>			<u> p</u>		9	1			1	T
SI. No		Revenue District	Type of RO	Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		-	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
154	Nerkundram To Madhuravayul on NH	Tiruvallur	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Padi	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Palaverkadu Road (With Korattur To Ambattur	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
_	Redhills Within Town Limits	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Retteri junction to Chennai bypass on Perambur Redhills high road	Tiruvallur	Regular	150	Open	CC	18	20	360	25	10	Bidding	30	5
	Surapattu, Ambattur Taluk	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Teachers Colony (Rettari To Kadappa Road) LHS	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Thirumangalam Junction To Mogappair	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Thirumulaivayal	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
_	Thiruverkadu	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Thiruvottriyur - South Mada Street	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Vanagaram to Ayyanpakkam	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Konerikuppam (Kanchipuram to Enathur Road)	Kanchipuram	Regular	100	Open	CC	20	20	400	25	10	Bidding	30	5
_	Madambakkam (Near Guduvanchery)	Kanchipuram	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Sogandy to Parandur road	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vadamangalam	Kanchipuram	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Anupuram	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Chengalpettu Town 2	Kanchipuram	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Chingleput Town 1	Kanchipuram	Regular	140	Open	CC	20	20	400	25	10	Bidding	30	5
	Gandhi Road from Perungulathur to Kolapakkam	Kanchipuram	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kanchipuram Town - 1	Kanchipuram	Regular	150	Open	CC	20 20	20	400 400	25 25	10 45	Bidding	30 15	5
	Kanchipuram Town - 2	Kanchipuram	Regular	150 110	OBC Open	DC CC	20	20 20	400	25	10	Draw of Lots Bidding	30	5
	Kanchipuram Town (Military Road) Kolapakkam to Mambakkam LHS	Kanchipuram Kanchipuram	Regular Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Madurantakam Town	Kanchipuram	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Mahindra city	Kanchipuram	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
_	Sriperumbudur to Manimangalam on SH 110	Kanchipuram	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Sriperumbudur Town	Kanchipuram	Regular	110	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Sunguvarchatram Town	Kanchipuram	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
183		Kanchipuram	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
_	Uthiramerur Town	Kanchipuram	Regular	110	Open	CC	20	20	400	25	10	Bidding	30	5
	Salavakkam to Palayaseevaram	Kanchipuram	Regular	110	OBC	DC	30	30	900	25	45	Draw of Lots	15	4

	Name of location		1				 		J	1			l	T
SI. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
186	Gummidipoondi Within Town Limits	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
187	Guruvarajapet	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Kadambathur	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kilambakkam	Tiruvallur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Kovilpadagai	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
191	1111	Tiruvallur	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Madharpakkam	Tiruvallur	Regular	150	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
193		Tiruvallur	Regular	120	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
	Thiruvellaivoyal	Tiruvallur	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Tirutani Bypass	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
196		Tiruvallur	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
197		Tiruvallur	Regular	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Vellathur	Tiruvallur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vengal Towards Periyapalayam Road	Tiruvallur	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Polur Town	Tiruvannamalai	Regular	110	Open	CC	20	20	400	25	10	Bidding	30	5
201		Tiruvannamalai	Regular	110	Open	CC	20	20	400	25	10	Bidding	30	5
	Arcot town	Vellore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vellore Town	Vellore	Regular	115	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Alangayam to Tirupattur Road (Within Alangayam Town Limits)	Vellore	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Maaposi Salai - Vellore Town	Vellore	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Natrampalli to Kuppam Road (via Nayan Cheruvu) Thirupattur Town	Vellore	Regular	110 110	OBC SC	DC CFS	20 20	20 20	400 400	25 0	45 0	Draw of Lots	15 0	3
	·	Vellore	Regular			CC	20	20		25	10	Draw of Lots	30	5
	Vaniyambadi Town Pachal	Vellore Vellore	Regular Regular	110 110	Open Open	DC	20	20	400 400	25	45	Bidding Draw of Lots	30 15	5
	Vellore Town (Within City Limits)	Vellore	Regular	110	Open	CC	20	20	400	25	10	Bidding	30	5
	Maduraivoyal on NH 4	Chennai	Regular	200	OBC	CC	20	20	400	25	10	Bidding	30	4
	Redhills to Vandalur (on Outer Ring Road)	Kanchipuram	Regular	250	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Redhills to Vandalur (on Outer Ring Road)	Tiruvallur	Regular	250	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
214		Kanchipuram	Regular	150	SC PH	CFS	45	45	2025	0	0	Draw of Lots	0	3
215		Kanchipuram	Regular	150	OBC PH	CC	20	20	400	25	10	Bidding	30	4
_	Chembarambakkam to Irrungatukkottai (LHS) on NH-4	Kanchipuram	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	Chengalpattu to Singaperumal Koil on LHS	Kanchipuram	Regular	180	OBC	CC	45	45	2025	25	10	Bidding	30	4

	None of leasting			J III tile C	late of Ta	IIII Nada	as per i	Onowin	g actant	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
218	Irrunkatukkottai to Sriperumbudur (on NH 4 LHS)	Kanchipuram	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
219	Kanchipuram to Dhamal NH-4 (LHS)	Kanchipuram	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Maraimalai nagar to Maduranthakkam on NH	Kanchipuram	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4
	Melmeruvathur to Chengalpet on NH	Kanchipuram	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Ocheri to Kanchipuram on NH-4	Kanchipuram	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Ozhupakam to Acharapakkam on NH	Kanchipuram	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Perungulathur to Maraimalai Nagar	Kanchipuram	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	Perungulathur to Tambaran (LHS) on NH45	Kanchipuram	Regular	150	Open	CC	30	20	600	25	10	Bidding	30	5
	Pillaichattiram to Kanchipuram NH-4 (LHS)	Kanchipuram	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Santhavellore to Pillaichatram NH-4 (LHS)	Kanchipuram	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Singaperumal koil to Urapakkam on NH (LHS)	Kanchipuram	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Sriperumbudur to Irungattukottai (RHS) on NH- 4	Kanchipuram	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Sriperumbudur to Santhavellore NH-4 (LHS)	Kanchipuram	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
231	Thandalam On NH -LHS	Kanchipuram	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
232	Vanagram toll booth to Tambaram on Maduravoyal-Tambaram Chennai Bypass Road	Kanchipuram	Regular	150	Open CC 1	CC	45	45	2025	25	10	Bidding	30	5
233	Vanagram toll booth to Tambaram on Maduravoyal-Tambaram Chennai Bypass Road (service Road)	Kanchipuram	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
234	Vandalur to Perungulathur (LHS) on NH45	Kanchipuram	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kundrathur to Poonamallee on ORR	Kanchipuram	Regular	150	OBC	СС	45	45	2025	25	10	Bidding	30	4
236	Kundrathur to Poonamallee on ORR	Tiruvallur	Regular	150	SC PH	CFS	45	45	2025	0	0	Draw of Lots	0	3
237	Arambakkam On NH5 - RHS	Tiruvallur	Regular	150	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
238	Chennai Outer Ring Road	Tiruvallur	Regular	150	Open PH	CC	45	45	2025	25	10	Bidding	30	5
	Gummidipoondi To Elavur On NH5 LHS	Tiruvallur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
240	Kakkalur on NH	Tiruvallur	Regular	120	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
241	Kuthambakkam On NH	Tiruvallur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Madhavaram To Red Hills On NH5 (RHS)	Tiruvallur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Maduravayol To Vellapanchavadi On NH-RHS (Noombal)	Tiruvallur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Minjur To Redhills On 400 Ft Road (LHS)	Tiruvallur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Murukkambattu On NH	Tiruvallur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Panchetti To Kavarapetti On LHS -NH5	Tiruvallur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
247	Pattabiram	Tiruvallur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5

	Name of location			T	1		<u> p</u>		9	1		I	1	τ
SI. N		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
24	8 Ponpadi On NH	Tiruvallur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
24	9 Poonamallee on NH 4	Tiruvallur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	0 Ramanjeri On NH (Chennai To Tirupati HW)	Tiruvallur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	1 Redhills To Sholavaram On (RHS)	Tiruvallur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	2 Sevvapet on NH	Tiruvallur	Regular	120	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
_	3 Sholavaram To Panchetti On (RHS)	Tiruvallur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	4 Thatchurkoot Road To Puduvayal on NH 5 LHS	Tiruvallur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	5 Veppampattu	Tiruvallur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	6 Aswaragasurunai on NH 66	Tiruvannamalai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	7 Kilnachipattu to Drugiammiandal (on NH 234)	Tiruvannamalai	Regular	140	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	8 Kilnachipattu to Kilpennathur (on NH 66)	Tiruvannamalai	Regular	180	Open CC 1	CC	45	45	2025	25	10	Bidding	30	5
	9 Nadalanganandal to Vettavalam on the NH 234	Tiruvannamalai	Regular	180	OBC	CC	45	45	2025	25	10	Bidding	30	4
	0 Naidumangalam to Velakkanandal (on NH234)	Tiruvannamalai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	1 Nallanpillaipettral (NH 234)	Tiruvannamalai	Regular	130	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	2 Pakkripalaym NH 66	Tiruvannamalai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
_	3 Pal Vaarthu Vendran on NH 234	Tiruvannamalai	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
_	4 Polur to Ettivadi (on NH 234)	Tiruvannamalai	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	5 Santhavasal to Kannamangalam (on NH 234)	Tiruvannamalai	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	6 Vinnavanur on NH-66, Pondi – Bengaluru Highway,	Tiruvannamalai	Regular	120	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
_	7 Ambur Town NH 46	Vellore	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4
	8 Between Ambur to Vaniyambadi on NH 48	Vellore	Regular	150	SC SC	CFS CFS	45 45	45 45	2025	0	0	Draw of Lots	0	3
	9 Katpadi to KV Kuppam on NH 75 D Katpadi On NH	Vellore	Regular	150	OBC	DC	45 45	45 45	2025	0 25	75	Draw of Lots	0 15	4
	и катраст Оп NH 1 Kattery (Chennai - Bangalore LHS)	Vellore Vellore	Regular Regular	150 150	OBC	CC	45 45	45 45	2025 2025	25	10	Draw of Lots Bidding	30	4
	1 Kattery (Chennal - Bangalore LHS) 2 Kaveripakkam to Ocheri on NH-4	Vellore	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	3 LHS Pallikonda Toll Gate to Konavattam on NH 48	Vellore	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	4 NH 46 Madhanur to Ambur town	Vellore	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	5 NH 48 Between Walajah Toll plaza to Vellore	Vellore	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4
	6 NH 48 Wallajah Toll to Kaveripakkam	Vellore	Regular	190	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	7 On LHS Arcot to Melvisharam NH 48	Vellore	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
_	8 On NH 40 Between Milestone 130 to 134	Vellore	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	9 On NH 40 Thiruvalam to Chittor border (TN Limit)	Vellore	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4

	Name of location	 		<u> </u>			 		<u> </u>	T				т —
SI. N		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
28	Tirupattur to Koratti	Vellore	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
28	1 Unnai Vaniyambadi to Narayanapuram	Vellore	Regular	110	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
28	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Vellore	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
_	3 Vellore to Pallikonda NH-46	Vellore	Regular	165	OBC	CC	45	45	2025	25	10	Bidding	30	4
	Chengalpattu to Tiruporur Koot Road Junction	Kanchipuram	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
_	Manivakkam to Karsangal on SH 48	Kanchipuram	Regular	160	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Thiruporur to Thiruporur Koot Road Jn On SH 581	Kanchipuram	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	7 Athur to Chengalpattu on SH 58	Kanchipuram	Regular	110	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
_	Cheyyur to Madurantakkam	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
_	Chunampet to Madurantakam	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
_	Devaneri to Poonjeri on ECR(RHS)	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	1 Devariyambakkam to Panruti (On SH 48)	Kanchipuram	Regular	100	OBC	CC	30	30	900	25	10	Bidding	30	4
_	2 Kadapakkam to Kalpakkam on ECR	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
_	Radapakkam to Koovathur on ECR	Kanchipuram	Regular	150	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
_	Kanchipuram to Ayyampettai on SH 58	Kanchipuram	Regular	110	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
	Karasangal (on Padapai to Vandalur Road)	Kanchipuram	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kovalam -kelambakkam Main junction to Semencheri on ECR(LHS)	Kanchipuram	Regular	150	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kovathur to Pavanjur	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Kundrathur to Nandambakkam on SH 113	Kanchipuram	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Magaral to Thirupulivanam on SH 118 A	Kanchipuram	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mambakkam to Kelambakkam on SH121	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
_	Mavalurkkupam (Thandalam To Arakkonam Rd)	Kanchipuram	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Mudichur to Manimangalam Muthukadu Bridge to kovalam-kelambakkam Main junction on ECR (RHS)	Kanchipuram Kanchipuram	Regular	110 150	SC OBC	CFS DC	30 30	30 30	900	0 25	60	Draw of Lots Draw of Lots	0 15	3 4
	4 Oragadam to Walajabad on SH	<u> </u>	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
	Padappai to Oragadam	Kanchipuram Kanchipuram	Regular Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	4
	Payanoor on OMR	Kanchipuram	Regular	150	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
_	7 Poonthandalam (ECR)	Kanchipuram	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
_	S Semencheri to Devaneri on ECR (RHS)	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
30	,	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
_	Sriperumbudhur to Singaperumal Koil	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	1 Sriperumbudur to Pondur on SH 57	Kanchipuram	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of location			<u> </u>			<u> p</u>		9	Ī				Т
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
312	Sriperumbudur to Sengadu on SH 57	Kanchipuram	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sungarvachatram to Sogandi on SH 120	Kanchipuram	Regular	110	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
	Sunguvarchatram to Aymicheri on SH120	Kanchipuram	Regular	110	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tandalam to Mannur koot road	Kanchipuram	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Thiruvidandhai on ECR	Kanchipuram	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Thiruvidandhai to Devaneri on ECR(LHS)	Kanchipuram	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Uthandi toll plaza to Muthukadu Bridge on ECR(RHS)	Kanchipuram	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Uthandi toll plaza to Muthukadu Bridge on ECR(LHS)	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Uthiramerur to Bukkathurai (on SH-118)	Kanchipuram	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Valarpuram to Mannur	Kanchipuram	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Vandalur to Padappai	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Vengambakkam to Tirukalukundram	Kanchipuram	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Alamathi To Thamaraipakkam On RHS	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Ammaiyar Kuppam	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Arakkonam to Mosur	Tiruvallur	Regular	125	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Avadi On SH	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10 60	Bidding	30	5
	Ichiputhur on SH Ikkadu	Tiruvallur	Regular	120 150	Open CC 1 OBC	DC DC	30 30	30 30	900 900	25 25	60	Draw of Lots Draw of Lots	15 15	4
	Ikkadu on SH	Tiruvallur Tiruvallur	Regular Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
331	llavambedu	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
332	Kalambakkam on SH 50B	Tiruvallur	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
333	Kannur on SH 120	Tiruvallur	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kodakkal Mottur on SH	Tiruvallur	Regular	120	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
	Kumarajpet On SH	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Minjur To Nappalayam	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Murukanchery on SH 50	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	NCTPS Road	Tiruvallur	Regular	175	Open	CC	30	30	900	25	10	Bidding	30	5
	Othappai On SH	Tiruvallur	Regular	150	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
	Palaverkadu	Tiruvallur	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pallipatu	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
342	Paruthipatu On SH	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
343	Vallur (On Minjur Highway LHS)	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5

	Name of location			<u> </u>			<u> p</u>		9	1			1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
344	Periyapalayam On SH	Tiruvallur	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
345	Periyapalayam To Oothukottai In RHS	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Poovalambedu To Sathyavedu-SH 52	Tiruvallur	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pudur On SH	Tiruvallur	Regular	150	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Puduvayol To Arani	Tiruvallur	Regular	150	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
	Pulivalam on SH	Tiruvallur	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Putlur On SH	Tiruvallur	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	RK Pet on SH	Tiruvallur	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	RK Pet To Pallipatu Road	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sayanavaram Near Madhavaram Junction	Tiruvallur	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thadaperumbakkam On RHS (Ponneri To Minjur Road)	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Tharatchi	Tiruvallur	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thiruninravur to Puduchatiram on SH 50A	Tiruvallur	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Tirumazhisai On SH	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Uthukkotai To Nagalapuram Road	Tiruvallur	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Vadamadurai	Tiruvallur	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Vadaperumbakkam Madavaram Redhills Road Velliyur on SH 114	Tiruvallur	Regular	150 120	SC SC	CFS CFS	30 30	30 30	900 900	0	0	Draw of Lots	0	3
	Vengal Junction	Tiruvallur Tiruvallur	Regular Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	4
	Vichur To Minjur On LHS	Tiruvallur	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Arasudaiyampattu to Vazhavachanur (SH 6)	Tiruvannamalai	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Athimalaipattu to Sevoor (on SH 132)	Tiruvannamalai	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Athinalapattu to Sevoor (on SH 132) Athipakkam to Kattukoil on SH 9	Tiruvannamalai	Regular	120	Open	CC	30	30	900	25	10	Bidding	30	5
	Chetpet (on Polur road)	Tiruvannamalai	Regular	130	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Chetpet to Arani (on SH 4)	Tiruvannamalai	Regular	130	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Cheyyar Bypass	Tiruvannamalai	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kilkodungalur on SH 115	Tiruvannamalai	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Koolamandal to Mangal (on SH 116)	Tiruvannamalai	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Melathikkan to Kolakkudi (SH 9)	Tiruvannamalai	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
373	Melmuthanur to Reddiarpalayam (SH6A)	Tiruvannamalai	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
374	Mottupalayam to Varagur (SH 129)	Vellore	Regular	110	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
375	Nadukuppam to Katteri (on SH 5)	Tiruvannamalai	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of leasting	ppoint retuin o		T t U	lute of Tu	iiii itaaa	uo poi i	Ono Wini	gaotant	1		1		т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		2 3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
376	Polur To Devikapuram on SH 115	Tiruvannamalai	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
377	Purasai (On Vandavasi - Cheyyar Road)	Tiruvannamalai	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
378	Thenimalai to Nallavanpalaym (on SH 6)	Tiruvannamalai	Regular	130	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
379	Tiruvannamalai to Kattampoondi (on SH 9A)	Tiruvannamalai	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
380	Vandavasi to Mambattu (on SH 115)	Tiruvannamalai	Regular	110	OBC	CC	30	30	900	25	10	Bidding	30	4
381	Ambur to Pernampet SH130A	Vellore	Regular	110	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Anaicut to Odugathur on SH 122	Vellore	Regular	110	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
	Andiyappanur on SH 122	Vellore	Regular	110	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
	Arcot to Arani SH 4	Vellore	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
385	Arcot to Randam (on SH 5)	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Banavaram on SH	Vellore	Regular	110	Open	CC	30	30	900	25	10	Bidding	30	5
	Kaniyambadi To Baghayam on SH 9	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
388	Kuminipetai to Salai on SH-61 Right Hand Side	Vellore	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
-	Nemili on SH	Vellore	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
-	Nimmiyambattu on SH 215	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 60 between Thirupattur to Kunichi	Vellore	Regular	110	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
-	On SH122 between Unai Vaniyambadi & Narayanapuram	Vellore	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Ponnai Town on SH 54	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
-	SH 127 - mile stone between 0 to 3 (serkaadu)	Vellore	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
-	SH 130 Alanjikuppam to Oomerabad	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	SH 207 Vellore to Ussor	Vellore	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	SH 9 - mile stone between 202 to 198	Vellore	Regular	110	Open	CC	30	30	900	25	10	Bidding	30	5
	Thar Vazhi to Kandaneri	Vellore	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Thirumalpur on SH 58	Vellore	Regular	110	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tirupattur to Natrampalli on Pudupettai Road	Vellore	Regular	110	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
-	Vaniyambadi to Nimbiyampattu RHS (on Alangayam Road) on SH 215	Vellore	Regular	110	OBC SC	DC CFS	30 30	30 30	900	25 0	60 0	Draw of Lots	15 0	3
	Vasur On SH 124A Manthangal	Vellore Vellore	Regular Regular	110 110	SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
-	Velleri to Tamaraipakkam (SH 4)	Vellore	Regular	180	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Ashokapuram - Saravanampatti	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Between GV Residency and Avinashi Road	Coimbatore	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
1 /11/6				1 130	i ODC					1 43			. 30	1 4

	Name of location	ponit retun ot	Tiot acaici	J tile C	Tuto or ru	IIIII Itaaa	uo per i	011011111	gactant	J.		1	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	ı	um Dimen a of the sit M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
408	Between Sowripalayam and Varadharajapuram in Coimbatore City	Coimbatore	Regular	150	Open CC 1	CC	20	20	400	25	10	Bidding	30	5
409		Coimbatore	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Coimbatore City limits - 2	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Coimbatore City limits - 3	Coimbatore	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	Coimbatore City limits - 4	Coimbatore	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
	Coimbatore City limits - 5	Coimbatore	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	FCI Road - between BPC Bottling plant and Sathy Road Jn Ganapathy Post Office Jn to Women's Polytechnic Jn	Coimbatore	Regular	150 150	OBC	DC DC	20 20	20 20	400 400	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
_	Indu Nagar Junction - GRG School (Vilankurichi Road)	Coimbatore Coimbatore	Regular Regular	150	Open Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Kamaraj Road From Hopes Junction To Singanallur Bus Stand On LHS	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kanuvai - Kasthurinaikenpalayam	Coimbatore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Kanuvai to Vadavalli via Kalapanaickenpalayam	Coimbatore	Regular	120	SC CC 1	CFS	30	30	900	0	00	Draw of Lots	0	3
	Lakshmi Mills Junction - Fun Republic Mall, LHS (on Avinashi Road)	Coimbatore	Regular	150	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
	On Avinashi Road, Between Anna Statue to PSG College Of Technology On RHS	Coimbatore	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
422	On Kamarajar Road between Avinashi Road junction and Trichy Road junction	Coimbatore	Regular	150	OBC CC 1	CC	20	20	400	25	10	Bidding	30	4
_	On NSR Road, Sai Baba Colony	Coimbatore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
424	On Perur by pass Road between Ukkadam bus stand and Sundakkamuthur Road junction	Coimbatore	Regular	150	Open PH	CC	20	20	400	25	10	Bidding	30	5
	On Podanur Main Road between Podanur and Attupalam	Coimbatore	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	On Raju Naidu Street, Sivananda Colony Road Connecting Power House To NH 67	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	On Road Connecting Gandhi Park To Perur Main Road	Coimbatore	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	On Road connecting Lakshmi Mills signal and Ramanathapuram	Coimbatore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	On Sundakamuthur Main Road between Kovaipudur Police station and Kovaipudur by-pass	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
430	On Ukkadam - Sundakamuthur By-pass Road Connecting Chetty Street To Ukkadam Bus Stand	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
431	On Ukkadam - sungam by-pass Road between Sungam and Ukkadam bus stand	Coimbatore	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

	IOCL proposes to ap	point Retail Of	Tilet dealer	1	late or ra	IIIII IVaaa	us per i	Oliowill	g actail.	J.				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
432	On Vilankuruchi Road Between Ramakrishnapuram Water Tank To Vishweswara Nagar Bridge	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
433	Pappanaickenpalayam, Coimbatore Town	Coimbatore	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
434	Ramakrishna mills Jn to Vilankurichi	Coimbatore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
435		Coimbatore	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
436	Vadavalli - TNAU	Coimbatore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
437	Vellakinar - Ashokapuram	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vijay Nagar - Annai Indira Nagar	Coimbatore	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Vilankurichi - Indu Nagar Road (Vilankurichi Road)	Coimbatore	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Anupparpalayam Pudur (Tirupur Town Not On NH)	Tiruppur	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
441	Chinnabommanaickenpalayam (Tirupur Town)	Tiruppur	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	From 15 Velampalayam Ring Road Junction To Samundipuram Bus Stop	Tiruppur	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
443	From Nallur Junction to Dharapuram Road Junction on Sevanthapalayam Road	Tiruppur	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
444	Iduvampalayam, Tirupur Town	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Karuvampalayam, Tirupur Town	Tiruppur	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	KombaiThottam(From Valam bridge junction to Kangeyam Road Junction)	Tiruppur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
447	On 15 Velampalayam Ring Road From TTP Mill Main Road Junction To Indian Public School	Tiruppur	Regular	150	OBC	CC	15	15	225	25	10	Bidding	30	4
448	On 60 Feet Road From North RTO Office To Perumanallur Road Junction	Tiruppur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
449	On Avinashi Road From Thaneer Pandal Bus Stop To North RTO Office On LHS	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
450	On Nochipalayam Road Within Corporation Limits From Palladam Road Junction	Tiruppur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
451	On Palavanjipalayam Ring Road, from Dharapuram Road Junction to Tirupur South Taluk Office	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
452	On Palavanjipalayam Ring Road, from Veerapandi Pirivu to Kali Kumaran Kovil	Tiruppur	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
453	On Palladam Road From Tirupur Old Bus Stand To Sulochana Cotton Mills On RHS	Tiruppur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
454	On SH172 from Nallur Junction to Housing Unit Bus Stop	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	Name of leasting		Tiot acaici	J III tile C	Tuto or ru	IIII Itaaa	uo per i	011011111	gactant	· ·				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
455	On Valayangadu Main Road From Kumar Nagar Bus Stop To Samundipuram Bus Stop	Tiruppur	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
456	Tiruppur Town, between Kangayam Road and Dharapuram Road	Tiruppur	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
457	Tirupur Municipal Corporation office to Thaadikaran bus stop (On Mangalam Road)	Tiruppur	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
458	Tirupur Town From Thaadikaran Bus Stop To Railway Station	Tiruppur	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
459	Tirupur town limits - 1	Tiruppur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
460	Tirupur town limits - 2	Tiruppur	Regular	150	OBC	CC	15	15	225	25	10	Bidding	30	4
461	Tirupur town limits - 3	Tiruppur	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
462	Tirupur town limits - 4	Tiruppur	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
463	Tirupur Town On Avinashi Road From Pushpa Theater Bus Stop To Kumar Nagar Bus Stop On LHS	Tiruppur	Regular	150	OBC	DC	15	15	225	25	60	Draw of Lots	15	4
464	Tirupur Town On Avinashi Road From Pushpa Theater Bus Stop To Kumar Nagar Bus Stop On RHS	Tiruppur	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
465	Tirupur Town On AVP Road (From Avinashi Road junction to Angeripalayam Road Junction)	Tiruppur	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
466	Tirupur Town On Kannagi Nagar Main Road	Tiruppur	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
467	Tirupur Town On Kodikambam Road	Tiruppur	Regular	150	Open CC 1	DC	15	15	225	25	60	Draw of Lots	15	5
468	Tirupur Town On Kongu Main Road From Chinnasamy Ammal School Bus Stop To Paraikuli Bharathi Nagar Bus Stop	Tiruppur	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
469	Tirupur Town On Perumanallur Road From 60 Feet Road Junction To New Bus Stand On LHS	Tiruppur	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
470	Tirupur Town On Union Mill Road Between Uuthukuli Road Junction And Valam Bridge Junction	Tiruppur	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
471	Tirupur Town On Uuthukuli Road From Railway Station To Palayakadu Bus Stop On RHS	Tiruppur	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
472	Within Corporation Limits of Tirupur town	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Stretch of road connecting Muthaiyan Kovil (On 60 feet road) to Palavanjipalayam Ring Road	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
474	Athipalayam - Kovilpalayam	Coimbatore	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
	Between Eachanari temple junction and L&T Health Center Hospital on	Coimbatore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Eachanari to Chettipalayam Road													

	Name of leasting	point Retail O		J III tile C	late or ra	IIII Nada	us per i	Oliowill	g actant	, . 		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	I	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
476	Kalampalayam - Govt. Veterinary Hospital, Perur	Coimbatore	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
477	Kalapatti - Kurumbapalayam	Coimbatore	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Karamadai town on Sirumugai Road	Coimbatore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Maruthamalai to Vadavalli LHS	Coimbatore	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
	Mettupalayam town (Not on Highway)	Coimbatore	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
	On Pappampatti Main Road between Trichy road and Pappampatti	Coimbatore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	On Road connecting Odakulayam and Kerala Border	Coimbatore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	On Sidco Sugunapuram Road	Coimbatore	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	On Thekani road between Chettipalayam and Karacheri	Coimbatore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
485	Pollachi town (Not on Highway)	Coimbatore	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Puluvapalayam - Vellikuppampalayam	Coimbatore	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Sulur town (Not on Highway)	Coimbatore	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Thondamuthur - Deenampalayam	Coimbatore	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Thondamuthur to Vedapatti	Coimbatore	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Thudiyalur - Kanuvai Road	Coimbatore	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Vellimalaipattinam - Devarayapuram	Coimbatore	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Carnival theatre Road Dindigul	Dindigul	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Dindigul Town - 100 Feet Road RM Colony	Dindigul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Dindigul Town - Bharathipuram	Dindigul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Dindigul Town limits - 1	Dindigul	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Dindigul Town limits - 2	Dindigul	Regular	100	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Dindigul Town limits - 3	Dindigul	Regular	100	OBC SC	DC CFS	15 20	15 20	225	25	45 0	Draw of Lots	15	3
	Dindigul Town -NehruJi Nagar RM Colony Road	Dindigul	Regular	100		DC	20		400 400	0	45	Draw of Lots	0 15	4
	Dindigul Town Yaanaitheppam to Thomaiyaraipuram, on Madurai Road, Dindigul Town, on Trichy Road between Govt. Hospital to Kattaspathri Hospital	Dindigul Dindigul	Regular	100 100	OBC ST	CFS	20	20 20	400	25 0	0	Draw of Lots Draw of Lots	0	3
		Ŭ	Regular								-		-	
	From Idaiyakottai to Kondarangi Keeranur On SH 192	Dindigul	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Kullalakundu, Nilakotai taluk	Dindigul	Regular	100	OBC PH	DC	30	30	900	25	45	Draw of Lots	15	4
	NS Nagar Seelapadi Dindigul	Dindigul	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	On SH 74 between RVS College and Dindigul Bypass Road	Dindigul	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	SSM College to Dindigul Bypass overbridge	Dindigul	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
506	Vakkampatti Panchayat Arayanallur	Dindigul	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

_	IOCL proposes to ap	Point Retail Of	The dealer	1	late of Ta	IIIII Nada	as per i	Onowing	g actain	j.		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
507		Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Chain Link number between 3 and 9) On SH83A													
	Erode to Mettur Road within town municipal Limit	Erode	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Erode Town - RN Pudur	Erode	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
_	Erode town limits - 1	Erode	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Erode town limits - 2	Erode	Regular	100	OBC	DC	15	15	225	25	45	Draw of Lots	15	4
	Erode town limits - 3	Erode	Regular	100	Open	DC	15	15	225	25	45	Draw of Lots	15	5
	Erode town limits - 4	Erode	Regular	100	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Erode Town within the municipal limit	Erode	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Karumandampalayam On SH84	Erode	Regular	100	Open CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
516	On Erode to Bhavani Road within 3 KM from BP Agraham towards Bhavani within corporation limit	Erode	Regular	100	Open	DC	22.5	30	675	25	45	Draw of Lots	15	5
517	Perundurai Town Within the Town Limit	Erode	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
518	Perundurai to Kanjikovil Road on MDR 891	Erode	Regular	100	OBC	DC	25	30	750	25	45	Draw of Lots	15	4
	Perundurai to Thudapathi on MDR 357	Erode	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Perundurai to Vellode Road on MDR 1137	Erode	Regular	100	SC	CFS	20	30	600	0	0	Draw of Lots	0	3
	SIPCOT Industrial Area	Erode	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
522	Thindal -Vilarasampatti Road on MDR 62 (Mile stone chain Link between 3 and 5)	Erode	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
523	Thudupathi to Thingallur Road on MDR 357	Erode	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
524	Coonoor - Kothagiri	Nilgiris	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
525	Coonoor town (Not on Highway)	Nilgiris	Regular	100	OBC CC 1	DC	15	15	225	25	45	Draw of Lots	15	4
526	Devala - Nellakotta	Nilgiris	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
527	Gudalur town (Not on Highway)	Nilgiris	Regular	100	Open PH	DC	15	15	225	25	45	Draw of Lots	15	5
	Hullathy - Masinagudi	Nilgiris	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Kothagiri town (Not on Highwa)	Nilgiris	Regular	100	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Nadugani - Cherambadi	Nilgiris	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Ooty - Bikketti	Nilgiris	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
		Nilgiris	Regular	100	OBC	DC	15	15	225	25	45	Draw of Lots	15	4
		Nilgiris	Regular	100	Open CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
	Kothagiri to Kodanad	Nilgiris	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
535	Avinashi Town (Not on Highway)	Tiruppur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5

	Name of location	Point Retail Ot		J III the C	late or ra	iiii itaaa	us per i	Onowing	g details	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	I	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
536	Dharapuram Within Town Limits (Not On SH/NH)	Tiruppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Kannakkampalayam (Tirupur North Taluk)	Tiruppur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	On Kongu Main Road, Tirupur Town	Tiruppur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Perumanallur Town Not On NH	Tiruppur	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
540	Poondi Ring Road From Poondi Temple To Container Corporation Of India Ltd	Tiruppur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	SH172, 5 km stretch from Housing Unit Bus Stop, towards Kangayam	Tiruppur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Within Municipal limits of Udumalpet town	Tiruppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Avinashi town (Not on Highway)	Tiruppur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
544	Kangeyam town (Not on Highway)	Tiruppur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
545	Kodaikanal town (Not on Highway)	Tiruppur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Palani town (Not on Highway)	Dindigul	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
547	Palladam town (Not on Highway)	Tiruppur	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Talawady town (Not on Highway)	Tiruppur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Annur to Pasur (RHS) Annur to Pasur Road LHS (Within 2kms from Annur Town)	Coimbatore	Regular	150 150	Open OBC	CC DC	35 35	35 35	1225 1225	25 25	10 75	Bidding	30 15	5 4
	Avinashi Road (Fun Mall to Jenneys Residency)	Coimbatore Coimbatore	Regular Regular	150	OBC	CC	30	30	900	25	10	Draw of Lots Bidding	30	4
	Bilichi - Karamadai	Coimbatore	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
553		Coimbatore	Regular	150	OBC	DC	40	40	1600	25	75	Draw of Lots	15	4
	Kariyampalayam to Annur RHS	Coimbatore	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kovilpalayam - Kariyampalayam Pirivu	Coimbatore	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Kuttaiyur to Karamadai (RHS)	Coimbatore	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Kuttaiyur to Mettupalayam	Coimbatore	Regular	150	OBC	DC	30	30	900	25	75	Draw of Lots	15	4
	Mettupalayam Road, Sai baba colony junction to VG Hospital	Coimbatore	Regular	150	Open CC 1	СС	20	20	400	25	10	Bidding	30	5
	Mettupalayam Road, Saibaba colony junction to Coimbatore Corporation flower market	Coimbatore	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
560	Mettupalayam Road, Thudiyalur to NSM Palayam	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
561	Narasimhanaikenpalayam - Koundampalayam (LHS)	Coimbatore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
562	Narasimhanaikenpalayam - Koundampalayam (RHS)	Coimbatore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
563	Narasimhanaikenpalayam - Periyanaikenpalayam	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
564	Neelambur to Karumathampatti on NH	Coimbatore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	Name of leasting			J III tile C	late of Ta	IIIII IVaaa	us per i	Oliowill	g actail.	J.		ı	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
565	On Mettupalayam Road NH 67 From Kaundampalayam Signal To Thudiyalur Junction On LHS	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
566	On NH 544 between Bodipalayam road and Pollachi - Coimbatore road Junction	Coimbatore	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
567	On NH 544 between karumathamapatti to Tejaa Sakthi Institute of Technology for Women on LHS	Coimbatore	Regular	150	SC CC 1	CFS	45	45	2025	0	0	Draw of Lots	0	3
568	On NH 544 between Palathurai road and Bodaipalayam road	Coimbatore	Regular	150	Open CC 2	CC	35	35	1225	25	10	Bidding	30	5
569	On NH 544 between Pollachi - Coimbatore road junction and Trichy road junction LHS towards Kochi	Coimbatore	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
570	On NH 544 between Pollachi - Coimbatore road junction and Vellalore junction RHS towards Kochi	Coimbatore	Regular	150	OBC CC 1	CC	35	35	1225	25	10	Bidding	30	4
571	On NH 544 between Vellalore road junction and Trichy road junction RHS towards Kochi	Coimbatore	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
572	On NH 544 between Walayar to Ettimadai	Coimbatore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	On NH 83 (old NH 209), From Surya Hospital To Sivanandapuram Mills On RHS.	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
574	On NH 83 (old NH 209) between Eachanari temple and Karpagam College	Coimbatore	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
575	On NH 83 (Old NH 209) between Nallampalli Road junction and Erisanampatti Road junction	Coimbatore	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4
576	Ondipudur to Sulur Aero on NH	Coimbatore	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
577	Othakalmandapam on NH 83 (old NH 209)	Coimbatore	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
578	Pollachi to Gomangalampudur on NH (LHS)	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
579	Tamaraikualam on NH 83 (old NH 209)	Coimbatore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
580		Coimbatore	Regular	150	Open CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
581	1 / 1 /	Coimbatore	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
582		Coimbatore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
583		Coimbatore	Regular	150	Open	DC	30	30	900	25	75	Draw of Lots	15	5
584	7 Process	Coimbatore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
585	7	Tiruppur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Ayyalur Trichy Road - NH 45	Dindigul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
587	Batlagundu Bypass	Dindigul	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5

	Name of leasting	ponit Retail O		J III tile C	late of Ta	IIII Nada	as per i	Onowin	g actant	j.		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *		Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
588	Between koolampatti to Palayamkottai on NH 183.	Dindigul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Chatrapatti New Bypass on NH 83 (Old NH 209) (Between Manjanaickantatti to Veeralapatti)	Dindigul	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
590	Dindigul - Karur Bypass on NH7 RHS	Dindigul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
591	Dindigul Bypass to Sempatti Junction on NH45 Extn.	Dindigul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Dindigul to Oddanchatram on NH	Dindigul	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	Oddanchatram to TSNA college on NH	Dindigul	Regular	150	OBC PH	CC	20	20	400	25	10	Bidding	30	4
	Oddenchatram New Bypass	Dindigul	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	On NH 83 (Old NH 209) between Pallapatti and Muthanampatti	Dindigul	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	On NH 83 between Pallapatti and Muthanampatti	Dindigul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
597	On NH7 between Tafe Factory to NH Toll Gate RHS (From Dindigul to Madurai)	Dindigul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
		Dindigul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Settinaickanpatti from Dindigul to Thadikombu on NH7 (RHS)	Dindigul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
600	Swaminathapuram (NH209)	Dindigul	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
601	3 Kms stretch on NH 948 from Arulmigu Bannariamman Temple towards Pudhuvadavalli	Erode	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
602	Bannari to Sathyamangalam on NH	Erode	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
603	Between Kankapuram To Chittode on NH 544 on LHS	Erode	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
604	Between Kankapuram To Chittode on NH 544 on RHS	Erode	Regular	150	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
605	Between Nasiyanur and AttayamPalyam on NH 544 on LHS	Erode	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
606	Between Nasiyanur and AttayamPalyam on NH 544 on RHS	Erode	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
607	Chithodu to Komarapalayam on NH 47 from KM 62 to 57 towards Salem on LHS	Erode	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
608	From Kovilpalayam, Hasanur to Talamalai R.F on NH 948	Erode	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
609	On NH 47, Coimbatore to Salem from KM 61 to 56 on LHS.	Erode	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
610	Perundurai To Chiitode Road near Palliplyam Vikalmedu Bus Stop on NH 544 on LHS	Erode	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
611	Perundurai To Chiitode Road within 3 km from Palliplyam Vikalmedu Bus Stop towards Chittode on NH 544 on RHS	Erode	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
612	Perundurai to Chittode Road within 3 km from Texvelly towards Chittode on NH 544 on LHS $$	Erode	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

	Name of leasting	ponit Retail O	The dealer	3 III tile O	tate or ra	IIII Nada	us per i	Onowin	g actant	,. 		1	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	I	um Dimen a of the sit M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
613	Perundurai to Chittode Road within 3 km from Texvelly towards Chittode on NH 544 on RHS	Erode	Regular	150	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
614	Sathyamangalam to Pulliampatti on NH	Erode	Regular	150	Open PH	CC	35	45	1575	25	10	Bidding	30	5
615	Vavikadai on NH 544 towards Chittode on RHS	Erode	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
616	Vavikadai towards Chittode on NH 544 on LHS	Erode	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
617	Vijayamangalam to Bhavani on NH	Erode	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
618	Coonoor - Mettupalayam	Nilgiris	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
619	Ooty - Pykara	Nilgiris	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	Ooty On Gudalur Road On NH 67	Nilgiris	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
621	Ooty to Gudalur on NH	Nilgiris	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Pykara - Gudalur	Nilgiris	Regular	150	Open CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
	Between Avinashipalayam Junction and Kangeyampalayam NH47 (RHS)	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Chengapalli to Vijayamangalam on NH-544 on Right Hand Side	Tiruppur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
625	From Kangeyam to Vellakovil on NH-81 on Left Hand Side	Tiruppur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	NH 81, Avinashipalayam to Kangayam	Tiruppur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	NH 83 (Old NH 209), from Udumalpet Bus Stand to Poolankinar	Tiruppur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	NH381, From Pollikalipalayam to Avinashipalayam	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	NH81, Vellakoil to Senapathipalayam (LHS)	Tiruppur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	NH81, Vellakoil to Senapathipalayam (RHS)	Tiruppur	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
631	On NH 381 From Thirumurugan Poondi Bus Stop To Avinashi Bus Stand On LHS	Tiruppur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
632	On NH 381 From Varanasi Theatre To Thirumurugan Poondi Bus Stop On LHS	Tiruppur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
633	On NH 544 from Nethaji Apparel park to Chengapalli on LHS	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	On NH 544 from Nethaji Apparel park to Chengapalli on RHS	Tiruppur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
635	On NH 544 from Avinashiilingampalayam junction to Nethaji Apparel park on RHS	Tiruppur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
636	On NH 544 From Avinashilingampalayam Junction To Magalam Road Junction On LHS	Tiruppur	Regular	150	OBC	DC	30	120	3600	25	75	Draw of Lots	15	4
637	On NH 544 from Avinashilingampalayam junction to Nethaji Apparel park on LHS	Tiruppur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
638	On NH 544 From Mangalam Road Junction To Thekkalur Pirivu On LHS	Tiruppur	Regular	150	OBC	DC	30	120	3600	25	75	Draw of Lots	15	4

	Name of leasting			J III (IIC C	late of Ta	IIII Nada	as per i	Onowin	g actant	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
639	On NH 544 From Mangalam Road Junction To Thekkalur Pirivu On RHS	Tiruppur	Regular	150	SC	CFS	30	120	3600	0	0	Draw of Lots	0	3
	On NH 81 From Palladam Bus Stand To Madhapur On LHS	Tiruppur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
641	On NH 81 From Palladam Bus Stand To Semmipalayam Pirivu On LHS	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
642	On NH 81 From Samigoundanpalayam Road Pirivu To Karanampettai Junction On LHS	Tiruppur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
643	On NH 81 From Samigoundanpalayam Road Pirivu To Karanampettai Junction On RHS	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
644	On NH83, from Udumalpet Bus stand till SV Mills post office (LHS)	Tiruppur	Regular	150	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
645	Anthiyur to Udumalpet on NH (LHS)	Tiruppur	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
646	Avinashi By-pass to Chengapalli on NH	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
647	Kangeyam to Kurukathi on NH	Tiruppur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
648	Karanampettai to Palladam on NH	Tiruppur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
649	Palladam to Kangeyam on NH	Tiruppur	Regular	150	Open CC 2	CC	35	45	1575	25	10	Bidding	30	5
650	Udumalpet to Madathukulam on RHS	Tiruppur	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
	Bellaipalayam Annur Road, On SH 80	Coimbatore	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
652	Between Rassakkapalayam and Thoppampatty Pirivu on (SH 15) Pollachi Palladam Road	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
653	Ganeshapuram - Irumbarai (SH 170)	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
654	Kaduvettiplayam On SH 165	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
655	Kalappanaikenpalayam - Navavoor Pirivu	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
656	Kanuvai - Kalayanur on SH	Coimbatore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
657	LHS between Airport Jn. to Neelambur Jn. at L&T Bypass	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
658	Marudhamalai Main Road From Lawley Road Junction To Vadavalli Bus Stop On RHS	Coimbatore	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
659	Nachiplayam to Arasipalayam On SH 163 LHS	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Nachiplayam to Arasiplayam On SH 163 RHS	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
661	Odanthurai Limits On Kotagiri Road SH15	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
662	Okkilipalayam on SH 163	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
663	On Avinashi road (SHU 52) between Kalapatti Main Road Junction and Venkitapuram Road Junction	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
664	On Avinashi road (SHU 52) between Venkitapuram road junction and NH 544 (L & T bypass) junction	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of location			T	1		<u> p</u>		9 4.014	1			I	$\overline{}$
Sl. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		J	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
665	On SH 162 between NH 544 and Chettipalayam road	Coimbatore	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
666	On SH 162 between Vellalore and NH 544	Coimbatore	Regular	100	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
667	On SH 78 A between Mannur and Ponnayur	Coimbatore	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
668	On SH 78 A between Ponnayur and Ayyampalayam	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH78A between Gandhi statue and NGM College	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
670	Podanur - Chettiplayam Road (Between Podanur Railway Junction & NH 47 Bridge crossing)	Coimbatore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
671	RHS between Airport Jn. to Neelambur Jn. at L&T Bypass	Coimbatore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
672	Unjavelampatty on SH 21	Coimbatore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
673	A Naal Road on Kallimandayam to Dharapuram Road	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
674	Dindgul to Dharapuram On SH 37 LHS (between Milestone 60 and 63)	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
675	Eriyodu to Ayyalur Road	Dindigul	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
676	Gopalpatti Town	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
677	Kallimandayam New Bypass	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
678	Kallimandayam to Idayakottai On SH 192	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
		Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
680	Narikalpatti on SH 153	Dindigul	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	On SH 192 between Keeranur to Thalaiyuthu	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Palani Town on Alangiyam Road	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Palani Town on Dharapuram Road	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Perumalmalai to Shenbaganur on SH	Dindigul	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Thaneer Panthampatty, On SH 152 in between KM stone 12 & 14	Dindigul	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Athani (On SH)	Erode	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
687	Chennimalai to Kangayam Road within 10 km from Chennimalai towards Kangeyam on SH 96	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
688	Chittode to Kavindapadi on SH 15	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
689	Ellispettai C.S.I Church to Kavin Mahal Kavindapadi on SH 15	Erode	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
690	Elumathur On SH84A	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
691	Erode - Chennimalai Road between Erode Railway Station & Muthampalayam	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
692	Erode - Sathy Road between Swasthik Circle Signal and Thanneerpandal Palayam Bus Stop On SH15 on RHS	Erode	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of leasting			J III tile C	late of Ta	IIII Nada	as per i	Onowin	gactant	,. 		1	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *		Finance to arranged I applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
693	From Kongu Nagar, Sathyamangalam to Bannariamman Institute of Technology on SH 82	Erode	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
694	Ingur to Vijaymagalam-Voipadi-Chennimalai Road Junction on SH 96	Erode	Regular	100	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
	Nambiyur (On SH 15 A)	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
696	Nanjai Uthukuli On SH84A on LHS from Erode to Muthur	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
697	Nanjai Uthukuli to Elumathur on SH 84A.	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
698	On Sathyamangalam Bhavani Main Road (SH 82) between Jambai and Thalavapettai	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
699	On SH84A between Solar & Lakkapuram (Chain Link no 0 to 3)	Erode	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
700	Perundurai to Kunnathur Road on SH 196	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
701	Punjai Kalamangalam On SH84	Erode	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
702	Savakkattupalayam on Nambiyur-Avinashi Road	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
703	Seenapuram on SH 196	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
704	Solar to Muthur Road within 2 km from Solar Circle on SH 84A	Erode	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
705	Veppampalayam On SH96	Erode	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
706	Within 4Kms from Dasappagoundenpudur towards Thuckanaickenpalayam on SH 82	Erode	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
707	Kothagiri - Mettupalayam	Nilgiris	Regular	100	OBC	DC	15	15	225	25	60	Draw of Lots	15	4
	Nellakotta - Gudalur	Nilgiris	Regular	100	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Ooty - Kothagiri	Nilgiris	Regular	100	OBC	DC	15	15	225	25	60	Draw of Lots	15	4
710	Dhasanayakkanpatti On SH 83	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
711	Edayakinar On SH 37	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
712	Gudimangalam on Udumalpet Road	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Gudimangalam, on Dharapuram Road	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Gudimangalam, on Pollachi Road	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
715	Kangeyam - Tirupur Road On SH172 Between Kangeyam Bus Stand & Neelakattupudur Bus Stop	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
716	Karanampettai Not On NH	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
717	On Dharapuram New Bypass From Alangiyam Road Junction To Thoppampatti Road Junction	Tiruppur	Regular	100	Open	DC	20	30	600	25	60	Draw of Lots	15	5
718	On Dharapuram New Bypass From Alangiyam Road Junction To Udumalpet Road Junction On LHS	Tiruppur	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5

	IOCL proposes to ap	point Rotali Ot		J tile C	late or ra	IIII Itaaa	uo per i	On Own	gactan	1		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
	On Dharapuram New Bypass From Alangiyam Road Junction To Udumalpet Road Junction On RHS	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	On SH 153 From Dharapuram New Bypass Road Junction To Thirumalaipalayam Road Pirivu	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
721	On SH 163 From Palladam Road Junction To Ayyampalayam(Cochin Frontier Road)	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
722	On SH 165 From Kombakadu To Samalapuram	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
723	On SH 166 From NH 544 Junction To Spring Mount Public School On LHS	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
724	On SH 172 between Peruntholuvu road pirivu to Nachipalayam bus stop on LHS	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
725	On SH 174a From Trichy NH Road Junction To Kallakinar	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 189 betweeen Muthur bus stand to Muthur Govt high school on RHS	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
727	On SH 19 From Rayarpalayam To Anamalais Toyota SHowroom	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
728	On SH 19 From Veerapandi Pirivu To Arulpuram On LHS	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 196 (LHS/RHS), from Kunnathur Police Station to Semmandampalayam	Tiruppur	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
730	On SH 196 Between Kanakampalayam Jn And Pandian Nagar Busstop On LHS	Tiruppur	Regular	100	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
	On SH 196 From Perumanallur To Kanakkampalayam Road Pirivu On LHS	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
732	On SH 196 From Perumanallur To Kanakkampalayam Road Pirivu On RHS	Tiruppur	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 196 From Pooluvapatti Pirivu To Kanakkampalayam Road Pirivu On LHS	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
734	On SH 196 From Pooluvapatti Pirivu To Kanakkampalayam Road Pirivu On RHS	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
735	On SH 19a Between Tirupur Railway Station To Koolipalayam Ring Road Jn	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 21 between Ponnapuram to Govindapuram on Pollachi road	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
737	On SH 21 From Kolathupalayam And Polarai	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
738	On SH 21 From Kolinjivadi And Kolathupalayam	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
739	On SH 21 From Polarai And Mulanur Bus Stand On RHS	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of leasting			J III tile C	late of Ta	IIII Nada	us per i	Oliowill	g actail.	J.		ı	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *		Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
740	On SH 37 From Dr Nalini Institute Of Engineering And Technology And Koneripatti Road Pirivu	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
741	On SH 37 From Koneripatti Road Pirivu And Salakkadai	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	On SH 83a Within 1 Kms From Dharapuram Road Junction Towards Uuthiyur	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
743	On SH 87 Between Gudimangalam To Kondampatti	Tiruppur	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
744	On SH 87 Between Udumalpet To Kottamangalam	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
745	On SH 87 From P.Vadugapalayam To Chithampalam	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
746	On SH 97 Between Udumalpet To Thanthoni	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
747	On SH 97 From Dharapuram New Bypass Road Junction To Rotary Mahal	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
748	On SH189 (Muthur to Kodumudi Road), from Muthur till bridge over Noyyal River	Tiruppur	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
749	On SH19A Between Kodiampalaym Naal Road & Koolipalayam Naal Road	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
750	P.Vadugapalayam On SH	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
751	Palladam To Kallampalayam (On SH 166)	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
752	Palladam Within Town Limits(Not On NH)	Tiruppur	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
753	Samalapuram To Paramasivampalayam On SH 169	Tiruppur	Regular	100	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
	SH 189, from Pappinipachapalyam to Chettiyarpalayam (LHS)	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	SH 189, from Pappinipachapalyam to Chettiyarpalayam (RHS)	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tirupur Town From Pushpa theater bus stop to New bus stand on LHS	Tiruppur	Regular	100	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Tirupur Town On SH 196 From New Bus Stand To Pandian Nagar Bus Stop On LHS	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Uthukuli R.S. to Kodiampalayam Naal Road On SH81	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Uthukuli RS to Thottiyampalayam, on SH 81	Tiruppur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Uthukuli to Poosaripalayam, on SH 81	Tiruppur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
761	Within 2 Kms From Dharapuram Bypass Road Junction Towards Pollachi On SH 21	Tiruppur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Aavin Park To Melamadai	Madurai	Regular	150	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
763	Airport Jn To Velammal Medical College Within 2 Km On RHS (Madurai Ring Road)	Madurai	Regular	150	Open	DC	45	45	2025	25	60	Draw of Lots	15	5
764	Anna Nagar	Madurai	Regular	150	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Avaniapuram to Airport junction	Madurai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5

	Name of location		1	<u> </u>	1		<u> p</u>		9	i i		I	1	$\overline{}$
SI. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
766	Avaniapuram to Thirupurakondram	Madurai	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
767	Bibi Kulam	Madurai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
	lyyer Bungalow Moondrumavadi Main Road	Madurai	Regular	150	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Jaihindpuram	Madurai	Regular	150	OBC CC 1	CC	20	20	400	25	10	Bidding	30	4
	K.K Nagar	Madurai	Regular	150	Open PH	CC	30	30	900	25	10	Bidding	30	5
	Kadachanendhal To Umachikulam	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kalavasal Signal to Nagamalai Puthukotai	Madurai	Regular	150	Open	CC	18	20	360	25	10	Bidding	30	5
	Koodal nagar to Sikander Chavadi	Madurai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
774	Madrai Railway Junction to Madurai RTO Office, Via. New Ellis Nagar (70ft. Road, Madurai)	Madurai	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
775	Madurai City (within Corpn Limits)	Madurai	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
776	Madurai City 1 (within Corpn Limits)	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
777	Madurai City 2 (within Corpn Limits)	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
778	Madurai Meenakshi Mission hospital to NH38 Junction on Madurai Melur Road	Madurai	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
779	Mattuthavani Flower Bazaar to Melamadai Police Check Post	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
780	Meenakshi Mission Hospital To Othakadai, RHS	Madurai	Regular	100	Open CC 1	CC	45	45	2025	25	10	Bidding	30	5
781	Meenakshi Mission Hospital To Vikram Hospital	Madurai	Regular	150	OBC	CC	30	30	900	25	10	Bidding	30	4
782	11.1	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Near GH Hospital and Anna bustand, Madurai	Madurai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
_	Oomachikulam	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Palanganatham Junction to Fathima College (Bypass Road)	Madurai	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Palanganatham to Thiruparankundram	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
_	Pasingapuram to Kumaram	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	S Marret Street, Madurai	Madurai	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Sellur Bridge to Arapalayam	Madurai	Regular	150	Open	DC	16	20	320	25	60	Draw of Lots	15	5
	Sellur to Meenambalpuram, Kulamangalam Main Road	Madurai	Regular	100	Open	DC	20	20	400	25	60	Draw of Lots	15	5
791		Madurai	Regular	150	OBC	CC	30	30	900	25	10	Bidding	30	4
	Soorakulam to Perungudi	Madurai	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Surveyor Colony (Alagar Koil Main Road)	Madurai	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Tallakulam to Meenakshi Mission Hospital	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
/95	Thanakkankulam to Thirupurakondram	Madurai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4

Sl. No Revenue District Type of RO Revenue District Type of Site* Type of Site* Revenue District Type of Site* Revenue District Type of Site* Revenue District Type of Site* Rived Fee / Minimum Dimension (in M.)/Area of the site (in Sq. M.). Mode of Selection Rived Fee / Minimum Bid amount Rived Fee / Minimum Bid Amou		Name of location		1	1	1				J					
Regular/Rural	SI. No				monthly Sales Potential #		Site*	I	a of the si	te (in Sq.	arranged	by the	Selection	Minimum Bid amount	Security Deposit
15.5 PM/ST/5T 15.0 PM/ST/5	1	2	3							8		9b	10	11	12
Hospital				(Regular/Rur	al)	1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN		Frontage	Depth	Area	working capital requireme nt for operation of RO Rs. in	fund required for developme nt of infrastruct ure at RO	Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
Page Vilangudi To Paravai Madurai Regular 150	796		Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Pop Kalawasal Signal to ISKON Madurai on NH85 Madurai Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0	79	Vilangudi To Paravai	Madurai	Regular	150	OBC	СС	45	45	2025	25	10	Bidding	30	4
800 Kalawasal to Simmakal Madurai Regular 150 OBC CC 20 20 400 25 10 Bidding 30 801 Narimedu (PT Rajan Road) Madurai Regular 150 Open CC1 CC 20 20 400 0 Draw of Lots Draw o	798	Villapuram, Arupukotai Main Road	Madurai	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
801 Narimedu (PT Rajan Road) Madurai Regular 100 SC CFS 20 20 400 0 Draw of Lots 0	799	Kalavasal Signal to ISKON Madurai on NH85	Madurai	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Regular 150 Open CC 1 CC 20 20 400 25 10 Bidding 30	800	Kalavasal to Simmakal	Madurai	Regular	150	OBC	CC	20	20	400	25	10	Bidding	30	4
803 Sammattipuram to Keelamathur Madurai Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0	803	Narimedu (P T Rajan Road)	Madurai	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Regular 150	802	South Veli Street	Madurai	Regular	150	Open CC 1		20	20	400	25	10	Bidding	30	5
805 Workshop Road, Madurai Regular 150 Open DC 19 13 247 25 60 Draw of Lots 15 806 Collector Office To Melapalyam Tirunelveli Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15 807 DEO Office to Vannarpet, Tirunelveli (LHS) Tirunelveli Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0 808 Maharaja Nagar Tirunelveli Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0 809 Nellai Nagaram To Thachanallur Tirunelveli Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15 810 New Busstand to NH Junction (Tirvandram Road) Tirunelveli Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15 811 Samathanapuram Junction to Court Tirunelveli Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15 811 Samathanapuram Junction to Court Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 812 Thachanallur Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 813 Thiamirabarani River Bridge To Thachanallur (North Bypass Rd.) Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 814 Tirunelveli Town Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 815 Vannarpet to Samadhanapuram Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 815 Vannarpet to Samadhanapuram Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 816 Vannarpet to Samadhanapuram Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30 816 Vannarpet to Samadhanapuram Tirunelveli Regular 150 Open CC 20 20 400 25 10 Bidding 30 817 Boothapandy Santalanapuram Regular 150 Open CC 20 20 400 25 45 Draw of Lots 15 818 Chettikulam In To Hindu College Asaripallam Kanyakumari Regular 100 Open DC 20			Madurai	Regular	150	SC	CFS		20	400	0	0	Draw of Lots	0	3
Soc Collector Office To Melapalyam	804	Theppakulam to Famous Jigarthanda Shop on NH85	Madurai	Regular	150	OBC			20		25	60	Draw of Lots	15	4
807 DEO Office to Vannarpet, Tirunelveli (LHS)	805	Workshop Road, Madurai	Madurai	Regular	150	Open				247	25	60	Draw of Lots	15	5
Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0				Regular								60	Draw of Lots		5
Nellai Nagaram To Thachanallur	80	DEO Office to Vannarpet, Tirunelveli (LHS)	Tirunelveli	Regular	150					400	0	0	Draw of Lots	0	3
Stock New Busstand to NH Junction (Tirvandram Road) Tirunelyeli Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15			Tirunelveli	Regular	150	SC	CFS			400		0	Draw of Lots	0	3
Samathanapuram Junction to Court Tirunelveli Regular 150 OBC CC 20 20 400 25 10 Bidding 30															5
S12 Thachanallur Tirunelveli Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0					 									_	5
813 Thiamirabarani River Bridge To Thachanallur (North Bypass Rd.) Tirunelveli Regular 150 Open CC 2 CC 20 20 400 25 10 Bidding 30 814 Tirunelveli Town Tirunelveli Regular 150 OBC CC 1 CC 20 20 400 25 10 Bidding 30 815 Vannarpet to Samadhanapuram Tirunelveli Regular 150 SC CC 1 CFS 20 20 400 0 0 Draw of Lots 0 816 Vannarpeta i to Thamirabarani river bridge (North Byepass) Tirunelveli Regular 150 Open CC 20 20 400 25 10 Bidding 30 817 Boothapandy Kanyakumari Regular 150 Open CC 20 20 400 25 10 Bidding 30 818 Chettikulam Jn To Hindu College Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 819 K.P Road Jn To Govt. Medical College (Asaripallam) Kanyakumari Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 820 Kolachal Kanyakumari Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 150 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 OBC DC 20 20 20 20 20 20 20 2					-					-	-				4
814 Tirunelveli Town															3
815 Vannarpet to Samadhanapuram	_										1				5
816 Vannarpetai to Thamirabarani river bridge (North Byepass) Tirunelveli Regular 150 Open CC 20 20 400 25 10 Bidding 30 817 Boothapandy Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 818 Chettikulam Jn To Hindu College Kanyakumari Regular 150 Open DC 20 20 400 25 45 Draw of Lots 15 819 K.P Road Jn To Govt. Medical College (Asaripallam) Kanyakumari Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 820 Kolachal Kotlar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 100 Open CC 30 30 900 0 0 Diading 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots	_										-				4
817 Boothapandy Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 818 Chettikulam Jn To Hindu College Kanyakumari Regular 150 Open DC 20 20 400 25 45 Draw of Lots 15 819 K.P Road Jn To Govt. Medical College (Asaripallam) Kanyakumari Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 820 Kolachal Kanyakumari Regular 100 SC CFS 30 30 900 0 Draw of Lots 15 821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai															3
818 Chettikulam Jn To Hindu College Kanyakumari Regular 150 Open DC 20 20 450 Draw of Lots 15 819 K.P Road Jn To Govt. Medical College (Asaripallam) Kanyakumari Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 820 Kolachal Kanyakumari Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 Draw of Lots 0	_														5
819 K.P Road Jn To Govt. Medical College (Asaripallam) Kanyakumari Regular 100 Open DC 20 20 45 Draw of Lots 15 820 Kolachal Kanyakumari Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 Draw of Lots 0															4
820 Kolachal Kanyakumari Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 Draw of Lots 0															5
821 Kottar To Suchindram On NH 66 (Old NH 47) Kanyakumari Regular 150 Open CC 35 45 1575 25 10 Bidding 30 822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 Draw of Lots 0	_					-									5
822 Suchindram Bye Pass Road Kanyakumari Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15 823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0	_											_			3 5
823 Thengapattinam to Pudukkadai Kanyakumari Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0	_	, ,	 '												4
			_												3
027 Tournarpater burigatow, madural to Dillulgui Nu, 1911 44 Priduulal Negulai 130 30 173 43 43 2023 0 0 0 0 0 0 0 0 0			_					_				_		·	3
825 Koodakovil Madurai Regular 100 OBC DC 30 30 900 25 45 Draw of Lots 15	_										.				4
826 Koodal Nagar to Pasingapuram Madurai Regular 150 Open CC 30 30 900 25 10 Bidding 30															5

	Name of leasting	ppoint Retail Of	Tilet dealer	J III tile C	late or ra	IIII Nada	us per i	Oliowill	g actail.	J.		ı	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	I	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
827	T.Kokkulam (Tirumangalam)	Madurai	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Umachikulam to Othakadai	Madurai	Regular	100	Open CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
	Usilampatti town	Madurai	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Othakadai to kadachenenthal	Madurai	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Othakadai to tirumogur	Madurai	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Othakadai to Tiruvadavur	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
833	Umachikulam To Parali on Natham Road	Madurai	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Vadipatti Town	Madurai	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Paramakudi Town between Bus Stand and Thenshirdi Saibaba Temple	Ramanathapuram	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
836	Ramanathapuram Town	Ramanathapuram	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
837	Karaikudi New Bus Stand To Railway Station Road	Sivaganga	Regular	100	OBC	DC	18	20	360	25	45	Draw of Lots	15	4
	Karaikudi Town	Sivaganga	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Karaikudi Town between Senjai and Devakottai Road Railway Station	Sivaganga	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Karaikudi Town on Sekkalai Road	Sivaganga	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	Mudiarasan Salai on Karaikudi Town	Sivaganga	Regular	150	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
	Natchiapuram to Managiri Road	Sivaganga	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Tirupathur Town	Sivaganga	Regular	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	Sivaganga Town on Tiruppattur Road	Sivaganga	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Cumbum Mettu Road	Theni	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Karunapuram to Manthipara (Tamil Nadu State side)	Theni	Regular	150	SC	CFS	20	20	400	0	0 45	Draw of Lots	0 15	3 4
	NRT Nagar to Eswar nagar Theni(MDR 712)	Theni	Regular	100	OBC	DC	30	30	900 400	25 0		Draw of Lots		3
	Periyakulam Town Uthamapalayam to Surulipatti	Theni	Regular Regular	100 100	SC OBC	CFS DC	20 30	20 30	900	25	0 45	Draw of Lots Draw of Lots	0 15	4
	Ayikudi on SH 39 A	Tirunelveli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots Draw of Lots	15	5
	Devarkulam to Kayathar Road (With in 1 Km from Devarkulam)	Tirunelveli	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
852	Edaikal to Ambasamudram	Tirunelveli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Elathur-Sengottah Road	Tirunelveli	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Kadayanallur (Within town limits)	Tirunelveli	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kallididaikuruchi	Tirunelveli	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Krishnapuram	Tirunelveli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Nangunery	Tirunelveli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Panpoli	Tirunelveli	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

	Name of location			1	1		<u> p</u>		9	i i				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
859	Pettai	Tirunelveli	Regular	100	OBC CC 1	DC	30	30	900	25	45	Draw of Lots	15	4
860	Sankanthiradu (Cheranmadevi)	Tirunelveli	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
861	Sankarankovil temple to Sankarankovil Court	Tirunelveli	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
	Sankarankovil to Puliyangudi Road (With in town Limits)	Tirunelveli	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Sencottah town	Tirunelveli	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
864		Tirunelveli	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Tenkasi to Tirunelveli Road(With in town Limits)	Tirunelveli	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Arumuganeri Town	Tuticorin	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Chettiyapathu	Tuticorin	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
868		Tuticorin	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kovilpatti- Mandithoppu Road*	Tuticorin	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Kovilpatti To Pandavarmangalam*	Tuticorin	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Mgr Park To Muthu Nagar Beach*	Tuticorin	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Mudivaithanathal	Tuticorin	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Muthammal Colony to Great Cotton Road	Tuticorin	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Nallur	Tuticorin	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Nazreth	Tuticorin	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
	Polpettai*	Tuticorin	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
877	Pudukottai	Tuticorin	Regular	150	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
878	Sakthi Vinayagar School To NH 7a & NH 45 B Junction	Tuticorin	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Srivaikundam	Tuticorin	Regular	100	OBC	DC	30 30	30	900 900	25 25	45	Draw of Lots	15 15	4 5
880	Tharavaikulam Tuticorin Anna Nagar Main Road To Briyant Nagar Main Road *	Tuticorin Tuticorin	Regular	100 150	Open Open	DC DC	20	30 20	400	25	45 45	Draw of Lots Draw of Lots	15	5
881	Tuticorin Anna Nagar Main Road To Briyant Nagar Main Road * Tuticorin Town - Fourth Gate To Meelavittan *	Tuticorin	Regular Regular	150	Open	DC	20	20	400	25	45	Draw of Lots Draw of Lots	15	5
883	Tuticorin Town - Fourth Gate To Meelavittan Tuticorin Town Jayaraj Road To Anna Nagar Main Road *	Tuticorin	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
884	Tuticorin Town Jayaraj Road To Affila Nagar Main Road * Tuticorin Town(1)*	Tuticorin	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
885	Tuticorin Town(1) Tuticorin Town-Vvd Signal To Doovipuram*	Tuticorin	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
886	Tuticorin Victoria Extension Road *	Tuticorin	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
887	Vagaikulam on NH 7 A (LHS from Tuticorin)	Tuticorin	Regular	100	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	Vilathikulam	Tuticorin	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Virapandianpatnam	Tuticorin	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kariapatti town to Tiruchulli Road within 1 kms	Virudhunagar	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

Page		Now of leasting)	The dealer	J III tile C	late or ra	IIII Nada	as per i	Oliowill	g actail.	J.		ı	1	
Regular/Rural SCSC CC CCT CLYST CLYS	SI. No	Name of location	Revenue District	Type of RO	monthly Sales	Category			a of the si	•	arranged			Minimum	1 '
Section Commonwealth Commonwea	1	2	3	4	5	6				8	9a	9b	10	11	12
Sept				(Regular/Rur	al)	1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN		Frontage	Depth	Area	working capital requireme nt for operation of RO Rs. in	fund required for developme nt of infrastruct ure at RO	Lots/Bidding)	Rs. in Lakhs	1 1
Say	891	Rajapalayam Town on TP Mills road not on NH	Virudhunagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
Hall	892	Sattur Town - Main Road	Virudhunagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Sept Truchulli Town	893	,	Virudhunagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
996 Virudhunagar Karumathi Madam Bus stop to District stadium Virudhunagar Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 3	894	Srivilliputhur Town on Mangapuram Street	Virudhunagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	895	Tiruchulli Town	Virudhunagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
Sepail Ramyakumari To Kavalkinaru On NH 44 Kanyakumari Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5	896	Virudhunagar Karumathi Madam Bus stop to District stadium	Virudhunagar	Regular	100	SC			30	900	0	0	Draw of Lots	0	3
Regular 150		, ,	Virudhunagar	Regular		OBC							Draw of Lots		_
900 Nagerkoil To Kaliakkavilai Old NH 47 (New NH 66) RHS	898	Kanyakumari To Kavalkinaru On NH 44	Kanyakumari	Regular	150	Open				2025	25	10	Bidding		
901 Nagerkoil To Kanyakumari Old NH 47 (New NH 66) LHS Kanyakumari Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 5 5 5 5 5 5 5 5	899	Nagerkoil To Kaliakkavilai On Old NH 47 (New NH 66) LHS	Kanyakumari	Regular	150	Open				2025	25	10	Bidding	30	5
902 Nagerkoil To Kanyakumari Old NH 47 (New NH 66) RHS Kanyakumari Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 903 Nagerkoil To Kavalkinaru Ol Oh NH 47 B (New NH 944) LHS Kanyakumari Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 904 Nagerkoil To Kavalkinaru Ol Oh NH 47 B (New NH 944) RHS Kanyakumari Regular 150 SC CFS 45 45 2025 25 10 Bidding 30 5 905 Parvathipuram To Thottiyodu On NH 47 Kanyakumari Regular 150 OBC DC 45 45 2025 25 75 Draw of Lots 0 3 905 Parvathipuram To Thottiyodu On NH 47 Kanyakumari Regular 150 OBC DC 45 45 2025 25 75 Draw of Lots 15 4 906 Thovalai To Vadasery In Old NH 47 B (New NH 944) Kanyakumari Regular 150 Open CC 30 30 900 25 10 Bidding 30 5 907 Thucklay To Marthandam (RHS) Old NH 47 (New NH 66) Kanyakumari Regular 150 Open CC 30 30 900 25 10 Bidding 30 5 908 Valvachagostam on NH 66 Kanyakumari Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5 909 Kallikudi on NH 7 Madurai Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5 910 Kappalur To Melakottai (NH7) LHS Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 5 911 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 5 912 Kappalur Toll Gate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottamapatti On NH 45 B Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 914 Madurai To Trichy Road, Thumbai Patti (LHS) Old No. NH7 Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripatur Road Madurai Regular 150 Open CC 45 45 2025 25 10 Bid			Kanyakumari	Regular		SC									
903 Nagerkoil To Kavalkinaru On Old NH 47 B (New NH 944) LHS Kanyakumari Regular			 '	_											
904 Nagerkoil To Kavalkinaru Old NH 47 B (New NH 944) RHS Kanyakumari Regular 150 SC CFS 45 45 2025 0 0 Draw of Lots 0 3 905 Parvathipuram To Thottiyodu On NH 47 Kanyakumari Regular 150 OBC DC 45 45 2025 25 75 Draw of Lots 15 4 906 Thovalai To Vadasery Jn Old NH 47 B (New NH 944) Kanyakumari Regular 150 OBC DC 45 45 2025 0 0 Draw of Lots 0 3 907 Thucklay To Marthandam (RHS) Old NH 47 (New NH 66) Kanyakumari Regular 150 Open CC 30 30 900 25 10 Bidding 30 5 908 Valvachagostam on NH 66 Kanyakumari Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5 909 Kallikudi on NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 910 Kappalur To Melakottai (NH7) LHS Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 911 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular 150 Open DC 20 20 400 25 75 Draw of Lots 15 4 912 Kappalur To Indigate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottampatti On NH 45 B Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open CC 45 45 2025 25 75 Draw of Lots			Kanyakumari	Regular		Open									
Parvathipuram To Thottiyodu On NH 47 Kanyakumari Regular 150 OBC DC 45 45 2025 25 75 Draw of Lots 15 4 906 Thovalai To Vadasery In Old NH 47 B (New NH 944) Kanyakumari Regular 150 SC CFS 45 45 2025 0 0 Draw of Lots 0 3 30 907 Thucklay To Marthandam (RHS) Old NH 47 (New NH 66) Kanyakumari Regular 150 Open DC CC 30 30 900 25 10 Bidding 30 5 5 5 5 5 5 5 5 5			 '	_		<u> </u>									
906 Thovalai To Vadasery In Old NH 47 B (New NH 944) Kanyakumari Regular 150 SC CFS 45 45 2025 0 0 Draw of Lots 0 3 907 Thucklay To Marthandam (RHS) Old NH 47 (New NH 66) Kanyakumari Regular 150 Open CC 30 30 900 25 10 Bidding 30 5 908 Valvachagostam on NH 66 Kanyakumari Regular 150 Open DC 35 45 1575 25 75 Draw of Lots 15 5 909 Kallikudi on NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 910 Kappalur To Melakottai (NH7) LHS Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 911 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular 150 Open DC 20 20 400 25 75 Draw of Lots 15 4 912 Kappalur To IGate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottampatti On NH 45 B Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakul			 '	_										_	
907 Thucklay To Marthandam (RHS) Old NH 47 (New NH 66) Kanyakumari Regular So Open CC 30 30 900 25 10 Bidding 30 5 908 Valvachagostam on NH 66 Kanyakumari Regular So Open DC 35 45 1575 25 75 Draw of Lots 15 5 909 Kallikudi on NH 7 Madurai Regular So Open DC 45 45 2025 25 75 Draw of Lots 15 5 916 Kappalur To Melakottai (NH7) LHS Madurai Regular So Open DC 45 45 2025 25 75 Draw of Lots 15 5 917 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular So OBC Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 918 Kottampatti On NH 45 B Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 919 Kappalur To Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Kappalur To Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Kappalur To Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Kappalur To Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Kappalur To Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Kappalur To Triphy Road, Thumbai Patti (LHS) Madurai Regular So OPEN CC 45 45 2025 25 10 Draw of Lots 0 3 910 Puthukulam pirivu to Achampattu pirivu Madurai Regular So OPEN CC 45 45 2025 25 10 Draw of Lots 0 3 910 Puthukulam pirivu to Achampattu pirivu Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 4 910 Thanichiyam to T. Andipatti NH44 (LHS) Old No: NH7 Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 4 910 Thanichiyam to T. Andipatti NH44 (LHS) Old No: NH7 Madurai Regular So OPEN CC 45 45 2025 25 10 Bidding 30 5 910 Bidding 30 5 910 Flanankankulam to Viragnoor Junction Madurai Regular So OPEN CC 45 45 2025 25 5 910 Bidding 30 5 910 Flanankankulam to Viragnoor Junction Madurai Regular So OPEN CC 45 45 2025 25 75 Draw of Lots 15 5 910 Flanankankulam to Viragnoor Junction Madurai Regular So OPEN CC 45 45 2025 25 75 Draw of Lots 15 5 910 Flanankankulam to Viragnoor Junction Madurai Regular So OPEN CC 45 45 2025 25 75 Draw of Lots 15 5 910 Flanankankulam to NH44 (LHS) Old No:NH7 Madurai Regular So OPEN CC 45 45 2025 25 75 Draw of Lots 15 5 910 Flananka			 '	_	+									_	
908 Valvachagostam on NH 66			 '	_	1										
909 Kallikudi on NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 910 Kappalur To Melakottai (NH7) LHS Madurai Regular 150 Open CC 1 CC 45 45 2025 25 10 Bidding 30 5 911 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular 150 OBC DC 20 20 400 25 75 Draw of Lots 15 4 912 Kappalur Toll Gate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottampatti On NH 45 B Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 0 3 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 919 Thanichiyam to T. Andipatti NH44 (LHS) Old No:NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 5 921 Thanichiyam to T. Andipatti NH44 (LHS) Old No:NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 922 Th			 												
910 Kappalur To Melakottai (NH7) LHS Madurai Regular 150 Open CC 1 CC 45 45 2025 25 10 Bidding 30 5 911 Kappalur To Samyanallur (RHS) On NH7 Madurai Regular 150 OBC DC 20 20 400 25 75 Draw of Lots 15 4 912 Kappalur Toll Gate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottampatti On NH 45 B Madurai Regular 150 SC CFS 45 45 2025 0 O Draw of Lots 0 3 914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 SC CFS 35 45 1575 0 O Draw of Lots 0 3 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 0 3 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 919 Thanichiyam to T. Andipatti NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 35 45 1575 25 10 Bidding 30 5 930 Thepakulam to Viragnoor Junction Madurai Regular 150 Open DC 35 45 1575 25 10 Bidding 30 5 940 The T															
911 Kappalur To Samyanallur (RHS) On NH7															
912 Kappalur Toll Gate to Thoppur NH 7 (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 913 Kottampatti On NH 45 B Madurai Regular 150 SC CFS 45 45 2025 0 0 Draw of Lots 0 3 914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 SC CFS 35 45 1575 0 0 Draw of Lots 0 3 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open DC 45 45 2025 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) old No:NH7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open DC 25 45 1575 25 10 Bidding 30 5 921 Thanichiyam to Viragnoor Junction Madurai Regular 150 Open DC 25 25 25 25 25 25 25 2				_											
913 Kottampatti On NH 45 B		,,,													
914 Madurai To Trichy Road, Thumbai Patti (LHS) Madurai Regular 150 Open CC 45 45 2025 25 10 Bidding 30 5 915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 SC CFS 35 45 1575 0 0 Draw of Lots 0 3 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 OBC CC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) Old No:NH 7 Madurai Regular 150 Open DC 45															
915 Navinipatti, Melur To Tripathur Road Madurai Regular 150 SC CFS 35 45 1575 0 0 Draw of Lots 0 3 916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 OBC CC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No. NH7 Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) Old No:NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5															_
916 Puthukulam pirivu to Achampattu pirivu Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 OBC CC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No: NH7 Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) Old No:NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5															
917 T.Andipatti to Pandiarajapuram NH44 (LHS) Old No: NH7 Madurai Regular 150 OBC CC 45 45 2025 25 10 Bidding 30 4 918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No. NH7 Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) old No:NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5															
918 Thanakkankulam to Keelamathur on NH44 (LHS) Old No. NH7 Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5 919 Thanichiyam to T. Andipatti NH44 (LHS) old No:NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5				_											
919 Thanichiyam to T. Andipatti NH44 (LHS) old No:NH 7 Madurai Regular 150 Open DC 45 45 2025 25 75 Draw of Lots 15 5 920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5		, , , ,													
920 Theppakulam to Viragnoor Junction Madurai Regular 150 Open CC 35 45 1575 25 10 Bidding 30 5		` '		 											
				_											_
		Thirumangalam to Alampatti on NH 744 (old NH 208)	Madurai	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3

	Name of leasting	ppoint Retail Of	Tilet dealer	J III tile C	late of Ta	IIII Nada	us per i	Onowin	g details	, . 		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	ı	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		2 3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
922	Thoppur to Thanakkankulam on NH44 (LHS) Old No. NH7	Madurai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
923	Thumbaipatti To Kachanayakampatti on NH-45 B	Madurai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
924	Tirumangalam To Melakottai (NH7) LHS	Madurai	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Usilampatti to Andipatti Road	Madurai	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Usilampatti To Chellampatty On NH 85	Madurai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Vadipatti to Thanakkankulam pirivu (NH-7) LHS	Madurai	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	Viragnoor Junction to Transport Nagar - Ring Road - (RHS)	Madurai	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Chekkanurani To Nagamalai Pudukotai, Madurai - Theni Highway	Madurai	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Vikram Hospital to Kodikulam on LHS	Madurai	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Vikram Multispecialty Hospital to Agricultural College, NH 38	Madurai	Regular	150	Open CC 2	CC	45	45	2025	25	10	Bidding	30	5
	Viraganoor junction to Ladanenthal (Madurai/ Sivaganga)	Madurai	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	CK Mangalam To Tiruvadanai On NH230 (New NH85)	Ramanathapuram	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Devipattinam to R.S.Mangalam on NH230 (New NH85)	Ramanathapuram	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Edayarvalasai on NH-49(New NH87)	Ramanathapuram	Regular	150	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
	Mandapam on NH49 (New NH87)	Ramanathapuram	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Paramakudi Bypass on NH49 (New NH87)	Ramanathapuram	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Paramakudi To Parthibanur NH 49 (New NH87)	Ramanathapuram	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Perungulam To Uchipuli On NH-49(New NH87)	Ramanathapuram	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Pirapanvalasai	Ramanathapuram	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Ramanathapuram Bypass Road Rameshwaram Town	Ramanathapuram	Regular	150	Open	DC	35 35	45	1575	25	75	Draw of Lots	15 0	5
		Ramanathapuram	Regular	150	SC	CFS	35	35	1225	0	75	Draw of Lots	15	3
	Thangachimadam to Rameshwaram Bus Stand on NH-49 (New NH87) Tiruvadanai to Thondi on NH230 (New NH85)	Ramanathapuram Ramanathapuram	Regular Regular	150 150	Open Open	DC CC	35	35 35	1225 1225	25 25	10	Draw of Lots Bidding	30	5
	Uchipuli on NH-49(New NH87)	Ramanathapuram	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
	Valuthur Jnc to ECR Jn on NH-49(New NH87)	Ramanathapuram	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Verkode on NH-49(New NH87)	Ramanathapuram	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Avidapoikai on NH210 (New NH536)	Sivaganga	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Devakottai To Ramnagar On NH 210 (New NH536)	Sivaganga	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Kalayarkoil To Kollangudi On NH 230 (New NH85)	Sivaganga	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
951	Kalayarkoil Town on NH230 (New NH85)	Sivaganga	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Keeladi on NH 49 (New NH87) Tirupuvanam TK.	Sivaganga	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Ladanendhal on NH49 (New NH87)	Sivaganga	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	Name of leasting			T till C	lute of Tu		uo poi i	011011111	gactant	,. 		1	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		2 3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
954	Okkur on NH226 (New NH36)	Sivaganga	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
955	Sivagangai Bypass Road on NH226 (New NH36)	Sivaganga	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Thalakkavayal on NH210 (New NH536)	Sivaganga	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Tirupattur To Tirukostiyur On NH226 (New NH36)	Sivaganga	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Sankarapuram on NH 210 (New NH 536)(Between Managiri Jn & Devakottai Rasta Stn)	Sivaganga	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
959	Andipatti to Theni	Theni	Regular	150	Open CC 1	CC	45	45	2025	25	10	Bidding	30	5
	Andipatti town	Theni	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
961		Theni	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
962	Bodi Town	Theni	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
963		Theni	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Cumbum Town	Theni	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	Ghat Road Jn to Parasuramapuram on NH-45 E	Theni	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Kumili to Gudalur (Old no:NH 49, New No AH 85)	Theni	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Lakshmipuram to Annaji Vilaku (NH183 LHS towards Theni Town)	Theni	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Periyakulam to Ganguvarpatti	Theni	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Theni to Durairajapuram (NH85)	Theni	Regular	150	OBC	CC	45	45	2025	25	10	Bidding	30	4
	Theni to Periyakulam	Theni	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
971		Theni	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
	Usilampatti to Andipatti on AH 85	Theni	Regular	150	OBC PH	CC	45	45	2025	25	10	Bidding	30	4
	Uthamapalayam town	Theni	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
	Veerapandi to Chinnamanur	Theni	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Veerapandi to Kodangipatti (LHS) Achampatti to Enavilaku	Theni	Regular	150 150	OBC SC	CC CFS	45 35	45	2025 1575	25 0	10 0	Bidding	30	3
976		Tirunelveli Tirunelveli	Regular	150	Open	CFS	35 35	45 45	1575	25	10	Draw of Lots Bidding	30	5
	Kottankulam to Piranoor on NH-208 (LHS)	Tirunelveli	Regular	100	_	DC	35	45	1575	25	75	Draw of Lots	15	5
	Paraikulam To VM Chathiram	Tirunelveli	Regular Regular	150	Open SC	CFS	35	45	1575	0	0	Draw of Lots Draw of Lots	0	3
	Pulivarai on NH-208	Tirunelveli	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Punniavalanpuram to Panagudi (On NH 44)	Tirunelveli	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Reddivarpatti to Ponnakudi (On NH 44)	Tirunelveli	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Sankarnagar to Duraiyur on NH-7 (LHS)	Tirunelveli	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Sencottah to Puliyarai on NH-208	Tirunelveli	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	Name of leastion				tate or ra	IIII Nada	as per i	Onowing	g details	j.		I	1	1
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
985	Sivagiri to Ullar on NH-208 (LHS)	Tirunelveli	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
986	Tuticorin Road Jn to Aruhankulam (Pottal Junction - On NH 44)	Tirunelveli	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Valliyoor To Ponnakudi (On NH-44)	Tirunelveli	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Chettimallanpatti (Tuticorin To Tirunelveli On NH- 7 A -LHS)	Tuticorin	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Deivacheyalpuram To Pudukottai On NH-7-A- LHS	Tuticorin	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Ettayapuram To Melakarandai On NH-45b LHS	Tuticorin	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
991	Kayathar to Salaipudur on NH -7	Tuticorin	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Kurukkusalai To Ettayapuram On NH-45 B RHS	Tuticorin	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
993	Kurukkusalai To Keelaeral On NH-45 B LHS	Tuticorin	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	Murappanadu To Deivacheyalpuram On NH-7 A	Tuticorin	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	NH 45 B & NH 7 A Junction To Kurukkusalai On LHS	Tuticorin	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	NH 45 B & NH 7 A Junction To Kurukkusalai On RHS	Tuticorin	Regular	150	Open CC 1	DC	45	45	2025	25	75	Draw of Lots	15	5
	NH 45 B & NH 7 A Junction To Pudukottai On NH 7a	Tuticorin	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Velayuthapuram on NH-7	Tuticorin	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
	VOC Port To NH 45 B & NH 7 A Junction Aaviyur to Meenakshipuram on NH 45B LHS	Tuticorin	Regular	150 150	Open	CC DC	45 35	45 45	2025 1575	25 25	10 75	Bidding	30 15	5 5
1000	Devathanam to Seithur on NH - 208	Virudhunagar Virudhunagar	Regular	150	Open Open	DC	35	45	1575	25	75 75	Draw of Lots Draw of Lots	15	5
	Hotel Amil to Krishnapuram on NH208	Virudhunagar	Regular Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1002	K.Usilampatti to Virudhunagar on NH-7 LHS	Virudhunagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Krishnankovil to Alagapuri on LHS on NH 208	Virudhunagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1004	Rajapalayam Town to Hotel Amil on NH208	Virudhunagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Sattur to Periya Odaipatti on NH-7 LHS	Virudhunagar	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Srivilliputhur to Rajapalayam WITHIN 2 KMS On NH-208 LHS	Virudhunagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Virudhunagar to K.Usilampatti on NH-7 RHS	Virudhunagar	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Virudhunagar to Usilampatti on NH-7 RHS	Virudhunagar	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Aattoor To Thiruvattar	Kanyakumari	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1011	Aruvikarai on SH 90	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1012	Catherine booth Hospital to Putheri on SH 194	Kanyakumari	Regular	100	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
1013	Eraniel To Parsaery On SH 91	Kanyakumari	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1014	Kannanagam Jn To Nithiravilai Jn On SH 179 RHS	Kanyakumari	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Kannanagam Jn To Thirumannam Jn On SH 179	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1016	Killiyor To Karungal (On SH 179)	Kanyakumari	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	Name of location			<u> </u>			<u> p</u>		9	i i			1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
1017	Konam To Rajakkamangalam (RHS) On SH 46	Kanyakumari	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1018	Marthandam Jn To Attoor Jn On SH 90	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1019	Mekhyamandapam To Pulimode Jn On SH 180	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	MelakriSHnanputhoor To Puthoor On SH 179	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1021	Monday Market To Thicknamcode RHS SH 91	Kanyakumari	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1022	Nallore on SH 90	Kanyakumari	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1023	Neyyor To Azhigiyamandapam Jn LHS On SH 180	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	NEYYOR TO AZHIGIYAMANDAPAM JN LHS ON SH 180	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1025	Neyyor To Azhigiyamandapam Jn RHS On SH 180	Kanyakumari	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Nithravilai Jn To Kannanagam Jn On SH 179 RHS	Kanyakumari	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1027	Nulluvilai On SH 91	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Palapallam To Karungal RHS SH 179	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Pechiparai To Kulasekaram On SH 90 (RHS)	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Puthalam To Nainaputhoor On SH 179	Kanyakumari	Regular	100	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1031	Putheri To Erachakulam On SH 194	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1032	Thadikarkonam To Chellanthurithy On SH 194	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1033	Thiruvattar To Kulasekaram On SH 90 (LHS)	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1034	Thiruvattar To Kulasekaram RHS On SH 90	Kanyakumari	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1035	Thittuvilai To Thadikarkonam SH 194	Kanyakumari	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1036	Thuvarangadu to Arasankuli on SH 194	Kanyakumari	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1037	Thuvarankadu To Chenbagaramanputhoor On SH 45	Kanyakumari	Regular	100	Open	CC	30	30	900	25	10	Bidding	30	5
1038	Avaniapuram to Airport junction on SH	Madurai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1039	Chinthamani to Virahanoor SH195	Madurai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Ichampatti To Sindhupatti(SH73 A)	Madurai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1041	lyer Bungalow to Omachikulam on SH-72	Madurai	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1042	Kallikudi to Kariyapatti	Madurai	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Periyapatti on SH-72	Madurai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1044	Pudur To Kadachanenthal	Madurai	Regular	100	Open	DC	30 30	30	900	25	60	Draw of Lots	15 15	5
1045	Melur to Trichy Road (SH-34)	Madurai	Regular	100	OBC	DC CFS		30	900	25	60 0	Draw of Lots		3
1046	Pudur to Moondru mavadi on RHS SH 72 A	Madurai	Regular	100	SC		30	30	900	0		Draw of Lots	0	
1047	Erwadi to Keelakarai (On ECR SH49)	Ramanathapuram	Regular	100	Open	DC	30 30	30 30	900	25 25	60 60	Draw of Lots	15	5
1048	Kamuthi on SH47	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5

	IOCL proposes to ap	ponit Retail Ot	Tilet dealer	1	late or ra	IIII Nada	as per i	Onowing	g actain). 		ı	1	1
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1049	Melaparthibanur Not on NH	Ramanathapuram	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1050	Melaselvanur on ECR (SH49)	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1051	Mudukulathur Bus Stand to Vennirvoikkal Bus Stop on SH29	Ramanathapuram	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1052	Nainar Koil on SH 34	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1053	Pattinamkattan to Sikkal on ECR (SH49)	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1054	Ramanathapuram Town - Aranmanai Flower Market to Edayar Valasai on SH 34	Ramanathapuram	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1055	Sayalkudi to Kadaladi vilakku on ECR (SH49)	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1056	Thondi to Nambuthalai on ECR (SH49)	Ramanathapuram	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1057	Vembar to Sayalkudi on ECR (SH49)	Ramanathapuram	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1058	Alagappa Chettiar College to Kandanur On SH29	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1059	7 0	Sivaganga	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Kandanur To Puthuvayal On SH 29	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kottaiyur To Sri Ramnagar(Karaikudi) On SH 29	Sivaganga	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
	Koviloor to Managiri on SH-29	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Managiri On SH 35	Sivaganga	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Nerkuppai on SH201	Sivaganga	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
		Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Pottapalayam on SH-195	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1067	Singampunari on SH-35	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Sivagangai Court vasal to Kamaraj Nagar on SH-34	Sivaganga	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Somanathamangalam on SH29	Sivaganga	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Thalakavur to Marungipatti on SH-29	Sivaganga	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1071	Thirupattur On Singampuneri Road Within 3 Kms (SH 35)	Sivaganga	Regular	100	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
1072		Sivaganga	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1073	Bodi to Ranganathapuram (SH100)	Theni	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
1074	Uthamapalayam to Kombai on SH 100	Theni	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1075	Agarakattu to Ananthapuram Railway gate on SH-39A (LHS) Ambasamudram-Vikramasingapuram (On SH 178)	Tirunelveli Tirunelveli	Regular	100 100	Open OBC	DC DC	30 30	30 30	900 900	25	60 60	Draw of Lots Draw of Lots	15 15	5 4
	Ambasamudram-vikramasingapuram (Un SH 178) Chinthamani - Sankarankovil Road Within 1 Kms from Chinthamani On SH 76)	Tirunelveli	Regular Regular	100	SC	CFS	30	30	900	25 0	0	Draw of Lots Draw of Lots	0	3
1078	Chinthamani - SV Nagar (On SH-76)	Tirunelveli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Name of leasting	pponit retail o		J III tile C	late or ra	IIII Nada	us per i	Onowin	g actail.	j.		1	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	I	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1079	Kalingapatti to Paraippatti (On SH-44)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1080	Kavalkinaru (Not on NH)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1081	Kuthukalvalasai busstop to Ilanji	Tirunelveli	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1082	kuvalaikanni to Karivalamvandanallur(on SH-41)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1083	Mannarpuram (On SH 89 & 93)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1084	Marandhai to Alangulam	Tirunelveli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1085	Melaneelithanallur(on SH-41)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1086	Padmanerry	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1087	Palayapettai to Abhishekapatti on SH-39	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1088	Panagudi (Not on NH)	Tirunelveli	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pappakudi - Kaligankulam	Tirunelveli	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
	Parappadi	Tirunelveli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Paruvakkudi to Kodanachiyapuram on SH-44	Tirunelveli	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Paruvakkudi To Palvannanathapuram On SH-44	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1093	Ramayanpatti To Rastha (On SH-41)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Sambarvarvadakkarai- Rettaikulam on SH-39A	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Solaiseri to Velayuthapuram on SH-41 (LHS)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Suthamalli	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1097	Tenkasi To Kudiyuruppu On SH-40(within 2 Kms)	Tirunelveli	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Tirunelveli To Mukkudal (On SH41A)	Tirunelveli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tisayanvilai Bye Pass	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15 15	5
1100	Vadakku Veeravanallur Vannarpet To New Bus Stand (South Bypass Rd.)	Tirunelveli Tirunelveli	Regular Regular	100 100	Open Open	DC DC	30 20	30 20	900 400	25 25	60 60	Draw of Lots Draw of Lots	15	5
1101	Vannikonethal	Tirunelveli	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	4
1102	Vannikonethal to Mesiyapuram on SH-41(RHS)	Tirunelveli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Angamangalam To Algappapuram On SH-40	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	AVM Hospital To BSNL Quarters (On Thiruchendur Road)*	Tuticorin	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	Chithavanayakanpatti On SH 44 (Vilthikulam Etteyapuram Road)	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kovilpatti Town*	Tuticorin	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
1108	Kulasekarapattinam To Manappadu On SH	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Maniyachi On SH 75	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mappilaiurani To ECR Road Junction*	Tuticorin	Regular	100	Open	DC	20	20	400	25	60	Draw of Lots	15	5

	OCL proposes to a	pponit Retail O	The dealer	J 111 tile C	late or ra	IIII Nada	us per i	Oliowill	gactan	j.		ı	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1111	Mukkanni on SH	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1112	Tiruchendur To Kulasekarapattinam	Tuticorin	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1113	Tiruchendur To Sonakanvilai	Tuticorin	Regular	100	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
1114	Vanaramutti To Kalugumalai On SH-76	Tuticorin	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1115	Vanaramutti To Nalattinpudur On SH-76	Tuticorin	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1116	Vilathikulam To Surangudi	Tuticorin	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1117	Allampatti Mukku Road to Noble Matriculation Higher Sec School On SH 42	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1118	Aruppukottai town to Periyapuliampatti within 2 kms on SH 42 LHS	Virudhunagar	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1119	Aruppukottai Town*	Virudhunagar	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Kallurani To Savasapuram within 2 km on SH 47	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kariyapatti To Narikudi Road (Mudukankulam) On SH 921	Virudhunagar	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kilathirutangal to Thiruntangal on SH 42	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Madathupatti to Vanamurthylingapuram on SH 187	Virudhunagar	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Malli To Ramakrishnapuram RHS	Virudhunagar	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Mandapasalai on SH 38	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Narikudi Town to Parthibanur Road within 2 kms SH-42	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1127	Rajapalayam New Bus Stand to Nallamanaickenpatti within 2 kms on SH 41	Virudhunagar	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1128	Ramasamipuram to Vellai Kottai ON SH 75	Virudhunagar	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1129	Sengunrapuram to Maravapatty on SH-182 RHS	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1130	Srivilliputhur - Sivakasi Road on SH 42 (LHS) Within srivilliputhur town limits	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1131	Virudhunagar bazaar Police station towards Sivaksi within 2kms on SH 42 LHS	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1132	Virudhunagar bazaar to Madurai Road(Kacheri Road)	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Virudhunagar Karumathi madam Bus stop to Bazaar police station on SH 42	Virudhunagar	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1134	Virudhunagar town b/w Head Post office and Allampatti Mukku Road	Virudhunagar	Regular	100	Open CC 1	CC	30	30	900	25	10	Bidding	30	5
_	Virudhunagar town b/w Head Post office and Allampatti Mukku road	Virudhunagar	Regular	100	Open CC 1	CC	30	30	900	25	10	Bidding	30	5
	Alagapuram	Salem	Regular	150	OBC	DC	15	15	225	25	60	Draw of Lots	15	4
	Ayodhyapattanam railway crossing to Mettupattithathanur	Salem	Regular	108	Open	CC	20	20	400	25	10	Bidding	30	5

	Name of leasting			J III tile C	lute of Tu	iiii itaaa	uo poi i	011011111	gactant	,. 		1	1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1138	Ayodhyapattanam town within 3km from bus-stand	Salem	Regular	108	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1139	Five Road To Collector Office Jn (Via New Bus Stand)	Salem	Regular	150	Open	CC	15	15	225	25	10	Bidding	30	5
1140	Five Road To NH-44 Jn (Via Omalur Road)	Salem	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1141	Gorimedu (on Yercaud Road)	Salem	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
1142	Hasthampatti Jn. To Ammapettai	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
1143	Hasthampatti Jn. To Forest Check post towards Yercaud LHS	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
1144	Hasthampatti Jn. To Forest Check post towards Yercaud RHS	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
	Hathampatti Jn To Kannankurichi LHS	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
	Kannankurichi To Hasthampatti (LHS)	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
1147	Salem Ammapettai Main Road (Thiru V K Road)	Salem	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	Salem City (within 1.5 KM from 5 Roads Jn. on Saradha College Road)	Salem	Regular	150	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Salem Jn Rly Station To AVR Circle	Salem	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Salem Jn Rly Station To Tiruvakundanur Jn	Salem	Regular	150	Open	DC	15	15	225	25	60	Draw of Lots	15	5
	Salem Old Bus Stand To Kondalampatti Byepass	Salem	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Salem Old Bus Stand To Seelanaickenpatti Byepass	Salem	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Salem Steel Plant Circle to Meyyanur on NH-44 (LHS)	Salem	Regular	160	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
	Salem Steel Plant Circle to Meyyanur on NH-44 (RHS)	Salem	Regular	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
	Salem-1 Corporation Limit	Salem	Regular	150	Open PH	CC	15	15	225	25	10	Bidding	30	5
	Salem-2 Corporation Limit	Salem	Regular	150	OBC	DC	15	15	225	25	60	Draw of Lots	15	4
	Seelanaickenpatti To Kondalampatti (LHS)	Salem	Regular	160	Open	CC	20	20	400	25	10	Bidding	30	5
	Thirugoundanur Byepass To Salem New Bus Stand LHS	Salem	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Thiruvagoundanoor - Kondalampatty (LHS)	Salem	Regular	160	Open	CC	20	20	400	25	10	Bidding	30	5
	Thiruvagoundanoor - Kondalampatty (RHS)	Salem	Regular	160	OBC	DC CC	20 20	20 20	400 400	25 25	60 10	Draw of Lots	15 30	5
1161 1162	Thiruvagoundanur Jn. to Salem Jn. Rly. Station	Salem Salem	Regular	150 106	Open Open	CC	20	20	400	25	10	Bidding Bidding	30	5
	Udayapatti Post Office to Ayodhyapattanam Railway Crossing Uthamasolapuram NH47 Jn Towards Salem Old Byepass Road Within 1km (Not	Salem	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	On NH7)		Regular											
	Wihin 5km From Salem Kondalampatti Circle On Sankari Main Road LHS	Salem	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1165	4 Roads to Mathikonepalayam (Within Dharmapuri Town Limits)	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Dharmapuri to Sogathur koot Road	Dharmapuri	Regular	100	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
	Dharmapuri Town (Within Town limits)	Dharmapuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1168	Harur town within 2km from bus-stand	Dharmapuri	Regular	108	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Name of location			1	1		<u> p</u>		9	i i		1	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	2 3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
1169	Nallampally	Dharmapuri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1170	Oddapatti	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
1171	Palacode Town & Periphery (Town limits and 2 KMS beyond Town limits)	Dharmapuri	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1172	Sowlur	Dharmapuri	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1173	SV Road in Dharmpauri town limit	Dharmapuri	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Between Sungagate To Collectorate	Karur	Regular	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Kaliyapanoor	Karur	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
_	Karur Town-1	Karur	Regular	130	Open	DC	15	15	225	25	45	Draw of Lots	15	5
1177	Karur Town-3	Karur	Regular	130	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
1178	Kulantha Goundanoor	Karur	Regular	110	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1179	Kulithalai Town	Karur	Regular	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Kumaramangalam	Karur	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1181	Pallapatti Town	Karur	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1182	Pasupathipalayam	Karur	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1183	Velayudhampalayam (Not on NH)	Karur	Regular	130	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
	Hosur Town On Bagalur Road	Krishnagiri	Regular	130	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
1185	Hosur Town On Denkanikotai Road	Krishnagiri	Regular	120	Open	DC	15	15	225	25	45	Draw of Lots	15	5
	Hosur Town On Rayakottah Road	Krishnagiri	Regular	100	Open	DC	15	15	225	25	45	Draw of Lots	15	5
1187	Hosur Town On Tvs Road	Krishnagiri	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Krishnagiri Town Within 1 Km From Bus Stand	Krishnagiri	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Pochampalli within 4 KMs from municipal limits on Kaveripattinam Road	Krishnagiri	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1190	Rayakottah Town Within 1km From Railway Station	Krishnagiri	Regular	100	SC	CFS	15	15	225	0	0	Draw of Lots	0	3
	Shoolagiri Town Within 1 Km From Bus Stand	Krishnagiri	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
_	Thally Town	Krishnagiri	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Uthangarai Town & Periphery (Town limits and 2 KMS beyond Town limits)	Krishnagiri	Regular	100	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
1194	Within 3 Kms From Krishnagiri On Rayakottai Road	Krishnagiri	Regular	120	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1195	Komarapalayam Town (Not on NH)	Namakkal	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1196	Mohanur Road In Namakkal Municipality Limits	Namakkal	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1197	Mohanur Town Limits	Namakkal	Regular	120	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Moripalayam	Namakkal	Regular	130	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1199	Namakkal Collectorate - SH 94	Namakkal	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Name of location		1	1	1	1			9	I			I	Т
SI. N		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
120	Namakkal -Vallipuram Road(Not On NH)	Namakkal	Regular	120	Open	DC	30	30	900	25	45	Draw of Lots	15	5
120	1 Namakkal(Within Municipality Limits)	Namakkal	Regular	120	Open	DC	15	15	225	25	45	Draw of Lots	15	5
120		Namakkal	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	B Pallipalayam	Namakkal	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	4 Pappinaickenpatti on NH 44 (Old NH-7)	Namakkal	Regular	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Paramathy Town	Namakkal	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	6 Puduchetram	Namakkal	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
120	7 - 7 - 7 - 7	Namakkal	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
120		Namakkal	Regular	100	OBC	DC	15	15	225	25	45	Draw of Lots	15	4
120		Namakkal	Regular	130	Open	DC	15	15	225	25	45	Draw of Lots	15	5
	D Thanneerpandalpalayam	Namakkal	Regular	110	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
121		Namakkal	Regular	150	Open	DC	15	15	225	25	45	Draw of Lots	15	5
	2 Tiruchengode Town On Namakkal Road SH	Namakkal	Regular	130	Open	DC	15	15	225	25	45	Draw of Lots	15	5
	3 Trichy Road In Namakkal Municipality Limits	Namakkal	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	4 Velur Town Old By Pass Road	Namakkal	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	5 Veppadai	Namakkal	Regular	130	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	6 Elampillai Town limits	Salem	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	7 From Jalakandapuram Jn within 1 km towards Poolampatti	Salem	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	B From Omalur Town Y Jn Till Road Joining To NH7 Jn Towards Dharmapuri	Salem	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
121		Salem	Regular	150	Open	DC	35	35	1225	25	45	Draw of Lots	15	5
	Narasingapuram to Pudupet not on NH (either side)	Salem	Regular	108	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
122		Salem	Regular	100	SC CC 1	CFS	15	15	225	0	0	Draw of Lots	0	3
122	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Salem Salem	Regular	108	Open CC 2	DC	30 20	30	900 400	25	45 45	Draw of Lots	15 15	5
122			Regular	108	OBC CC 1	DC DC	30	20 30		25		Draw of Lots		5
	4 within 1 km From Edapadi - Jalakandapuram - Poolampatti jn at Edapadi towards poolampatti		Regular	100	Open				900	25	45	Draw of Lots	15	
	5 Within 2km From Mgr Cross In Mettur Towards Mysore Road	Salem	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
122	6 Within 5 Kms From Mgr Cross On Metter Road (From Mettur Towards Bhavan)	Salem	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
122	7 Yercaud	Salem	Regular	150	Open	DC	15	15	225	25	45	Draw of Lots	15	5
122	8 Within 2kms From Upper Mettur Railway Station On Mecheri - Mettur Road	Salem	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5

	Name of leasting		The dealer	J III tile C	late or ra	IIII Nada	as per i	Onowin	g actant	J.			1	т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1229	Between Periyampatti and Karimangalam on NH 44 LHS towards Krishnagiri o	Dharmapuri	Regular	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1230	Donnehalli to Nallanahalli on NH44 -LHS towards salem	Dharmapuri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1231	Gundalampatti to Nallampatti on NH 44	Dharmapuri	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1232	Karimangalam to payyur on NH44-LHS towards Krishnagiri	Dharmapuri	Regular	152	Open	CC	35	45	1575	25	10	Bidding	30	5
1233	Kerugodahalli to Donnehalli on NH 44- LHS towards salem	Dharmapuri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1234	Mattlampatti to Periyampatti on NH 44 on LHS towrds Krishnagiri	Dharmapuri	Regular	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1235	Nallampally to thoppur on NH44 LHS towards salem	Dharmapuri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1236	Palayampudur to Nallampally on NH 44 LHS Towards Krishnagiri	Dharmapuri	Regular	152	Open	CC	35	45	1575	25	10	Bidding	30	5
1237	Periampatti to Karimangalam on NH44 LHS	Dharmapuri	Regular	152	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
	Sappanipatti on NH 44	Dharmapuri	Regular	100	Open	CC	35	35	1225	25	10	Bidding	30	5
	Thoppur to Nallampally	Dharmapuri	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	With in 2km From Thoppur On NH 44(LHS) Towards Krishnagiri	Dharmapuri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1241	K.Paramathi To Vairamadai On NH-67 LHS	Karur	Regular	110	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1242	Karur to Aravakurichi on NH - 7 (Either Side)	Karur	Regular	180	Open	CC	35	45	1575	25	10	Bidding	30	5
	Karur To Maynoor On NH 67	Karur	Regular	110	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1244	Karur To Pavithram On NH-67 (RHS)	Karur	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Karur Town-2	Karur	Regular	110	Open	CC	15	15	225	25	10	Bidding	30	5
	Kulithalai Town To Pettavaithalai Within 5km Old NH	Karur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
1247	Lalapet To Kuluthalai (LHS)	Karur	Regular	110	SC	CFS	35 35	45	1575	0	0 10	Draw of Lots	0	3 5
	Lalapet To Kuluthalai (RHS)	Karur	Regular	110	Open	CC	35	45	1575	25	10	Bidding	30 30	5
	Manalmedu (On NH 44) Karur To Madurai Road LHS Maynoor To Karur On NH 67 (LHS)	Karur Karur	Regular Regular	115 110	Open OBC	CC DC	35	45 45	1575 1575	25 25	75	Bidding Draw of Lots	15	4
1250	Noyyal To Velayudhpalayam	Karur	Regular	110	Open	DC	35	45	1575	25	75 75	Draw of Lots Draw of Lots	15	5
	Periyarnagar (Act Nagar) On Old NH,Kulithalai	Karur	Regular	155	Open	CC	35	45	1575	25	10	Bidding	30	5
1252	Thadakovil To Attayamparappu On NH-7 LHS	Karur	Regular	140	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
1254	Velayudampalayam to Karur On NH-7 (LHS)	Karur	Regular	140	OBC PH	CC	35	45	1575	25	10	Bidding	30	4
1255	Between Hosur To Kalsthipuram On NH 207	Krishnagiri	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Hosur To Bangalore On NH 44 RHS	Krishnagiri	Regular	190	Open	CC	35	45	1575	25	10	Bidding	30	5
1257	Kaveripatinam To Payyur LHS On NH44	Krishnagiri	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1258	Kaveripatinam To Mottur LHS On NH44	Krishnagiri	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Krishnagiri To Kuppam Road Junction(On NH46)	Krishnagiri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	Name of location		1		Tuto or ru	IIII IIIaaa	<u>uo po: .</u>	0017	gaotane	<u>, </u>				1
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged I applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1260	Mottur To Kaveripatinam LHS On NH44	Krishnagiri	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1261	NH - 66 - Sendharapalli To Jagadevi	Krishnagiri	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	NH 42 Between Chinnamattarapalli And Kalikoil	Krishnagiri	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	NH 42 On Kuppam Road Within 1 Km From Govt Polytechnic College	Krishnagiri	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	NH 44 - Kamandoddi To Addagurukky On LHS	Krishnagiri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	NH 44 Attibelle Toll To Hosur On LHS	Krishnagiri	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	NH 44- Chinnar To Kurubaraplli - LHS	Krishnagiri	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	NH 44- Kundarapalli To Krishnagiri - LHS	Krishnagiri	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	NH 44 Kundarapalli To Kurubarapalli On LHS NH 44 Kurubarapalli To Kundarapalli On LHS	Krishnagiri	Regular	150 150	OBC SC	CC CFS	35 35	45 45	1575 1575	25 0	10 0	Bidding	30 0	4
	' '	Krishnagiri	Regular	150		CC	35	45	1575	25	10	Draw of Lots	30	3 5
	NH 44- Kurubarapalli To Shoolagiri - LHS NH 44 Shoolagiri To Chinnar RHS	Krishnagiri Krishnagiri	Regular Regular	150	Open Open	DC	35	45	1575	25	75	Bidding Draw of Lots	15	5
	NH 44 Shoolagiri To Chinnar KHS	Krishnagiri	Regular	270	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	NH 46 Kandhikuppam To Oppathawadi On LHS	Krishnagiri	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	NH 46 Oppathawadi To Kandhikuppam On LHS	Krishnagiri	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Payyur To Kaveripatinam LHS On NH44	Krishnagiri	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Singarapettai On NH	Krishnagiri	Regular	152	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
1277	Sonarahalli on NH	Krishnagiri	Regular	152	Open	CC	35	45	1575	25	10	Bidding	30	5
1278	Uthangarai to Hanumantheertham	Krishnagiri	Regular	100	OBC	CC	35	45	1575	25	10	Bidding	30	4
1279	Uthangarai to Karapattu	Krishnagiri	Regular	100	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1280	Uthangarai to Singarapettai on NH 77	Krishnagiri	Regular	152	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1281	Andagalur Gate to Rasipuram X Road LHS on NH 44 (Old NH 7)	Namakkal	Regular	120	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1282	Bommikuttaimedu on NH-7	Namakkal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Budanchnadai On NH-7	Namakkal	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1284	Chellappampatty - Salem On NH-7 LHS	Namakkal	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1285		Namakkal	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1286	The state of the s	Namakkal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	NH44 Km Stone Number 217 LHS Towards Namakkal To NH 44 Km Stone Number 223	Namakkal	Regular	200	OBC CC 1	CC	35	45	1575	25	10	Bidding	30	4
1288	NH44 Km Stone Number 226 LHS Towards Namakkal To NH 44 Km Stone Number 240	Namakkal	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	IOCL proposes to ap	ponit Retail O	Tilet dealer	1	late or ra	IIII Nada	as per i	Onowing	g actain). 		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1289	NH44 Km Stone Number 234 LHS To NH44 Km Stone Number 226 Towards Salem	Namakkal	Regular	160	Open PH	CC	35	45	1575	25	10	Bidding	30	5
1290	NH44 Km Stone Number 249 LHS To NH44 Km Stone Number 245 Towards Salem	Namakkal	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1291	NH44 Km Stone Number 257 LHS To NH44 Km Stone Number 253 Towards Salem	Namakkal	Regular	180	OBC	CC	35	45	1575	25	10	Bidding	30	4
1292	NH-44 Namakkal To Paramathi LHS	Namakkal	Regular	160	Open	CC	35	45	1575	25	10	Bidding	30	5
1293	Padaiveedu To Namakkal - Erode District Border On NH 47 LHS From Salem	Namakkal	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1294	Padaiveedu To Namakkal - Erode District Border On NH 47 RHS From Salem	Namakkal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1295	Paramathi On NH-44 LHS From Namakkal To Karur	Namakkal	Regular	200	Open	CC	35	45	1575	25	10	Bidding	30	5
1296	Paramathi to Namakkal LHS on NH-7	Namakkal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1297	Perumal Kovilmedu To Rasipuram LHS NH 44 (Old NH 7)	Namakkal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1298	Rasipuram To Mallur LHS NH 44 (Old NH 7)	Namakkal	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1299	Between Dasanaickenpatti And Pannapatti On LHS On NH-7	Salem	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1300	Between Dasasamudram And Pannapatti On RHS On NH7	Salem	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1301	Chinnagoundapuram to Mettupatti toll gate on NH-79 (LHS)	Salem	Regular	160	Open	CC	35	45	1575	25	10	Bidding	30	5
	Chinnagoundapuram to Mettupatti toll gate on NH-79 (RHS)	Salem	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1303	From Ariyanoor Cross Road Within 2 Km Towards Coimbatore On NH47 On LHS From Salem To Coimbatore	Salem	Regular	150	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
1304	From Ariyanoor X Road Within 4km Towards Salem On NH47 On LHS From Salem To Coimbatore	Salem	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1305		Salem	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1306	Magundanchavadi to Vaigundam - LHS on NH47	Salem	Regular	100	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Mecheri To Thoppur Jn. (On NH-44)	Salem	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1308	Omalur Toll Gate To Devitipatti-RHS	Salem	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1309	Omalur Tollgate to Devitipatti on NH-44 LHS	Salem	Regular	100	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1310	Poosaripatti Jn. to Pannapatti Jn. on NH-44 (LHS)	Salem	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1311	Seelanaickenpatti - Udayapatti (LHS)	Salem	Regular	160	Open	CC	35	45	1575	25	10	Bidding	30	5
		Salem	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	Name of location	 		T	1	1111111111111	ше ре		9	1				
SI. No		Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1313	Seshanchavadi to Appamasamuthiram on NH (LHS)	Salem	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1314	Seshanchavadi to Appamasamuthiram on NH (RHS)	Salem	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1315		Salem	Regular	108	Open	CC	35	45	1575	25	10	Bidding	30	5
1316	Thulukkanur to Thalaivasal on NH (LHS)	Salem	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Thulukkanur to Thalaivasal on NH (RHS)	Salem	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Vaigundam to Avarangapalayam - LHS on NH47	Salem	Regular	270	OBC	CC	35	45	1575	25	10	Bidding	30	4
	Vaigundam To Magundanchavadi - LHS On NH47	Salem	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Vazhappadi Bye Pass on NH-79	Salem	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1321	Within 5 Km From Road Branching To Panamarathupatti On NH7 LHS From Salem To Namakkal	Salem	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1322	Within 6 Kms From Kottagoundanpatti Toll Gate Towards Salem LHS On NH7	Salem	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1323	Within 6 Kms From Kottagoundanpatti Toll Gate Towards Salem RHS On NH7	Salem	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1324	Attukarampatty on SH60	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1325	B.Agraharam on SH60	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1326	Baisuhalli On SHU 131	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1327	Between Semmandakuppam and Vellalapatti On SH60	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1328	Gobinathampatti X Road to Harur on SH-18 (either side)	Dharmapuri	Regular	108	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Harur to Theerthamalai on SH-6A (either side)	Dharmapuri	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Indur on SH 60	Dharmapuri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1331		Dharmapuri	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Jadayampatti to R. Gopinathan patti on SH60A	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1333		Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Kallattupatti To Samiapuram X Road	Dharmapuri	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	M.Vetrapatti on SH 60A	Dharmapuri	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Morappur to Jadayampatti on SH60A	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1337	ŭ i	Dharmapuri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Pappinaickenhalli on SH 17 Pennagaram-Mechari Road on chinnakadamadai(SH222), Both LHS & RHS	Dharmapuri Dharmapuri	Regular Regular	100 100	Open Open	DC DC	30 35	30 35	900 1225	25 25	60 60	Draw of Lots Draw of Lots	15 15	5
1340	Samiapuram X Road to Gobinathampatti X Road on SH-18 (either side)	Dharmapuri	Regular	108	OBC	DC	30	30	900	25	60	Draw of Lots	15	4

	• • • • • • • • • • • • • • • • • • • •	ppoint Retail O		· · · · · · · · · · · ·	tate or ra		шо ро	·····	g aotani	1		1		1
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1341	Solakottai to Settikarai on SH60A	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1342	Thadagam	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1343	Theerthamalai to Naripalli on SH-6A (either side)	Dharmapuri	Regular	108	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1344	Vannampatti	Dharmapuri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
	Vellichandai on SH17	Dharmapuri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Weavers colony to Hale Dharmapuri on SHU129	Dharmapuri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Anjur On SH 189	Karur	Regular	120	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Aravakuruchi To Kottaipatti On SH -193	Karur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Aravakuruchi To Uthur	Karur	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1350	Ayyarmalai On SH - 71	Karur	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1351	Gandhigramam To Puliyur	Karur	Regular	110	OBC	DC	35	45	1575	25	60	Draw of Lots	15	4
	Govindapalayam to Chinnadharapuram	Karur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1353	Irumboothipatti to Manaparai On SH -71	Karur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Karur To Punnamchatram LHS	Karur	Regular	130	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
	Kazhugur On SH-71	Karur	Regular	130	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mayilampatti To Kosur	Karur	Regular	130	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
	Punnamchatram To Karur LHS	Karur	Regular	130	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
	Thumbivadi To Soodamani On SH-21	Karur	Regular	130	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Uppdimangalam To Jagadabi	Karur	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Andhiwadi Junction To Poonapalli On SH 17b	Krishnagiri	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Andhiwadi Junction To Tvs Factory On SH 85	Krishnagiri	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
-	Andiyur on SH 18A	Krishnagiri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Between Kundarapalli And Kodipalli Denkanikottai On SH 17 A	Krishnagiri	Regular	100 100	Open SC	DC CFS	30 30	30 30	900 900	25 0	60 0	Draw of Lots Draw of Lots	15 0	5 3
	Haleseebam SH 17	Krishnagiri Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	5
-	Hosur Outer Ring Road		Regular	120	Open	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	5
1366	Hosur To Andhiwadi On SH17b (Thally Road)	Krishnagiri Krishnagiri	Regular Regular	108	Open	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	5
	Hosur To Udanapalli On SH 17	Krishnagiri	Regular	108	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Irumathur on SH60	Krishnagiri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
-	Kakkadasam On SH 17b	Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mallapadi To Sigaralapalli On SH 131	Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
		1	1.050.01	100	Open CC 1	DC	30							5

	None of leasting	The stant of		J III tile C	late of Ta	IIII Nada	us per i	Onowin	g actant	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	ı	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1373	Pochampalli on SH60	Krishnagiri	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1374	Poonapalli To Anekal On SH	Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	PULIYUR ON SH60	Krishnagiri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Rayakottah To Alapatty	Krishnagiri	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
	Rayakottah To Attibele On SH 85	Krishnagiri	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sivampatti on SH60	Krishnagiri	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1379	Udanapalli To Rayakottah On SH 17	Krishnagiri	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Mathur	Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1381	Within 1 Km On SH -17 B From SH 17 A - 17 B Junction	Krishnagiri	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Alanganatham	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Alanganatham to Thusur On SH -161	Namakkal	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Andagalur Gate To Pillanallur On SH -79	Namakkal	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Anniapuram	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Elachiplayama to Komaramangalam on SH-79	Namakkal	Regular	130	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Gandhipuram To Kalappanaickenpatti (LHS SH-95) Kakaveri To Seerapalli SH 79 LHS	Namakkal Namakkal	Regular	150 110	SC	CFS DC	35 30	45 30	1575 900	0 25	0 60	Draw of Lots	0 15	3 5
	Kalapanaickenpatti	Namakkal	Regular Regular	110	Open Open	DC	30	30	900	25	60	Draw of Lots Draw of Lots	15	5
	Karattupalayam On SH-86(Valarai Gate To Vellaparai)	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1391	Kosavampatti	Namakkal	Regular	130	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kuppandapalayam on SH-198	Namakkal	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kurukkapuram - Andagalur SH 79	Namakkal	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Kurukkapuram To Andagalur Gate SH-79	Namakkal	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1395	Kurumbalamahadevi	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mallasamudram West To Kalipatti On SH -86a	Namakkal	Regular	120	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1397	Mangalapuram On SH	Namakkal	Regular	120	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1398	Mavureddi To Vasanthapuram LHS SH86	Namakkal	Regular	110	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
1399	Mettala to Mallikarai on SH-79 (Within Namakkal District)	Namakkal	Regular	120	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
	Mohanur To Namakkal LHS	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Muthagapatty On SH-95	Namakkal	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Namagiripettai to Mettala on SH 79	Namakkal	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Namakkal Collectorate to Velugoundampatti on SH-94	Namakkal	Regular	120	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
1404	Namakkal Cross Road To Nallipalayam - SH 94 LHS	Namakkal	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Name of location		1	<u> </u>			шо ро		9 4.014	1		l	1	$\overline{}$
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	e (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
1405	Namakkal Tiruchengode Road Up to Collectorate	Namakkal	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
	Neikarapatti LHS On Tiruchengode - Salem Road SH 86a	Namakkal	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Neikkaranpatti	Namakkal	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pallipalayam to Erode Road within Namakkal District	Namakkal	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Pandamangalam On SH-198	Namakkal	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Pillanallur to Vaiyyappamalai on SH-79	Namakkal	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1411	Pothanur On SH 198	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1412	Pottireddipatti to Pavithram on SH-161	Namakkal	Regular	110	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1413	Rasipuram Bus Stand To Andalur Gate On SH-79	Namakkal	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1414	Rasipuram New Bypass Road	Namakkal	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1415	Redipatti On SH 161 On Namakkal To Thuraiyur Road	Namakkal	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sendamangalam Town Limits	Namakkal	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Spb Mill To Kokkarayanpettai	Namakkal	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thattankuttai To Kuppandampalayam	Namakkal	Regular	120	Open	CC	30	30	900	25	10	Bidding	30	5
	Thirumalaipatti Kalappanaickenpatti to Kalangani	Namakkal	Regular	110	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1420	Tiruchengode To Paramathi Road On SH Within 3kms From Tiruchengode Town	Namakkal	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Limit				_									
1421	Vaiyappamalai to Tiruchengode on SH-79	Namakkal	Regular	110	Open	DC DC	30 30	30	900 900	25	60 60	Draw of Lots	15 15	5
	Vargur to Pavithram on SH-161 Either Side	Namakkal	Regular	120	Open			30		25		Draw of Lots		5
	Vattur To Kottapalayam SH-86a	Namakkal	Regular	110	Open	DC	30	30	900	25	60	Draw of Lots	15	
	Velagoundampatti Within 2kms From Palmadai On Both The Sides SH	Namakkal Namakkal	Regular Regular	130 110	Open OBC CC 1	CC DC	30 30	30 30	900 900	25 25	10 60	Bidding Draw of Lots	30 15	5 4
	Within 3 Kms From Tiruchengode Town On Erode Road SH 79	Namakkal	Regular	130	SC CC 1	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
	From Edapadi bus stand within 2 kms towards konganapuram	Salem	Regular	100	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
	Jalakandapuram to Nangavalli on SH	Salem	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Konganapuram towards Edapadi within 1 km from Konkanapuram Jn	Salem	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Magundanchavadi to Konganapuram on SH 221 - LHS	Salem	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1431	Malliakarai on SH (within Salem District)	Salem	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Malliakarai on SH (within Salem District) on LHS	Salem	Regular	108	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Malliakarai to Thammampatti on SH-30 (either side)	Salem	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Manjini to Veeraganur on SH-157 (either side)	Salem	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Mecheri To Mettur On SH-20 LHS	Salem	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Name of location			1	1		<u> p</u>		9	i i		1	1	Т
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
1436	Mecheri To Metturon SH-20 RHS	Salem	Regular	150	OBC	CC	30	30	900	25	10	Bidding	30	4
1437	Mecheri To Perumbalai On SH-222 LHS	Salem	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
1438	Mecheri To Perumbalai On SH-222 RHS	Salem	Regular	150	Open CC 1	CC	30	30	900	25	10	Bidding	30	5
1439	Mecheri Towards Mettur Road With 2 Km On LHS From The Mecheri	Salem	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	/Salem/Mettur Jn													<u> </u>
	Mettupatttithathanur to Kuppanur	Salem	Regular	109	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1441	Mettur To Kolathur	Salem	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Morepalayam On Salem Tiruchengoe Road	Salem	Regular	130	Open	CC	30	30	900	25	10	Bidding	30	5
1443	Nangavalli to Kunjandiyur	Salem	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Narasingapuram to Malliakarai on SH-30 (either side)	Salem	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1445	Omalur To Mecheri On SH-222 LHS	Salem	Regular	150	OBC	CC	30	30	900	25	10	Bidding	30	4
	Omalur To Mecheri On SH-222 RHS	Salem	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Pappampadi to Konganapuram on SH 86	Salem	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Pappampadi to Tharamangalam on SH 86	Salem	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Sankari ATC bus depot to Sankari - Erode - coimbatore road Jn on LHS	Salem	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Sankari Railway station to Tiruchengode on SH 86	Salem	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Sankari to Konganapuram on SH 86	Salem	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sankari X Road Within 3km Towards Tiruchengode Road	Salem	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Steel Plant Jn. To Tharamangalam	Salem	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Tharamangalam on SH 86	Salem	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Tharamangalam to Nangavalli on SH 223	Salem	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Valapady to Belur on SH (either side)	Salem	Regular	108	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Within 4 Km From Sankari Tiruchengode Jn On Sankari To Tiruchengode Road (SH 86)	Salem	Regular	120	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Trichy Town	Tiruchirappalli	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1459	Chataram Bus stand to Kambarasampettai	Tiruchirappalli	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	Dheeran Nagar on Dindigal Road	Tiruchirappalli	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1461	East Bulevard Road	Tiruchirappalli	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	Gundur	Tiruchirappalli	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	K.K. Nagar	Tiruchirappalli	Regular	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
	Mathur Roundana to Thiruverumbur Road on MDR 824	Tiruchirappalli	Regular	150	OBC	CC	25	25	625	25	10	Bidding	30	4
1465	Odathurai Road (Hotel Rockfort View to NH-38 Junction)	Tiruchirappalli	Regular	150	Open	CC	25	25	625	25	10	Bidding	30	5

	OCL proposes to a	Joint Retail Of	The dealer	J III tile C	late or ra	IIII Nada	as per i	Onowing	g actain	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1466	Odathurai Road, Between Hotel Rock Fort View junction and NH 38 link Road Junction	Tiruchirappalli	Regular	150	Open	СС	25	25	625	25	10	Bidding	30	5
1467	Old Madurai Main Road between Trichy town and NH 38	Tiruchirappalli	Regular	150	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
1468	On NH 336 between TVS Tollgate to Trichy Airport	Tiruchirappalli	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
1469	On NH 83 between Karumandapam to Mannarpuram	Tiruchirappalli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1470	On NH 83 between Old Palpannai and Thiruverumbur	Tiruchirappalli	Regular	150	Open	CC	30	20	600	25	10	Bidding	30	5
1471	On Olaiyur Main Road between KK Nagar to Olaiyur	Tiruchirappalli	Regular	150	OBC	CC	25	25	625	25	10	Bidding	30	4
1472	On SH-22 between NH38 Junction and Puduchatram	Tiruchirappalli	Regular	150	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1473	Ponmalaipatti Road between NH 336 and NH 83	Tiruchirappalli	Regular	150	Open CC 1	DC	25	25	625	25	60	Draw of Lots	15	5
1474	Srirangam on Ammamandapam Road	Tiruchirappalli	Regular	150	OBC	DC	25	25	625	25	60	Draw of Lots	15	4
1475	Tank Bank Road, Trichy	Tiruchirappalli	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1476	Thiruvanaikkovil	Tiruchirappalli	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
1477	Vayalur Road, Trichy	Tiruchirappalli	Regular	150	Open	CC	20	20	400	25	10	Bidding	30	5
1478	Within 3 KM radius of Thiruvanaikkovil Temple	Tiruchirappalli	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
	College Road, Ariyalur	Ariyalur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1480	On SH 144 between Andimadam to Kaduvetti within1 KM from Andimadam 4	Ariyalur	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1401	Road Junction	Contractor	Describes	100	0	D.C.	20	20	000	25	45	Danie of Late	15	
	Annamalai Nagar in Chidambaram Avatti To Mangalur on MDR	Cuddalore Cuddalore	Regular	100	Open SC	DC CFS	30 30	30 30	900 900	25 0	45 0	Draw of Lots Draw of Lots	15 0	5 3
1482	Cuddalore NT WML	Cuddalore	Regular	100		DC	30	30	900	25	45	Draw of Lots Draw of Lots	15	5
1483	Cuddalore NT WML	Cuddalore	Regular Regular	100	Open SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
1484	Kumarakudi	Cuddalore	_	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Panruti Town	Cuddalore	Regular Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
1487	Nallur	Cuddalore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1488	Perur Chavadi (Between Kumarakudi to Perur Road)	Cuddalore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1489	Veppankuruchi to Athandar Kollai in Neyveli Township Road	Cuddalore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1490	Virudhachallam Town	Cuddalore	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
1491	Within 3 KMs from Virudhachallam Town towards Veerattikuppam on MDR	Cuddalore	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1492	Mayiladuthurai Town	Nagapattinam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1493	Sirkazhi Town	Nagapattinam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1494	Vallalarkoil to Mayiladuthurai Clock Tower	Nagapattinam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

	Name of Location	1	1	1	late of Ta		 -		9 4.0 (4	1		I	I	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1495	Velankanni Town (not on ECR)	Nagapattinam	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1496	Velipalayam to Nagore Main Road	Nagapattinam	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1497	Byepass Road connecting Perambalur RTO Office on NH 38 and SH 157	Perambalur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1498	Byepass Road connecting SH 157 and SH 142	Perambalur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1499	Kumaramangalam (on Olaiyur Main Road)	Pudukkottai	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1500	Nizam Colony	Pudukkottai	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1501	Pudhutheru (on Palpannai Road) within Pudukottai Town limits	Pudukkottai	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1502	Pudukkottai Tanjavur Road (with in Pudukkottai town limits)	Pudukkottai	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1503	Pudukkottai to Alangudi Road with in pudukkottai town	Pudukkottai	Regular	100	SC CC 1	CFS	20	30	600	0	0	Draw of Lots	0	3
1504	Pudukkottai to Arimalam Road with in pudukkottai town	Pudukkottai	Regular	100	Open CC 2	DC	20	30	600	25	45	Draw of Lots	15	5
1505	Rajagopalapuram	Pudukkottai	Regular	100	OBC CC 1	DC	30	30	900	25	45	Draw of Lots	15	4
1506	Adhirampattinam to sethubhavachatram(within adhirammpattinam limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1507	Ayyampet on MDR	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1508	Gandhiji Road (withinThanjavur Municipal Limits)	Thanjavur	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
1509	Kabisthalam on MDR	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1510	Kamaraj Road (within Kumbakonam Municipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1511	Kollupettai Street (withinThanjavur Municipal Limits)	Thanjavur	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
	Kuruvady within Thanjavur Municipal Limits	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1513	Melacauvery to Melakottaiyur(within Kumbakonam Municipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1514	Nagai Road(Within Thanjavur Muncipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
	Nanjikkottai Road (Within Thanjavur Municipal Limits)	Thanjavur	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
	Nattuchalai on Pattukkottai-Madhukkur MDR	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1517	Orathanad Town (on MDR)	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Palakkarai -Melacauvery (within Kumbakonam Municipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
	Papanasam to Saliyamangalam on MDR	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Pattukkottai to Thuvarankurichi Road (within Pattukkottai town limits)	Thanjavur	Regular	100	Open CC 1	DC	30	30	900	25	45	Draw of Lots	15	5
1521	Peacock Road from Thanjavur Collectorate to Ammanpettai	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Perambalur-Manamadurai Road km 70- km 77 (Within Thanjavur Municipal Limits)	Thanjavur	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
1523	Perambalur-Manamadurai Road km 70- km 77 (Within Thanjavur Municipal Limits)	Thanjavur	Regular	150	OBC	DC	45	45	2025	25	45	Draw of Lots	15	4

	None of leasting	The stant of	The dealer	J III tile C	late or ra	IIII Nada	as per i	Onowin	g actail.	J.		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1524	Peravurani to Aranthangi within peravurani town limits	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1525	Peravurani to Sethubhavachatram(within peravurani town limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1526	Pudukkotai Road (within Thanjavur Municipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1527	Pudukkottai Road within Thanjavur Municipal Limits(From Maharaja Mahal to Old housing unit)	Thanjavur	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
1528	Samiyappa institute to Thanjavur Medical College on LHS(within Thanjavur Municipal Limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1529	Srinivasapuram on MDR	Thanjavur	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
1530	Srinivasapuram-Kalimedu (Within Thanjavur Minicipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1531	Thanjaur Vallam Road (Within Thanjavur Municipal Limits)	Thanjavur	Regular	100	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
1532	Thanjavur- Kumbakonam Road(within Kumbakonam Municipal Limits)	Thanjavur	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1533	Thanjavur Medical college to LIC Colony on LHS(within Thanjavur Municipal Limits)	Thanjavur	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1534	Alivalam	Tiruvarur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1535	Pachaikulam (on Devankudi to Melkarai Road)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1536	Tiruvarur Town	Tiruvarur	Regular	100	OBC PH	DC	25	25	625	25	45	Draw of Lots	15	4
1537	Within 3 KMs on Mannargudi Vadassery Road	Tiruvarur	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Manaparai Town (on NH-45)	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Manaparai Town (on Viralimalai SH-71)	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Manapparai Town	Tiruchirappalli	Regular	100	OBC	DC	18	25	450	25	45	Draw of Lots	15	4
	Musiri	Tiruchirappalli	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1542	Pandamangalam on Kulumani Road	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Thuraiyur bye pass Road connecting SH-142 and SH-30	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1544		Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
	Within 2 KM Radius of PITCHANDARKOVIL	Tiruchirappalli	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Arakandanallur	Viluppuram	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1547	Elavanasurkottai	Viluppuram	Regular	100	Open	DC	30	30	900	25	45	Draw of Lots	15	5
1548	Kallakurichi Town (AKT Matric School to Kallakurichi Bus stand)	Viluppuram	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
	Thirukkoilur Town	Viluppuram	Regular	100	SC	CFS	25 30	25	625	0	0	Draw of Lots	0	3
1550 1551	Valavanur to Madhukarai Road	Viluppuram	Regular	100 100	OBC	DC DC	25	18 25	540 625	25 25	45 45	Draw of Lots	15 15	5
	Tindivanam Town (on Pondicherry Road, Not on NH)	Viluppuram	Regular	100	Open Open	DC	30	30	900	25	45 45	Draw of Lots Draw of Lots	15	5
1552	Tindivanam Town (Tindivanam-Gingee Road - not on NH)	Viluppuram	Regular	100	Open	ווע	30	30	900		45	DIAM OF LOTS	12	<u> </u>

	Name of leasting	ppoint Retail O	The dealer	J III tile C	late or ra	IIII Nada	us per i	Onowin	g actant	,. 		1	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	ı	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1553	Ulundurpet Town	Viluppuram	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1554	Viluppuram- Elichatram Road (Viluppuram Town Limits)	Viluppuram	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1555	Viluppuram Town (BSNL office to Theivanie Ammal College)	Viluppuram	Regular	100	Open	DC	25	25	625	25	45	Draw of Lots	15	5
1556	Machuvadi, Pudukkottai to Thanjavur Road, Pudukkottai town limits	Pudukkottai	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	Ariyalur Ring Road on NH 136	Ariyalur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	Between Jayamkondan to Gangaikonda Cholapuram on NH 81	Ariyalur	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	on NH 136 between Thirumanur to Keezhapalur	Ariyalur	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	On NH 81 between Reddipalayam to Thathanur	Ariyalur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Thathanur to Udyarpalayam on NH 81	Ariyalur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
1562	Alur on NH-45C	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1563	Avatti Cross Road to Vepur (LHS on NH-45)	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1564	Cuddalore on NH-45A	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Kumaratchi on NH	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Mangulam on NH-532 (Between KM Stone 85 to 90)	Cuddalore	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	On NH-532 between KM stone 85 to KM stone 90	Cuddalore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Puthukoorapettai To Vridhachalam (On NH 532)	Cuddalore	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Sembankuppam on NH45A	Cuddalore	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Sethiyathope on NH	Cuddalore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Veppur on NH 532 between KM 75 and 79	Cuddalore	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Virudhachallam Town on NH532	Cuddalore	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Within 5 KMs from Adari towards Veppur on NH	Cuddalore	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Within 5 KMs from Kandarakottai (Bridge) on NH45C towards Panruti	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Within 5 KMs from Lalpettai towards Chidambaram on NH	Cuddalore	Regular	150	Open	CC	35	35	1225	25	10	Bidding	30	5
	Within 5 KMS from NLC Arch Gate towards Vadalur on NH45-C	Cuddalore	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1577	Azhiyur to Puthur Junction on New NH	Nagapattinam	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Kathiruppu to Karuvi on NH-45A	Nagapattinam	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Nagapattinam Byepass on ECR from Thetti to Puthur Junction	Nagapattinam	Regular	150	Open	DC	35	45	1575	25 25	75 75	Draw of Lots	15 15	5
1580	Thirukadayur To Tharangambadi on NH Allinagaram to Kunnam on NH 136	Nagapattinam Perambalur	Regular	150 150	Open Open	DC DC	35 35	45 45	1575 1575	25	75 75	Draw of Lots Draw of Lots	15	5
	Dheeran Nagar Bus Stop to Perambalur RTO office on NH-38 RHS	Perambalur	Regular Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots Draw of Lots	0	3
	Eraiyur to Thirumandurai toll plaza on NH 38 LHS	Perambalur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Irur to Naranamangalam on NH 38 LHS	Perambalur	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
1584	iiui to ivaranangaldiii Oli IVII 38 LIIS	reidilibalui	Regular	150	Open	ן טכ	45	45	2025		/5	DIAM OF LOTS	T 12	

	Name of location						<u> p</u>		9 4.014					T
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
1585	Kunnam to Kavulpalayam on NH 136	Perambalur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1586	On NH-38 LHS from Trichy to Chennai (between KM stone 265 to 270)	Perambalur	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
1587	Siruvachur on NH 38 LHS from Trichy to Chennai	Perambalur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
1588	Valikandapuram to Perambalur RTO Office on NH 38	Perambalur	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
1589		Pudukkottai	Regular	150	Open	DC	35	40	1400	25	75	Draw of Lots	15	5
1590		Pudukkottai	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1591	Melapachakudi, on NH 38 (LHS from Trichy to Viaralimalai)	Pudukkottai	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Mullur on NH 36 (Pudukkottai to Thanjavur NH)	Pudukkottai	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1593	Sathyamangalam on NH 336	Pudukkottai	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Thulaiyanur to Vengalur on NH 36	Pudukkottai	Regular	150	Open CC 1	CC	35	45	1575	25	10	Bidding	30	5
1595	Arasampatti to Thirumayam on NH 36	Pudukkottai	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Ammapettai to Thiruvaiyaru on NH (RHS)	Thanjavur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1597		Thanjavur	Regular	150	OBC	DC	45	45	2025	25	75	Draw of Lots	15	4
_	Manakkarambai-Thirukkarakavur Road(annapanpettai Limits)	Thanjavur	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Manangorai-ayyampet(on Thanjavur-Kumbakonam NH45C)	Thanjavur	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Saliyamangalam-Ammapet on NH67	Thanjavur	Regular	150	Open	DC	45	45	2025	25	75 75	Draw of Lots	15	5
1601	Tanjavur-Tiruvarur Road on NH67(Raramudrakkottai Limits)	Thanjavur	Regular	150 150	OBC	DC	45 45	45	2025	25	75	Draw of Lots	15 15	5
	Thanjavur to Chennai NH(Pillayarpatti Limits) Thanjavur Town to Ayyampettai on NH45C	Thanjavur Thanjavur	Regular Regular	150	Open Open	DC DC	45	45 45	2025 2025	25 25	75	Draw of Lots Draw of Lots	15	5
	Thiruvaiyaur Town (on NH-136)	Thanjavur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Trichy-Thanjaur km 100 to km 108 (LHS on NH67)	Thanjavur	Regular	150	Open	CC	45	45	2025	25	10	Bidding	30	5
	Koradacherry to Tiruvarur New NH (0-3 kms)	Tiruvarur	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1607	, , ,	Tiruvarur	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Mugundanoor (on Nidamangalam to Tiruvarur NH)	Tiruvarur	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
	Tiruvarur to Thiruthuraipoondi Road Roundana (on NH-67)	Tiruvarur	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	On NH 38 between Manikandam to Fatimanagar	Tiruchirappalli	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	On NH 38 between Thuvarankurichi to Kovilpatti	Tiruchirappalli	Regular	150	Open PH	CC	45	45	2025	25	10	Bidding	30	5
1612		Tiruchirappalli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1613	Between Siruganur and Nedungur on NH 38	Tiruchirappalli	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1614	Kottapattu to Bharathidasan University	Tiruchirappalli	Regular	150	OBC	DC	30	30	900	25	75	Draw of Lots	15	4
1615	On NH 336 between Mandiyur to Nallur	Tiruchirappalli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1616	On NH 336 between Trichy Airport to Kottapattu on NH 336	Tiruchirappalli	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4

	Name of location		1	<u> </u>	1		<u> p</u>		9	i i		I	I	Т
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1617	On NH 38 between Fatimanagar to Viralimalai	Tiruchirappalli	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
1618	On NH 38 between Panjjapur to Anbilar Nagar	Tiruchirappalli	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
1619	On NH 38 between Viralimalai to Kodumbalur	Tiruchirappalli	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
1620	On NH 81 between Anbil to Poondi	Tiruchirappalli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
	On NH 81 between Jeeyapuram to Pettavaithalai	Tiruchirappalli	Regular	150	OBC	DC	30	30	900	25	75	Draw of Lots	15	4
	On NH 81 between Kallakudi to Puvalur	Tiruchirappalli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1623	On NH 81 between Kambarasampettai and Jeeyapuram	Tiruchirappalli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	On NH 81 between Pullambadi to Kallakudi	Tiruchirappalli	Regular	150	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
1625	On NH 81 between Puvalur to Vellanur	Tiruchirappalli	Regular	150	Open CC 1	CC	35	35	1225	25	10	Bidding	30	5
	On NH 83 between Thiveruverumbur to Thuvakudi	Tiruchirappalli	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1627	Palavanji East on NH 38	Tiruchirappalli	Regular	150	SC	CFS	45	45	2025	0	0	Draw of Lots	0	3
	Palur on NH-38 RHS from Trichy to Chennai	Tiruchirappalli	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
	Thuvakudi to Sengipatti (on NH)	Tiruchirappalli	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1630	Within 2 KM from Malai Matha Church, Konalai on NH 38 RHS from Trichy to Chennai	Tiruchirappalli	Regular	150	Open	DC	45	45	2025	25	75	Draw of Lots	15	5
1631	Alampundi to Satyamangalam (on NH-77)	Viluppuram	Regular	150	OBC	CC	35	45	1575	25	10	Bidding	30	4
1632	Athur Toll plaza to Pathiri (LHS on NH45)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1633	Chendur TO V.Salai(LHS ON NH45)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1634	Chittani to Kooteripattu (LHS on NH45)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1635	Kallakurichi Toll to Chinnasalem	Viluppuram	Regular	150	Open	CC	35	45	1575	25	10	Bidding	30	5
	Kilvalai to Veerangipuram (Either side on NH)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1637	Koliyanur to Valavanur(NH-45A)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Pali to Eranji on NH45	Viluppuram	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Sembimadev to Ulundurpet (LHS on NH79)	Viluppuram	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	Sengurichi to Arasur (LHS on NH45)	Viluppuram	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1641	Vadakuchipalayam to Kandarvakottai (LHS on NH45C)	Viluppuram	Regular	150	Open	DC	30	30	900	25	75	Draw of Lots	15	5
	Viluppuram Town (East Pondy Road on NH45A)	Viluppuram	Regular	150	Open	CC	30	30	900	25	10	Bidding	30	5
1643	Andimadam to Authukurichi (on SH 140)	Ariyalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Ariyalur to Reddipalayam (On SH 139)	Ariyalur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1645	Kallathur to Andimadam (On SH 140)	Ariyalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Reddipalayam to Vikaramangalam (On SH 139)	Ariyalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
164/	T. Palur to Karaikurichi (On SH 140)	Ariyalur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	Now of leasting	The stant of	The dealer	J III tile C	late or ra	IIII Nada	as per i	Onowin	g actant	, . 		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1648	Within 3 KMs from Ariyalur on Senthurai Road	Ariyalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1649	Between Panruti and Thattanchavadi Junction on SH	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1650	Bhuvanagiri (On SH-70 within 5 KMs on either direction from Chidambaram- Cuddalure X Road	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1651	Gopalapuram (on SH)	Cuddalore	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1652	Mangalampettai	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1653	Muthukrishnapuram (on SH)	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1654	Naduvirappattu on SH138	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1655	Parangipettai on SH 70	Cuddalore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1656	Peralaiyur(On SH140 between KM 2 and KM 7)	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1657	Thiruvandhipuram on SH68	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1658	Vagaiyur on SH141	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Veeraperuma Nallur on SH9	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1660	Vellakarai on SH138	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1661	Venkarambur (From KM Stone 32 to 37 on SH141)	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Virudhachalam On SH70 between KM Stone 1 to KM stone 8	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Vridhachalam New Byepass	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Within 4 KMs from Tittagudi Police Station on SH 141 towards Tholudhur	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
		Cuddalore	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Within 5 Kms from Cuddalore Bus Stand towards Tiruvandhipuram Temple on SH-68	Cuddalore	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1667	Within 5 KMs from Thirupapuliyur on SH138	Cuddalore	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1668	Echangudi to Sembanar Koil on SH	Nagapattinam	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1669		Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1670		Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1671	Kazhanivasal on SH	Nagapattinam	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kuthalam on SH	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1673	Manalmedu	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1674		Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Melaiyur to Poombuhar	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Nakkambadi to Thirunageswaram Road on SH	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1677	Papakovil to Velankanni on ECR	Nagapattinam	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

	loce proposes to a	pponit Retail O	The dealer	J III tile C	late or ra	IIIII Nada	us per i	Onowing	g actain	j.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	ı	um Dimen a of the sit M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1678	Sangiruppu on SH	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1679	Thirunandriyur	Nagapattinam	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1680	Vaipur on SH (Nagore Vettar Road)	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1681	Vaitheeswarankoil to Thirupongur on SH	Nagapattinam	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1682	Aranarai South on SH 142	Perambalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1683	Elanthalapatty on SH-142	Perambalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1684	Karuppattankurichi to Thungapuram on SH 143	Perambalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1685	Keelakarai on SH 157 LHS from Perambalur to Esanai	Perambalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1686	Kurumbur to Senjeri on SH 142	Perambalur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1687	Mangoon to Eachampatti on SH 142	Perambalur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1688	Thungapuram EB office to Marudhaiyan Kovil on SH-143	Perambalur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1689	Aranthangi (on Mimisal Road within 5 KMs)	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1690	Aranthangi to Kattumavadi Road within 3 km from Aranthangi Town	Pudukkottai	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1691	Avanathankottai on SH 29	Pudukkottai	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1692	Gandharvakkottai to Pattukottai Road with in 4 km from Gandharvakkottai	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1693	Kattathi on SH 99	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1694	Keeramangalam Town on SH	Pudukkottai	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Mimisal, on SH 200	Pudukkottai	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1696	Nathampannai on SH 71	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1697	Palaiyur on SH 26	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1698	Ponnamaravathi to Koppanapatti Road, with in 4 km from ponnamaravathi Police station	Pudukkottai	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1699	Vadakadu on SH 71	Pudukkottai	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1700	Viralimalai to Manapparai (within 2 KM from Viralimalai)	Pudukkottai	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1701	Within 2 KMs from Aranthangi Town (on Karaikudi Road)	Pudukkottai	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1702	Adhirampattinam Sethubhavachatram Road	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1703	Cholapuram to Thirupananthal on SH	Thanjavur	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1704	Gandharvakkottai-Pudupatti (on SH)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1705	Kallanai-Pumbuhar Road(Kovilady Limit)	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Kandiyur to Thrikkattupalli Road (Thiruvalampozhil limits)	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1707	Kannandankudi Melaiyur (on Thanjavur Pattukkottai Road)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5

	IOCL proposes to a	ppoint Retail O	utiet dealer	s in the S	tate of la	mii Nadu	as per t	ollowin	g details	s:				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Lakhs
1708	Kattumavadi (0-2 kms on SH 145 from ECR)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1709	Kavalipatti on SH 99	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1710	Kollidam- Kallanai Road	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1711	Kumbakonam-Needamangalam Road(Madagudi) on SH	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Kumbakonam-Valangaiman Road(Madagudi) on SH	Thanjavur	Regular	100	Open CC 2	DC	30	30	900	25	60	Draw of Lots	15	5
1713	Madhukkur on SH (within Madhukkur limits)	Thanjavur	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1714	Natchiyar Koil on SH 65	Thanjavur	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Neyvasal on SH	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1716	On SH (Within Sethubhava Chatram Town limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1717	Orthanad to Pattukottai on SH	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pattukkottai- Thanjavuur Road on SH(within karambayam limits)	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Pattukkottai to Adhirampattinam on SH(within pattukkottai town limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Pattukkottai to Alathur on SH	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1721	Pattukkottai to Ghandarvakkottai Road (within Pattukkottai taluk)	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Pattukkottai-sengipetti Road (SH99)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1723	Pioneer Public School To Karakavayal On SH 146	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Poovanam on Pattukkottai-Manamelkudi Road	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	S Pudur on SH 147	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Sakkottai on SH 65	Thanjavur	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
	Sengipatti(on Thathankurichi SH)	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Sengipatti-Gandharvakkottai Road (within Sengipetti limits)	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Sethubhaavachatram on SH	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thillaisthanam-Maharajapuram post (thiruvaiyar taluka Limits)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thiruchitrambalam to Avanam SH 29(within pattukkottai taluk)	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
	Thirukkattupalli on SH99	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Thirunageswaram on SH	Thanjavur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tiruvidaimarudur-Aduthurai Road	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
-	Tiruvidaimarudur-Govindapuram road	Thanjavur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1736	Veerakurichi-Pulavankadu Road (Within 4 kms of Pappanadu)	Thanjavur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
	Adichapuram (Mannargudi to Thiruthuraipoondi on SH)	Tiruvarur	Regular	100	ST	CFS	30 30	30	900	0	0	Draw of Lots	0	3
	Alangottai (Mannargudi to Pattukkottai Road via vadassery-SH 146)	Tiruvarur	Regular	100	Open	DC		30	900	25	60	Draw of Lots	15	5
1/39	Alathur (from Pattukottai to Vadasseri on SH)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5

	Name of leasting		The dealer	J III tile C	late or ra	IIII Nada	us per i	Oliowill	g actail.	J.		1	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1		3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1740	Between Nannilam and Sananallur (on SH-67)	Tiruvarur	Regular	100	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
1741	Between Nidamangalam and Alangudi (on SH)	Tiruvarur	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
1742	Between Nidamangalam to Kalanchimedu on SH 66	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1743	Between Sananallur and Nagore (on SH-67)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1744	Kadiacherry on Mannargudi-Thiruthuraipoondi Road	Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1745		Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1746		Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1747		Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1748		Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1749		Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1750		Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1751		Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1752		Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1753	Mannargudi- Madhukkur Road (Between Sundarakkottai and Paravakkottai)	Tiruvarur	Regular	100	Open CC 1	DC	30	30	900	25	60	Draw of Lots	15	5
1754	Mannargudi- Muthupet Road SH-202 (0-4 Kms from Mannargudi)	Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1755	Mannargudi- Nidamangalam Road On SH (0-5 Kms On Right Side)	Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1756	Mannargudi- Tiruvarur Road(between Koothanallur and Savala karan) on SH	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1757	Mannargudi to Madhukkur Road SH-66 (Mannargudi to Laknampettai)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1758	Mannargudi to Thanjavur Road (Between Vaduvur and Karakkottai) on SH	Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1759	Mannargudi to Tiruvarur SH (Between Lakshmangudi and Velgudi)	Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1760	Paravakottai (Manargudi to Madhukkur Road)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1761	Sithamalli (on Muthupet to Mannargudi SH on LHS)	Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1762	Thiruthuraipoondi to Korkai on ECR	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1763		Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1764		Tiruvarur	Regular	100	OBC CC 1	DC	30	30	900	25	60	Draw of Lots	15	4
1765		Tiruvarur	Regular	100	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
	Tiruvarur - Kangalancherry (on SH)	Tiruvarur	Regular	100	Open PH	DC	30	30	900	25	60	Draw of Lots	15	5
1767	Tiruvarur - Mannargudi SH (From Vilamal to Meppalam)	Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
1768	ŭ i ŭ ,	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1769	Vaduvur Town (on SH)	Tiruvarur	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

Simple Simple Simple Simple Size		Name of location		1	1	1		<u> p</u>		9	i i				
Regular/hural SCRSC CC SCRCOC/GSS Frontage Popth Area Strimeted Summer Sum	SI. No	Name of location			monthly Sales Potential #		Site*	l	a of the si	te (in Sq.	arranged	by the	Selection	Minimum Bid amount	Deposit
1770 Valangaiman Town (on Nidamanagalam-Kumbakonam SH-66) Tiruvarur Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1771 Within 5 KM from Valangaiman Town (on SH-66) Tiruvarur Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1772 Within 5 KM from Valangaiman Town (on SH-66) Tiruvarur Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 4 1772 Government Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 4 1772 Within 5 KM from Valangaiman Town (on SH-66) Tiruvarur Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 4 1772 Government Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 4 1772 Government Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1773 Manapaparato Tohuvarankurichi on SH 71A on RHS towards Thuvaranchurichi, Interfirappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1774 Manapaparato Tohuvarankurichi on SH 71A on RHS towards Thuvaranchurichi, Interfirappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1774 Manapaparato Tohuvarankurichi on SH 71A on RHS towards Thuvaranchurichi, Interfirappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775 Nakkasetam NSH 124 Tiruchinappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775 Nakkasetam NSH 124 Tiruchinappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775 Nakasetam NSH 124 Tiruchinappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775 Nakasetam NSH 124 Tiruchinappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775 Nakasetam NSH 125 Tiruchinappall Regular 100 Open D.C. 30 30 900 25 60 Orav of Lots 15 5 1775	1	2	3	4	5	-				8	9a	9b	10	11	12
1772 Within 5 KM from Valangaiman Town (on SH-66)				(Regular/Rur	al)	1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN		J	·	Area	working capital requireme nt for operation of RO Rs. in Lakhs	fund required for developme nt of infrastruct ure at RO	Lots/Bidding)	Rs. in Lakhs	1
1772 Government Hospital, Thuralyur to Nagalapuram on SH142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1773 Manappara to Thurarankurichi on SH 71A on RHS towards Thuvaranchurichi, mear Sala Karai Bus stop DC 30 30 900 25 60 Draw of Lots 15 5 5 1774 Musiri to Srinivasanallur on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1775 Nakkasedam on SH-142 Tiruchirappalli Regular 100 SC CFS 30 30 900 25 60 Draw of Lots 15 5 1776 Nakkasedam on SH-142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1776 Nakasedam on SH-142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 Nakasedam on SH-142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 Nakasedam on SH-142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 Draw of Lots 15 1778 Draw of Lots 15 1778 Draw of Lots 1779 Sarkappayam to Vengur (on SH-22) Tiruchirappalli Regular 100 SC CFS 30 30 900 25 60 Draw of Lots 15 5 1778 Draw of Lots 15 1778 Draw of Lots 15 1778 Draw of Lots 1779 Sarkappayam to Vengur (on SH-22) Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 1780 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 1781 Tiruchirappalli Nagura Nagura	1770	Valangaiman Town (on Nidamanagalam-Kumbakonam SH-66)	Tiruvarur	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1773 Marapparai to Thuvarankurichi on SH 71A on RHS towards Thuvaranchurichi, Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1775 Musrit to Srinivasanallur on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1775 Musrit to Srinivasanallur on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 0 3 3 1775 Navamaram to Karattampatti ton SH-62 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 On SH 192 between Puduchatam to Thiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 On SH 192 between Puduchatam to Thiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 Draw of Lots 1778	1771	Within 5 KM from Valangaiman Town (on SH-66)	Tiruvarur	Regular	100	OBC	DC	30	30	900	25	60	Draw of Lots	15	4
Regular 100		1 7 7 0 1	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	
1775 Musiri to Srinksanallur on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1775 Nakhaseelam on SH-142 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 0 3 1776 Navamaram to Karattampatti on SH-62 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1778 On SH 25 Draw of Lots 15 5 1778	1773	Manapparai to Thuvarankurichi on SH 71A on RHS towards Thuvaranchurichi,	Tiruchirappalli	Regular	100	Open	DC	30	30	900	25	60	Draw of Lots	15	5
1775 Nakkaseelam on SH-142 Tiruchirappalli Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 3 1776 Navamaram to Karattampatti on SH-62 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1778 No. SH 199 between Valuchatram to Thiruvalyaru Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1778 On SH 22 between Puduchatram to Thiruvalyaru Tiruchirappalli Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 3 3 1779 Sarkarapayam to Venguy (no SH-22) Tiruchirappalli Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1780 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1781 Tholurapti to Maikehaikehaikehaikehaikehaikehaikehaikeh															
1776 Navamaram to Karattampatti on SH-62 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1777 On SH 199 between Valampatti to Karungulam Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1780 Navamaram to Vengur (on SH-22) Tiruchirappallil Regular 100 SC CFS 30 30 900 25 60 Draw of Lots 15 5 1782 Elemen Puduchatram to Thiruchirappallil Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1780 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 4 1780 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1781 Tholurpatti to Maikelnaikenpatti on SH 25 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1782 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1782 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1782 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1784 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1785 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1786 Tiruchirappallil Regular 100 Open DC 30 30 900 25 60 Draw of				Regular											
1777 On SH 199 between Valampatti to Karungulam															
1778 Gr. SH. 22 between Puduchatram to Thiruvalyaru				_											
1779 Sarkarpalayam to Vengur (on SH-22) Tiruchirappalli Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1780 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1781 Tholurpatti to Maiklenalkenpatti on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1782 Thuraiyur to Sikkathambur on SH 30 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1783 Kodavasal town on SH Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1783 Kodavasal town on SH Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1785 Kodavasal town on SH Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1785 Kalawur to Kumaramangalam Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1786 Arasur to Kumaramangalam Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1786 Arasur to Kumaramangalam Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1786 Arasur to Kumaramangalam Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1786 Kallakurichi Ka. Mamanandal (on SH-6R) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 1788 Kallakurichi Ka. Mamanandal (on SH-6) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1792 Madapattu (Cuddalore-Tirukkollur Road) Viluppuram Regular 100 Open DC 30 30 900 25 60			 			<u> </u>								_	
1780 Thiruvasi on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5		·	 									_			
1781 Tholurpatti to Maikelnaikenpatti on SH 25 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1782 Thurajvur to Sikkathambur on SH-30 Tiruchirappalli Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1783 Kodavasl town on SH Tiruvarur Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1784 Alankuppam-Brammadesam (Tindivanam-Marakkanam Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1785 Arasur to Kumaramangalam Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1785 Arasur to Kumaramangalam Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1786 Athylip to Airylalur															
Thuraiyur to Sikkathambur on SH-30															
1783 Kodavasal town on SH	_		 	-		· ·									
1784 Alankuppam-Brammadesam (Tindivanam-Marakkanam Road)		, , , , , , , , , , , , , , , , , , ,				 								_	
1785 Arasur to Kumaramangalam															
1786 Athiyur to Ariyalur (on SH-68,Sankarapuram Taluk)						· · · · · · · · · · · · · · · · · · ·								_	
1787 Kaipenikuppam to Anumandai (On ECR Road)		9			-										
1788 Kallakurichi- Ka. Mamanandal (on SH-6) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1789 Kanai to Mambazhapattu Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1790 Kanjanur to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 SC CFS 30 30 900 0 O Draw of Lots 0 3 1792 Madapattu (Cuddalore-Tirukkoilur Road) Viluppuram Regular 100 SC CFS 30 30 900 0 O Draw of Lots 0 3 1793 Mailam to Perumbakkam (On SH136) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 4 1794 Manoor to Endiyur (on SH34) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tiruk															
1789 Kanai to Mambazhapattu Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1790 Kanjanur to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 SC CFS 30 30 900 0 O Draw of Lots 0 3 1792 Madapattu (Cuddalore-Tirukkoilur Road) Viluppuram Regular 100 SC CFS 30 30 900 0 O Draw of Lots 0 3 1793 Mailam to Perumbakkam (On SH136) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1794 Manoor to Endiyur (on SH34) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1790 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4												-			
1790 Kanjanur to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1792 Madapattu (Cuddalore-Tirukkoilur Road) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1793 Mailam to Perumbakkam (On SH136) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1794 Manoor to Endiyur (on SH134) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Ko															
1791 Koothanur to Eraiyur (On SH-137) Viluppuram Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 3															
1792 Madapattu (Cuddalore-Tirukkoilur Road) Viluppuram Regular 100 SC CFS 30 30 900 0 0 Draw of Lots 0 3 1793 Mailam to Perumbakkam (On SH136) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1794 Manoor to Endiyur (on SH134) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 1797 Poothamedu to Pungunam (Viluppuram-Ginge Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1799 Tirukkoilur to Aavi Kolapakk	_														
1793 Mailam to Perumbakkam (On SH136) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1794 Manoor to Endiyur (on SH134) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Reg															
1794 Manoor to Endiyur (on SH134) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 OBC DC 30 30 900 0 D raw of Lots 15 5 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular															_
1795 Ottampattu to Nemur (on SH4) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4		, ,													
1796 Panayapuram-Siruvallikuppam (on SH-203) Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4 1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4	_	, , ,													
1797 Poothamedu to Pungunam (Viluppuram-Gingee Road) Viluppuram Regular 100 Open DC 30 30 900 25 60 Draw of Lots 15 5 1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4	_					<u> </u>								_	
1798 Thiyagadurgam to Thorasalur (on SH 9 A Manalurpet Road) Viluppuram Regular 100 SC CFS 30 30 900 0 Draw of Lots 0 3 1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4				_											_
1799 Tirukkoilur to Aavi Kolapakkam Viluppuram Regular 100 OBC DC 30 30 900 25 60 Draw of Lots 15 4				_			_							_	
				_										_	
			Viluppuram	Regular	100	Open	DC	25	25	625	25	60	Draw of Lots	15	5

Standard Standard		Name of location						<u> p</u>		9	<u> </u>				
Regular/Rural	SI. No	Name of location	Revenue District	Type of RO	monthly Sales	Category		l	a of the si	•	arranged		1	Minimum	1 '
1801 Ananthamangalam Willage Canchipuram Rural 50 5C CFS 20 20 400 12 30 20 20 20 20 20 20 2	1	2	3	4	5					8	9a	9b	10	11	12
1802 Annukundram (Truporur Taluk)						1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		J	·		working capital requireme nt for operation of RO Rs. in Lakhs	fund required for developme nt of infrastruct ure at RO	Lots/Bidding)		Lakhs
1803 Entitalamangalam to Karunkuzhi	1801	Ananthamangalam Village	Kanchipuram	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1804 Illaur Kanchipuram Rural 36 S.C. CFS 20 20 400 0 0 Draw of Lots 0 2 2 1805 Jamin Endathur Kanchipuram Rural 50 S.C. CFS 20 20 400 0 0 Draw of Lots 0 2 2 1806 Kambarajapuram Village Kanchipuram Rural 50 S.C. CFS 20 20 400 0 0 Draw of Lots 0 2 2 1807 Keevalur Village (Inhadiam to Keevalur Village road) Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1808 Kunnvakkam Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1808 Kunnvakkam Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1809 Kunnvakkam Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1804 Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1811 Kanampathi, Truporur Taluk Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 1804 Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 3 3 3 3 3 3 3			Kanchipuram	Rural	50	OBC	DC			400	12	30	Draw of Lots	5	3
1905 samin Endathur Sanchipuram Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2 200 400 0 0 Draw of Lots 0 2 2 200 400 0 0 Draw of Lots 0 2 2 200 400 0 0 Draw of Lots 0 2 2 200 400 0 0 Draw of Lots 0 2 2 200 400 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2			Kanchipuram	Rural		Open				400	12	30	Draw of Lots	5	
1806 Kambarajapuram Village (Handalam to Keevalur Village road) Kanchipuram Rural 50 Open DC 20 20 400 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2			Kanchipuram	Rural							0	0	Draw of Lots	0	2
1807 Keevalur Village (Thandalam to Keevalur Village road) Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4												-			
Sample Manchipuram Rural 36 SC CFS 20 20 400 0 0 0 0 0 2 2 2 2						SC			_			-			+
Madhuramangalam to Mahadevimangalam Kanchipuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4															
1810 Mambakkam to Mettupalayam			_												-
1811 Manampathi, Tiruporur Taluk															
1812 Marimangalam (Sogandy Main Road (MDR)) Kanchipuram Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2		, ,													
1813 Marudham			_					_				30			
1814 Meyur Village															
1815 Morapakkam Village						Open									
1816 Nattapettai Village			<u> </u>												
Nelvoy Koot Road to Vedanthangal Koot Road						_									+
1818 Palayaseevaram to Pinayur Rural 48 Open CC 2 DC 20 20 400 12 30 Draw of Lots 5 4															+
1819 Pallipettai Village															
1820 Perulpattu to Kottamedu Road Kanchipuram Rural 36 SC CC 1 CFS 20 20 400 0 0 Draw of Lots 0 2															
1821 Pudhupakkam			<u> </u>												
Salavakkam to Tirumukkudal Salavakkam to Tirumukkudal Kanchipuram Rural SO SC CFS 20 20 400 0 0 Draw of Lots 0 2			<u> </u>									-			+
1823 Sevilimedu to Kilambi (on MDR 143) Kanchipuram Rural 50 SC CFS 20 20 400 0 Draw of Lots 0 2 1824 Singaperumal Koil to palur (on Singaperumal Koil - Walahjabad road) Kanchipuram Rural 50 Open CC 1 DC 20 400 12 30 Draw of Lots 5 4 1825 Somangalam Village Kanchipuram Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1826 Thermelpakkam Kanchipuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1827 Tirukalukundram to Mudaiyur on MDR Kanchipuram Rural 36 OBC DC 20 20 400 0 0 Draw of Lots 5 3 1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20		<u> </u>	<u> </u>											 	+
1824 Singaperumal Koil to palur (on Singaperumal Koil - Walahjabad road) Kanchipuram Rural 50 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 1825 Somangalam Village Kanchipuram Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1826 Thenmelpakkam Kanchipuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1827 Tirukalukundram to Mudaiyur on MDR Kanchipuram Rural 36 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20 20 400 0 0 Draw of Lots 5 3 1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 20 400 <td< td=""><td>_</td><td></td><td><u> </u></td><td></td><td></td><td></td><td></td><td>_</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	_		<u> </u>					_							
1825 Somangalam Village Kanchipuram Rural 50 SC CFS 20 20 400 0 Draw of Lots 0 2 1826 Thenmelpakkam Kanchipuram Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2 1827 Tirukalukundram to Mudaiyur on MDR Kanchipuram Rural 36 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20 20 400 0 0 Draw of Lots 5 3 1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 20 400 0 0 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400															
1826 Thenmelpakkam Kanchipuram Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2 1827 Tirukalukundram to Mudaiyur on MDR Kanchipuram Rural 36 OBC DC 20 400 12 30 Draw of Lots 5 3 1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20 20 400 0 Draw of Lots 0 2 1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 20 400 12 30 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400 0 0 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 50 SC CFS 20 20 400 0 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>_</td><td></td><td></td><td></td><td></td><td></td><td>1</td><td></td></t<>								_						1	
1827 Tirukalukundram to Mudaiyur on MDR Kanchipuram Rural 36 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20 20 400 0 Draw of Lots 0 2 1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 20 400 12 30 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400 0 0 Draw of Lots 5 3 1831 Budhur Village Tiruvallur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2												-			+
1828 Uthiramerur to Alapakkam Kanchipuram Rural 50 ST CFS 20 20 400 0 Draw of Lots 0 2 1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 400 12 30 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400 0 Draw of Lots 0 2 1831 Budhur Village Tiruvallur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2															
1829 Vedavakkam (Between Vedanthangal and Karunkuzhi) Kanchipuram Rural 46 OBC PH DC 20 20 400 12 30 Draw of Lots 5 3 1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400 0 0 Draw of Lots 0 2 1831 Budhur Village Tiruvallur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2		,													
1830 Veeranakunnam Kanchipuram Rural 36 SC PH CFS 20 20 400 0 Draw of Lots 0 2 1831 Budhur Village Tiruvallur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2												<u> </u>			
1831 Budhur Village Tiruvallur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2		•													
											_	<u> </u>			
			Tiruvallur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	OCL proposes to a	Denni Retail O	The dealer	J III tile C	late or ra	IIIII Nada	us per i	Oliowill	g actail.	J.		ı	1	
Sl. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1833	Kattupakkam	Tiruvallur	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1834	Kumanur Village	Tiruvallur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1835	Madharpakkam To Sathyavedu	Tiruvallur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1836	Meiyur	Tiruvallur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1837	Nochili	Tiruvallur	Rural	50	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1838	Panapakkam	Tiruvallur	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1839	Pandeswaram Link Road To Poochiathipedu (Avadi Vanianchatiram Road Mdr 575) On RHS	Tiruvallur	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1840	Seethanchery Village	Tiruvallur	Rural	50	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1841	Thirupachur	Tiruvallur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1842	Vengal Koot Road To Seethanchery	Tiruvallur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1843	Arani (on Vandavasi Road)	Tiruvannamalai	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1844	Kasthambadi To Vadamathimangalam	Tiruvannamalai	Rural	36	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Nadukuppam	Tiruvannamalai	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Neepathurai	Tiruvannamalai	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Padavedu Village	Tiruvannamalai	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1848		Tiruvannamalai	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Perungattur - Vembakkam	Tiruvannamalai	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Polur (on Jamunamarathur road)	Tiruvannamalai	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1851	Sathya Vijaya Nagaram	Tiruvannamalai	Rural	36	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1852	Velapadi (Arani To Avaniapuram Road)	Tiruvannamalai	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	A.N. Pudur	Vellore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Athikuppam	Vellore	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Erukambattu	Vellore	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1856	Kannigapuram	Vellore	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1857	Mambakkam (Not on SH)	Vellore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Melalathur Nemili (Not on SH)	Vellore	Rural	50 48	SC OBC	CFS	20 20	20 20	400 400	0	0 30	Draw of Lots	5	3
	Ranipet Sholinghur Road MDR 401 (Walaja Taluk)	Vellore Vellore	Rural Rural	60	OBC Open CC 1	DC DC	20	20	400	12 12	30	Draw of Lots Draw of Lots	5	4
	Ranipet Sholinghur Road MDR 401 (Walaja Taluk) Thandalam Perampakkam Thakkolam Arigilpadi Road MDR 447 (walaja Taluk)	Vellore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	3
1862	Ulli	Vellore	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	Name of location			<u> </u>			<u> p</u>		9	i i				$\overline{}$
SI. No	Name of location	Revenue District	Type of RO	Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
1863	Vaniyambadi to Nimmiyambattu on MDR	Vellore	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1864	Vazhapandal (not on SH)	Vellore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Virinjipuram to Vaduganthangal	Vellore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Walajah R.S. Road MDR 555	Vellore	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Yelagiri Hill Road MDR 560 From Botanical Garden to Main Bus stand	Vellore	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Padiyambakkam	Vellore	Rural	60	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1869	Ambarampalayam Beween Pollachi -Meenkarai road and Ambarampalayam - singanallur road	Coimbatore	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1870	Ambrampalayam (On Anamalai Road)	Coimbatore	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1871	Anaikatti (Not on SH)	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1872	Anamalai (On Poolankinar Road)	Coimbatore	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1873	Athipalayam to Kovilpalayam	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1874	Athipalayam to Veerapandi	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1875	Athipalayam Village	Coimbatore	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Balaji temple road, Valparai	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Chinna Thadagam	Coimbatore	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1878	Chinna Thadagam - Pannimadai	Coimbatore	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Eachanari on Chettipalayam road	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1880	Govindapuram on Nelipara road between Vadakkancherry Pollachi road and TN- Kerala border	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1881	Illupanatham	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1882	Iruttu pallam - Alandurai (Siruvani Main Road)	Coimbatore	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1883	J. Krishnapuram	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1884	Jakkarpalayam	Coimbatore	Rural	48	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1885	Karamadai On Velliankadu Road	Coimbatore	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1886	Karamadai to Velliangadu	Coimbatore	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
	Keeranatham	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1888	Keeranatham Road , Between Sathy Road NH 209 and PPG College Of Nursing	Coimbatore	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1889	Komarapalayam to Telungupalayam	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1890	Kottur between Anamalai dhali road and Pongalaiyur	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1891	Kuppepalayam to Onnipalayam	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	OCL proposes to ap	Joint Rolan O	The dealer	J tile C	lute or ru	IIII Itaaa	uo per i	Oliowill	gactan	1		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1892	Madhukkarai (on Palathurai Road)	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1893	Mallumichampatty on Chettipalayam road	Coimbatore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Mookkanur	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Mugasimangalam - Kallipalayam	Coimbatore	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1896	Muthugoundampudur on in between Avianashi road and Sulur railway station	Coimbatore	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1897	On Edayarpalayam road	Coimbatore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1898	On Krishna anicut road between SH 78 A and Zamin Uthukuli	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1899	Pachapalayam - Oriental Colony	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1900	Paduvampalli (On Annur - Thennampalayam road)	Coimbatore	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1901	Pallapalayam Between Trichy road and SH 163	Coimbatore	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Pooluvapatti to Govt. Higher Sec school, Alandurai	Coimbatore	Rural	48	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
1903	Press Colony Post , Not On NH	Coimbatore	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Rasipalayam	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Seerapalayam (On Bodipalayam Road)	Coimbatore	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Selakerichal (On Kalangal Road)	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Sethumadai on Athirapally road	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Sirumugai (Not on SH)	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1909	Thondamuthur - Madampatti	Coimbatore	Rural	48	Open	DC	20	14	280	12	30	Draw of Lots	5	4
	Vadakkalur - Lakkeypalayam (Othi Malai Road)	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Vadavally	Coimbatore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Valakkuparai on Kannamanaikanur road	Coimbatore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Vayampalayam Village	Coimbatore	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Venkitapuram Road (Between Chinniyampalayam to NH 47 L & T By-pass)	Coimbatore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Vilankurichi to Vellanaipatti	Coimbatore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Arasappapillaipatti	Dindigul	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Chinnalapatti town	Dindigul	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Devathur	Dindigul	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Nilakottai To Silukvarpatti	Dindigul	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	On Kolumam Road From Vayalur To Sankaramanallur	Dindigul	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1921	Pithalaipatti Perivu	Dindigul	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	Name of leasting			J III tile C	tate or ra	iiii itaaa	us per i	Oliowill	g actail.	J.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1922	Rajakapatti	Dindigul	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Sukkampatti	Dindigul	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1924	Atthappaplayam near Four Corner Ring Road	Erode	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1925	Bhavanisagar (not On SH)	Erode	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1926	Cheran Nagar on Rangapalyam village	Erode	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1927	Chittar to Kurichi	Erode	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1928	Dhoddampalayam	Erode	Rural	76	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1929	Ellapalyam not on NH & SH	Erode	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1930	Elumathur	Erode	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1931	From Nambiyur Bustand to Kuttagam on Kuttagam Nambiyur Road	Erode	Rural	54	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1932	7	Erode	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1933	From Perundalaiyur to Sri Mariyaman Temple on Perundalaiyur-Kavindapady- Getticheiyur Road	Erode	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1934	Gangapuram	Erode	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Guruvareddiyur	Erode	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Ingur Village Not on SH	Erode	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1937	Kalingarayanpalayam (on Bhavani-Kavundapadi Road)	Erode	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1938	Kallipatti (Kanagampalyam Pirivu)	Erode	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
	Kaspapettai not on SH	Erode	Rural	52	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Kavundapadi-Siruvalur Road (within 2 KM from Kavundpadi Junction)	Erode	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1941		Erode	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1941		Erode	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
_	Kuppandampalayam	Erode	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	(on Athani-Anthiyur Road)													
1944	Nambiyur-Kurumanthur road (within 2 KM from SH15A)	Erode	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1945	On Anthiyur Athani Road from Athani to Thoppur	Erode	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	On Anthiyur Vellitiruppur road from Alampalayam to Om Kaliamman Temple	Erode	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1947	On Gobichettipalayam Kallipatti Road between Kallipatti and Puthukadu	Erode	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

	IOCL proposes to ap	ponit Retail O		1	late or ra	IIIII Nada	us per i	Oliowill	g actail.	J.		ı	1	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
1948	On MDR 1045 Anthiyur Kollegal Road between Burgur and Thamaraikarai Forest Range Office	Erode	Rural	68	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1949	On MDR 150 Karattadipalayam to Bungalowpudur road	Erode	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	On MDR 679 between Komarapalayam village and PeriyaKodiveri Village	Erode	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1951	Periyapuliyur	Erode	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1952	Perunthalayur (on Appakudal-Kavundapadi Road)	Erode	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1953	Pudhukaraipudur	Erode	Rural	64	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1954	Puliampatti (on Nambiyur Road within 2 KM from NH-209)	Erode	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1955	Rangapalyam to Chennimalai Road on MDR 108 within 6 KM from Rangapalayam towards chennimalai	Erode	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1956	Salangapalayam Postoffice to Grace Matric Hr Secondary School on Bhavani Kavindapadi Road MDR 57	Erode	Rural	64	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1957	Seenapuram	Erode	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1958	Singanallur Village	Erode	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1959	Vanipudur (not On SH)	Erode	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1960	Velakethi	Erode	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1961	Vellode to Perundurai RS Road	Erode	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1962	Within 3Kms from Iragalur Masaniamman Temple towards Nambiyur on Kavilipalayam Nambiyur Road	Erode	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1963	Coonoor - Manjoor	Nilgiris	Rural	48	Open CC 1	DC	15	15	225	12	30	Draw of Lots	5	4
1964	Kattabettu - Thuneri	Nilgiris	Rural	48	OBC	DC	15	15	225	12	30	Draw of Lots	5	3
1965	A.Thirumurugan poondi	Tiruppur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1966	Allalapuram	Tiruppur	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1967	Avinashi To Pattarai (On Mdr 764 Sevur Road)	Tiruppur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1968	Between SKL public matriculation school to Thirumurugan Poondi (On Periyayeepalayam road)	Tiruppur	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1969	Ichipatti Not On SH	Tiruppur	Rural	50	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1970	Kalipalayam on MDR 908 (kallimandayam - Mulanur road)	Tiruppur	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1971	Kanniyampoondi	Tiruppur	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kethanur not on NH	Tiruppur	Rural	50	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4

No. Revenue District Type of Ro. Section Typ		None of leasting			3 III tile O	tate or ra	IIII Nada	as per i	Onowin	g actant	j.		ı	1	
Separate Separate	Sl. No	Name of location	Revenue District	Type of RO	monthly Sales	Category			a of the sit	•	arranged			Minimum	
1973 Kilangundal 1874 1974	1	2	3	4	5	6				8	9a	9b	10	11	12
1974 Koduval Road, from Ayyampalayam III Koduval GH				(Regular/Rur	al)	1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN		Frontage	Depth	Area	working capital requireme nt for operation of RO Rs. in	fund required for developme nt of infrastruct ure at RO	Lots/Bidding)	Rs. in Lakhs	1 1
1975 Koduwai, not on SH	1973	Kilangundal	Tiruppur	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1976 Kowlwach to Ayyampalayam on Prathamanthiri Road Tiruppur Rural 55 Open DC 20 20 400 12 30 Draw of Lots 5 4	1974	Koduvai Road, from Ayyampalayam till Koduvai GH	Tiruppur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1977 Kundadam to Perkypatti road	1975	Koduvai, not on SH	Tiruppur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1975 Marupatti Village On udumalpet -Munnar road	1976	Kovilvazhi to Ayyampalayam on Prathanmanthiri Road	Tiruppur	Rural		Open	DC			400	12	30	Draw of Lots	5	4
1979 Nachipalayam, not on NH			Tiruppur	Rural		OBC				400	12	30	Draw of Lots		3
1980 Olappalayam, not on NH			Tiruppur	Rural							1	30			
1981 On Ganapathipalayam Road From Tkt Mill Bus Stop To Kunnangalpalayam Road Tiruppur Rural 50 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 1982 On Stretch from Udumalpet to Pethappampatti, not on SH or NH Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 4 1983 On Udumalpet-korhumam Road, from Samarapetti to Komaralingam Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 4 1983 On Udumalpet-korhumam Road, from Samarapetti to Komaralingam Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1983 On Udumalpet-korhumam Road, from Samarapetti to Komaralingam Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1983 Paravai Tiruppur Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1988 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1988 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1988 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1988 Perisanampatati to Elayamuthur, inclusive of both villages Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 1988 Perisanampatati to Elayamuthur, inclusive of both villages Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 1988 Perisanampatri to Elayamuthur, inclusive of both villages Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1993 Perisanampatri to Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw o		, ,	Tiruppur												
Pirivu On RHS															
1983 On Udumalpet-Kozhumam Road, from Samarapetti to Komaralingam Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 4 1984 Palayakottal Tiruppur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 5 3 1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 55 OBC DC 20 20 400 12 30 Draw of Lots 5 4 4 1987 Poomalur Rural 55 OBC DC 20 20 400 12 30 Draw of Lots 5 4 1988 Pukkulam Not On SH Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1989 Samalapuram Not On SH Tiruppur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 5 4 1990 Semmandampalayam Road, stretch of 3 km from NH 81 junction Tiruppur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1991 Senjeriputhur(Not On NH), Udumalpet Bik Tiruppur Rural 50 SC CFS 20 20 400 12 30 Draw of Lots 0 2 1993 Thandukrarmpalayam To Sevur Roundana Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekklur Not On NH Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekklur Not On NH Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekklur Not On NH Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekklur Not On NH Tiruppur Rural 50 Open DC 20 20 400 0 Op	1981	_ , , , ,	Tiruppur	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1984 Palayakottai	1982	On stretch from Udumalpet to Pethappampatti, not on SH or NH	Tiruppur	Rural	50	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1985 Paruvai 1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 4	1983	On Udumalpet-Kozhumam Road, from Samarapetti to Komaralingam	Tiruppur	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1986 Perisanampatti to Elayamuthur, inclusive of both villages Tiruppur Rural 60 Open DC 20 20 400 12 30 Draw of Lots 5 4 1987 Poomalur Struppur Rural 55 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1988 Pukkulam Struppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1989 Samalapuram Not On SH Tiruppur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1990 Semmandampalayam Road, stretch of 3 km from NH 81 junction Tiruppur Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1991 Senjeriputhur(Not On NH), Udumalpet Blk Tiruppur Rural 55 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1992 Tea Public School To Devampalayam(Palangarai Village) Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1993 Thandukarampalayam To Sevur Roundana Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekkalur Not On NH Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1995 Valayipalayam RS to Kanniyampoondi pirivu Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1995 Valayipalayam RS to Kanniyampoondi pirivu Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1996 Velayudampalayam Village not on SH Tiruppur Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1997 Alanchy To Midalam Kanyakumari Rural 46 SC CFS 20 20 400 0 Draw of Lots 5 3 1998 Alannjolai Sanyakumari Rural 46 SC CFS 20 20 400 0 Draw of Lots 5 3 1999 Ammandivaliai Post To Muttam Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2001 Edaicode To Melpuram Jn Sanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eran	1984	Palayakottai	Tiruppur	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1987 Poomalur	1985	Paruvai	Tiruppur	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1988 Pukkulam			Tiruppur	Rural							12		Draw of Lots		
1989 Samalapuram Not On SH			- ' '	1	 									_	
1990 Semmandampalayam Road, stretch of 3 km from NH 81 junction Tiruppur Rural 50 SC CFS 20 20 400 0 D Draw of Lots 0 2 1991 Senjeriputhur(Not On NH), Udumalpet Blk Tiruppur Rural 55 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1992 Tea Public School To Devampalayam(Palangarai Village) Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1993 Thandukarampalayam To Sevur Roundana Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekkalur Not On NH Tiruppur Rural 50 Open DC 20 20 400 0 0 Draw of Lots 5 4 1995 Vanjipalayam RS to Kanniyampondi pirivu Tiruppur Rural 50 Open DC 20 20 400 <			- ' '	1	 						1				
1991 Senjeriputhur(Not On NH), Udumalpet Blk				1											
Tea Public School To Devampalayam(Palangarai Village)															
1993 Thandukarampalayam To Sevur Roundana Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1994 Thekkalur Not On NH Tiruppur Rural 50 SC CFS 20 20 400 0 Draw of Lots 0 2 1995 Vanjipalayam RS to Kanniyampoondi pirivu Tiruppur Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 1996 Velayudampalayam Village not on SH Tiruppur Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 4 1997 Alanchy To Midalam Kanyakumari Rural 46 SC CFS 20 20 400 0 0 Draw of Lots 5 3 1998 Alanjolai Kanyakumari Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5															
1994 Thekkalur Not On NH		1 / 1 0 01	- ' '			-									
1995 Vanjipalayam RS to Kanniyampoondi pirivu Tiruppur Rural 50 Open DC 20 400 12 30 Draw of Lots 5 4 1996 Velayudampalayam Village not on SH Tiruppur Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1997 Alanchy To Midalam Kanyakumari Rural 46 SC CFS 20 20 400 0 0 Draw of Lots 0 2 1998 Alanjolai Kanyakumari Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1999 Ammandivailai Post To Muttam Kanyakumari Rural 46 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2001 Edaicode To Melpuram In Kanyakumari Rural 46 OBC DC 20 20 40		· '				-					1				
1996 Velayudampalayam Village not on SH	_														
1997 Alanchy To Midalam Kanyakumari Rural 46 SC CFS 20 20 400 0 Draw of Lots 0 2 1998 Alanjolai Kanyakumari Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1999 Ammandivailai Post To Muttam Kanyakumari Rural 46 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2000 Asaripallam to Paiyodu jn Kanyakumari Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2001 Edaicode To Melpuram Jn Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5							_								
1998 Alanjolai Kanyakumari Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 1999 Ammandivailai Post To Muttam Kanyakumari Rural 46 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2000 Asaripallam to Paiyodu jn Kanyakumari Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2001 Edaicode To Melpuram Jn Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5 3		, , , ,													
1999 Ammandivailai Post To Muttam Kanyakumari Rural 46 SC CFS 20 20 400 0 Draw of Lots 0 2 2000 Asaripallam to Paiyodu jn Kanyakumari Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2001 Edaicode To Melpuram Jn Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5 3	_		_									_			
2000 Asaripallam to Paiyodu jn Kanyakumari Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2001 Edaicode To Melpuram Jn Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5 4	_														
2001 Edaicode To Melpuram Jn Kanyakumari Rural 46 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5 4			-												
2002 Eraniel To Thucklay (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 20 400 12 30 Draw of Lots 5 4	_	, , ,													
			-												_
2003 Gandhipuram To Madusoothanapuram (Outside Muncipal Limits) Kanyakumari Rural 46 Open DC 20 400 12 30 Draw of Lots 5 4		Gandhipuram To Madusoothanapuram (Outside Muncipal Limits)	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

	Name of location			<u> </u>			<u> p</u>		9	i i			1	
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *		Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2004	Kaliakkavilai To Nadaikavu	Kanyakumari	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2005	Kalliyankadu To Alamparai	Kanyakumari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Kandanvilai To Manakkarai Post Office	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2007	Kandanvilai To Pallichanvilai	Kanyakumari	Rural	52	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2008	Kannanagam Jn To Marthandathurai Jn Bustop	Kanyakumari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2009	Kavalsalam (Kulasekharam)To Chitramcode Road	Kanyakumari	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kozhiporuvilla To Thuckalay (Outside Muncipal Limits)	Kanyakumari	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2011	Kumarankudi	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2012	Kurumpanai	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2013	Kuzhuthurai To Melpuram (Outside Muncipality Limits)	Kanyakumari	Rural	36	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2014	Leepuram	Kanyakumari	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Manjalamoodu	Kanyakumari	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Marthandam-Melpuram Road (Outside Muncipal Limits)	Kanyakumari	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Melmidalam	Kanyakumari	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Melpuram-Kuzhithurai Road (Outside Muncipal Limits)	Kanyakumari	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Midalam	Kanyakumari	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Mulagamodu To Palliyadi	Kanyakumari	Rural	52	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2021	Muttaikadu To Mekhyamandapam Oorambu Jn To Choozhal Jn	Kanyakumari	Rural Rural	52 46	OBC CC 1	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
2022	Palliyadi Jn Bustop To Karungal (LHS)	Kanyakumari	Rural	46	Open SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Palliyadi Jn Bustop To Karungal (RHS)	Kanyakumari Kanyakumari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2024	Paloor To Tozhicodu Jn	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pampanvilai To Payodu Jn	Kanyakumari	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2020	Ponmanai	Kanyakumari	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Punkarai To Thicknamcode	Kanyakumari	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Samithoppu	Kanyakumari	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Thengamputhoor To Puthalam	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2031	Thenganiputinosi To Tuchicodu	Kanyakumari	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Thirunainarkurichi	Kanyakumari	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2033	Thukclay to Eraniel Road (Outside Muncipal Limits)	Kanyakumari	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2034	Vallavilai	Kanyakumari	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2035	Vazhukamparai Jn To Anjugramam	Kanyakumari	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

State Stat		Name of location						<u> p</u>		9	1				
Regular/Rural SCSC CC CCT CCT Foretage Depth Area Comment Stemated Carta	SI. No	Name of location			monthly Sales Potential #		Site*	l	a of the si	te (in Sq.	arranged	by the	Selection	Minimum Bid amount	Deposit
CLSP Section Company Company	1	2	3							8		9b	10	11	12
2037 Alaganallur to Vadipatt Madural Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 5 4				(Regular/Rura		1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		J	·		working capital requireme nt for operation of RO Rs. in Lakhs	fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	Lots/Bidding)		Lakhs
2038 alanganallur to sembukudapattipatti cross _KSK' Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2040 2030 Chettludaria Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2040 2030 Chettludaria Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 2041 Jahindpuram Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2040 2041 Alanga	2036	Alaganallur To Omachikulam	Madurai	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2020 Chetikulam	2037	Alaganallur to Vadipatti	Madurai	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2040 Elimbali Madurai Rural 50 OBC DC 20 400 12 30 Draw of Lots 5 3 3 2042 Allikudit or T kallupatti Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 4 4 4 4 4 4 4 4		0 1 1	Madurai	Rural		Open				400	12	30	Draw of Lots	5	4
2041 Malurari Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4										-					
2042 Kalikudi to T Kaliupatti Madurai Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2															
2043 Kelavalavu		,							_						
Madurai Rural S0 Open DC 20 20 400 12 30 Draw of Lots S 4	_											_			
2045 Mangalrem Madurai Rural 50 OBC DC 20 20 400 12 30 Draw of Lots 5 3 3 2046 Mangalrem Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 4 4 4 4 4 4 4 4												_			
2046 Mangalrevu	_														
2047 Milakaranai to Alaganalur Madurai Rural 50 SC PH CFS 20 20 400 0 0 0 Draw of Lots 0 2 2 2048 Palamedu to Vadipatti Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 2 2 2 2 2 2 2 2															
2048 Palamedu to Vadipatti Palamedu to Vadipati Pala								_							
2049 Panagal Road, Kallupatti-Maravapatty Road Madurai Rural S0 Open DC 20 20 400 12 30 Draw of Lots 5 4											_				
2050 Perummalpatti Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2051 Porusupatti To Kidaripatti Madurai Rural S0 OBC DC 20 20 400 12 30 Draw of Lots 5 3 3 2052 Sholavandan Madurai Rural S0 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2						· ·									
2052 Sholavandan Madurai Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2						_									
2053 Tirumangalam To Usilampatti Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2054 Tiruvadavur Madurai Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4												_			
State Stat															
2056 Alagankulam Ramanathapuram Rural 50 SC CFS 20 20 400 0 Draw of Lots 0 2 2057 Anandur (on Alavidangan road) Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2058 Athiyuthu to Chittrakottai Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2059 Emaneshwaram to Andakudi Vilaku Ramanathapuram Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2060 Mookkaiyur Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5															
2057 Anandur (on Alavidangan road) Ramanathapuram Rural 50 Open DC 20 400 12 30 Draw of Lots 5 4 2058 Athiyuthu to Chittrakottai Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2059 Emaneshwaram to Andakudi Vilaku Ramanathapuram Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2060 Mookkaiyur Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 4 2062 Periapattinam Ramanathapuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5															
2058 Athiyuthu to Chittrakottai Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2059 Emaneshwaram to Andakudi Vilaku Ramanathapuram Rural 36 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2060 Mookkaiyur Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2062 Periapattinam Ramanathapuram Rural 48 OSC CFS 20 20 400 0 0 Draw of Lots 5 3 2063 Pudumadam Rural 48 SC CFS 20 20 400 12	2056	Alagankulam												 	
2059 Emaneshwaram to Andakudi Vilaku Ramanathapuram Rural 36 SC CFS 20 20 400 0 Draw of Lots 0 2 2060 Mookkaiyur Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2062 Periapattinam Ramanathapuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5 3 2063 Pudumadam Rural 52 Open CC1 DC 20 20 400 0 0 Draw of Lots 5 3 2064 Theriruveli Ramanathapuram Rural 48 Open CC1 DC 20 20 400 12 30 <td< td=""><td></td><td></td><td>· · · · · · · · · · · · · · · · · · ·</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>			· · · · · · · · · · · · · · · · · · ·												
2060 Mookkaiyur Ramanathapuram Rural 50 Open DC 20 20 400 12 30 Draw of Lots 5 4 2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2062 Periapattinam Ramanathapuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2063 Pudumadam Ramanathapuram Rural 52 Open CC1 DC 20 20 400 0 0 Draw of Lots 5 4 2064 Theiruveli Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2065 Thinaikulam(Not On NH) Ramanathapuram Rural 48 Open DC 20 20 400 <td< td=""><td></td><td>,</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>		,													
2061 Orur to Velliapuram Ramanathapuram Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2062 Periapattinam Ramanathapuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2063 Pudumadam Ramanathapuram Rural 52 Open CC1 DC 20 20 400 12 30 Draw of Lots 5 4 2064 Theriruveli Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2065 Thinaikulam(Not On NH) Ramanathapuram Rural 52 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5								_							
2062 Periapattinam Ramanathapuram Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2063 Pudumadam Ramanathapuram Rural 52 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2064 Theiruveli Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2065 Thinaikulam(Not On NH) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3 2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3	-	,													
2063 Pudumadam Rural 52 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2064 Theiruveli Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2065 Thinaikulam(Not On NH) Ramanathapuram Rural 52 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3															
2064 Theriruveli Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2065 Thinaikulam(Not On NH) Ramanathapuram Rural 52 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4												-		<u> </u>	
2065 Thinaikulam(Not On NH) Ramanathapuram Rural 52 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2066 Tiruvadanai (On Oriyur road) Ramanathapuram Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															
			· ·												
ZVOZIVAZNANANU IKAMANAMAMI IKUTALI ZZI I UNEN I IZU I ZU I ZU I ZU I ZU I ZU I ZU I			Ramanathapuram	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4

Si. No	Fixed Fee / Minimum Bid amount 11
Comparison Com	Rs. in Lakhs Rs. in Lakh: 0 2 5 4 5 4 5 3 5 4 5 4 5 4
1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/ST PH/OBC/OBC CC 1/ST PH/OBC/OBC CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN C	0 2 5 4 5 4 5 3 5 4 5 4
2069 Allinagaram Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots 2070 Athangudi Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots 2071 Ayyampatti (On Vandal road) Sivaganga Rural 52 OBC DC 20 20 400 12 30 Draw of Lots 2072 Iluppakudi Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots 2073 Kanadukathan Sivaganga Rural 52 Open DC 20 20 400 12 30 Draw of Lots 2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC 1 CFS 20 20 400 0 0 Draw of Lots	5 4 5 4 5 3 5 4 5 4
2070 Athangudi Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots 2071 Ayyampatti (On Vandal road) Sivaganga Rural 52 OBC DC 20 400 12 30 Draw of Lots 2072 Iluppakudi Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots 2073 Kanadukathan Sivaganga Rural 52 Open DC 20 20 400 12 30 Draw of Lots 2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC 1 CFS 20 20 400 0 0 Draw of Lots	5 4 5 3 5 4 5 4
2071 Ayyampatti (On Vandal road) Sivaganga Rural 52 OBC DC 20 400 12 30 Draw of Lots 2072 Iluppakudi Sivaganga Rural 48 Open DC 20 400 12 30 Draw of Lots 2073 Kanadukathan Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots 2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC 1 CFS 20 400 0 0 Draw of Lots	5 3 5 4 5 4
2072 Iluppakudi Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots 2073 Kanadukathan Sivaganga Rural 52 Open DC 20 20 400 12 30 Draw of Lots 2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC 1 CFS 20 20 400 0 0 Draw of Lots	5 4 5 4
2073 Kanadukathan Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots 2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC1 CFS 20 20 400 0 0 Draw of Lots	5 4
2074 Kottaiyur to Pallathur Sivaganga Rural 48 SC CC 1 CFS 20 20 400 0 0 Draw of Lots	
	0 2
2075 Nattarasankottai Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots	5 4
2076 Okkur to Melur Road Sivaganga Rural 52 OBC CC 1 DC 20 20 400 12 30 Draw of Lots	5 3
2077 Paiyur Pillaivayal Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots	5 4
2078 Sarugani (on Devakottai Road). Sivaganga Rural 52 Open DC 20 400 12 30 Draw of Lots	5 4
2079 Sirugapatti Village Sivaganga Rural 48 Open DC 20 20 400 12 30 Draw of Lots	5 4
2080 Thiruvagambathur(Not on Highway) Sivaganga Rural 52 Open PH DC 20 400 12 30 Draw of Lots	5 4
2081 Veliyathur Sivaganga Rural 48 SC CFS 20 400 0 0 Draw of Lots	0 2
2082 Bhoothipuram Road between Gopikrishna theatre and Bhoothipuram Theni Rural 52 OBC DC 20 400 12 30 Draw of Lots	5 3
2083 Andipatti to Vaigai Dam Theni Rural 50 Open DC 20 400 12 30 Draw of Lots	5 4
2084 Annanji Vilaku to Ammapuram Theni Rural 52 OBC DC 20 400 12 30 Draw of Lots	5 3
2085 Appipatti Theni Rural 50 SC CFS 20 20 400 0 0 Draw of Lots	0 2
2086 Aramanaipudur to Nagalapuram Theni Rural 50 Open DC 20 20 400 12 30 Draw of Lots	5 4
2087 Chinnamannur town to Odaipatti Rd Theni Rural 52 Open DC 20 20 400 12 30 Draw of Lots	5 4
2088 Jambliputhur Theni Rural 52 Open DC 20 20 400 12 30 Draw of Lots	5 4
2089 Jeyamangalam Theni Rural 50 OBC DC 20 20 400 12 30 Draw of Lots	5 3
2090 Markayankottai To Sankarapuram Theni Rural 50 SC CFS 20 20 400 0 0 Draw of Lots 2091 Thamaraikulam Theni Rural 36 Open DC 20 400 12 30 Draw of Lots	0 <u>2</u> 5 4
	5 4
2092 Aladipatti Tirunelveli Rural 50 Open CC 1 DC 20 20 400 12 30 Draw of Lots 2093 Alagipandiyapuram Tirunelveli Rural 50 OBC DC 20 20 400 12 30 Draw of Lots	5 3
2094 Ayikudi-Tenkasi Road Tirunelveli Rural 50 Open DC 20 20 400 12 30 Draw of Lots	5 4
2095 Kadayanallur to Sernthamaram road Tirunelveli Rural 50 Open DC 20 20 400 12 30 Draw of Lots	5 4
2095 Kadayariahiti to Serintiania ahir Todu 12 30 Diaw of Lots 2096 Keela Surandai 50 SC CFS 20 20 400 0 0 Draw of Lots	0 2
2097 Mayamankurichi Rural 48 Open DC 20 20 400 12 30 Draw of Lots	5 4
2098 Rayagiri Tirunelveli Rural 50 Open DC 20 20 400 12 30 Draw of Lots	5 4
2099 Rayagiri to Viswanathaperi Tirunelveli Rural 50 SC CFS 20 20 400 0 0 Draw of Lots	0 2

	Name of location			<u> </u>			<u> p</u>		9	i i			1	т —
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2100	Sernthamaram-Idaikal	Tirunelveli	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2101	Surandai to Anaikulam	Tirunelveli	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2102	Veeranam	Tirunelveli	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Akkanayakkanpatti	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Authoor to Sernthamangalam	Tuticorin	Rural	36	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Chettikurichi	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2106		Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Iluppaiyoorani Not On Municipal Limit	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2108	Kamanayakampatti	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Karungulam	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Katchanavilai	Tuticorin	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kayathar	Tuticorin	Rural	40	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kootampuli	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kurumbur	Tuticorin	Rural	40	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Maniyachi Manthithoppu Not On Municipal Limit	Tuticorin	Rural	40 40	Open	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots	5 5	4
	Mantnitnoppu Not On Municipal Limit Megnapuram	Tuticorin Tuticorin	Rural Rural	40	Open SC	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	2
	Mudalur	Tuticorin	Rural	36	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Nazreath Not On SH	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Panavarmangalam	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pasuvanthanai	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Puchikadu	Tuticorin	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pudiamputhur (Ottapitram-Thattaparai Road)	Tuticorin	Rural	36	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Sathankulam Not On SH	Tuticorin	Rural	40	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Seythunganallur Not On SH	Tuticorin	Rural	40	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Srivaikundam (not on SH)	Tuticorin	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Tannuthu	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2127	Thattaparai	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Therku Silukkanpatti	Tuticorin	Rural	40	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2129	Thuraiyoor	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Udankudi Not On SH	Tuticorin	Rural	40	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2131	Umerikadu	Tuticorin	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4

	Name of location		1	<u> </u>			<u> p</u>		9	i i				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
2132	Vanaramutti	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Vellamadam	Tuticorin	Rural	40	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Vembar	Tuticorin	Rural	40	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Ayan kollankondan to Zameen Kollankondan	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	E.Kumaralingapuram	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Elayirampannai To Sankarapandiapuram within 2 Kms	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Gopalapuram to Watrap	Virudhunagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Inam Kovilpatti	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Mamsapuram	Virudhunagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2141	Nathathupatti to Irrukankudi	Virudhunagar	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Palayampatti	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pandalgudi	Virudhunagar	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Puddukottai to Erichanatham	Virudhunagar	Rural	46	SC	CFS	20	20	400	0	30	Draw of Lots	5	3
	Rajapalayam Town on Ayyanarkovil Road	Virudhunagar Virudhunagar	Rural Rural	46 46	OBC Open	DC	20 20	20 20	400 400	12 12	30	Draw of Lots Draw of Lots	5	4
	Sengamala Nachiar Puram Road Sevalpatti to PSR Engineering College	Virudhunagar	Rural	46	Open	DC DC	20	20	400	12	30	Draw of Lots	5	4
	Thalvaipurm To Tenkasi Road Junction (Nh208) Vilakku Not On NH On SH	Virudhunagar	Rural	36	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2149	Thammanayakanpatti to RR Nagar	Virudhunagar	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2150	Thirutanagal to Alamarathupatti	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Uppligundu	Virudhunagar	Rural	36	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2152	Vanniyampatti Vilakku	Virudhunagar	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Veeracholan	Virudhunagar	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Venkatachalapuram to Sindhapalli within 2 kms	Virudhunagar	Rural	46	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
	Adhikarapatti	Dharmapuri	Rural	79	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Ajjanahally (on Pennagaram to Eryiur Road)	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Alambadi	Dharmapuri	Rural	82	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Annamalaihalli	Dharmapuri	Rural	46	SC CC 1	CFS	25	25	625	0	0	Draw of Lots	0	2
	Annasagaram	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Bairnaickenpatti	Dharmapuri	Rural	90	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Bannihalli	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
2162	Begarahalli	Dharmapuri	Rural	46	SC	CFS	25	25	625	0	0	Draw of Lots	0	2

	Name of location		1	1	1		<u> p</u>		9	i i			1	
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
2163	Belrampatti Koot Road	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2164	Bommidi to Deevattipatti Road	Dharmapuri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Buddiredipatti	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2166	Chinnampally	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Dodratanahalli to Kaveripatnam	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Hanumanthapuram	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Hanumantheertham on Theerthamalai Road	Dharmapuri	Rural	46	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Hogganakkal On Anchetti Road	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Hogganakkal On Sigarahalli Road	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Jarugu	Dharmapuri	Rural	46	Open CC 1	DC	25	25	625	12	30	Draw of Lots	5	4
	Kambainallur to Annamalaipatti	Dharmapuri	Rural	46	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Laligam	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Maniyambadi	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Morappur To Annamalaipatti	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Mukkalnaickenpatti	Dharmapuri	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Neruppur	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Papichettipatti	Dharmapuri	Rural	54	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Pappireddipatti to B.Mallapuram	Dharmapuri	Rural	79	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pappireddipatti to Samiapuram X Road (Not on SH)	Dharmapuri	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Parayapatti	Dharmapuri	Rural	79	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pauparapatti to Kadagathur Koot Road (MDR Road)	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2184	periyanahalli not on NH	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Periyar nagar to Harur three road junction	Dharmapuri	Rural	97	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Pudinattam	Dharmapuri	Rural	94	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Radahalli on Bommidi to Dharmapuri Road	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Ramamurthy Nagar on Bommidi	Dharmapuri	Rural	46	OBC	DC	25 25	25	625	12	30	Draw of Lots	5	3
	Ramiyampatti	Dharmapuri	Rural	46	Open	DC		25	625	12	30	Draw of Lots	5	4
2190	Samichettipatti	Dharmapuri	Rural	46	OBC PH	DC	25	25	625	12	30	Draw of Lots	5	3
	Sellamudi , Both LHS & RHS (ODR Road Eriyur to Mecheri Road)	Dharmapuri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	2
	Sikkampatti	Dharmapuri	Rural	46	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	
	Thalanatham Thanaur not on NIII	Dharmapuri	Rural	46 46	Open	DC DC	25 25	25 25	625 625	12 12	30 30	Draw of Lots	5	4
2194	Thoppur not on NH	Dharmapuri	Rural	46	Open	ו טכ	25	25	625	12	30	Draw of Lots	5	4

	Name of location		1		1		· • • · · ·			1				
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2195	Velakalahalli(marandhalli to velichandai road)	Dharmapuri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Audichettipalayam	Karur	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Chintalavadi	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kombupalayam	Karur	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Lalapet	Karur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Neithalur	Karur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2201	Nerur	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Noyyal Kurukusalai	Karur	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Paganatham	Karur	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pallapatti (Not On SH)	Karur	Rural	54	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Panchamadevikalipalayam	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2206	Pillapalayam	Karur	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Pothuravuthanpatti	Karur	Rural	56	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Punchaipugalur	Karur	Rural	56 56	Open CC 1	DC	20	20 20	400 400	12 12	30 30	Draw of Lots	5 5	3
	R T Malai Rajapuram	Karur	Rural	65	OBC SC	DC CFS	20 20	20	400	0	0	Draw of Lots	0	2
	Thennilai	Karur Karur	Rural Rural	50	Open	DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	4
	Thirukamuliyur	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Thogamalai (Not On NH/SH)	Karur	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Thondamanginam	Karur	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Udayapatti	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Vadugapatty (near Panchpatti)	Karur	Rural	56	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Anandur	Krishnagiri	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Andevanapalli	Krishnagiri	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Anniyalam	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Arasampatti	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2221	Bairamangalam	Krishnagiri	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2222	Banganatham On SHoolagiri To Udanapalli Road	Krishnagiri	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Barur	Krishnagiri	Rural	46	Open PH	DC	25	25	625	12	30	Draw of Lots	5	4
2224	Beerjepalli	Krishnagiri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Begepalli	Krishnagiri	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2226	Berigai On Masthi Road	Krishnagiri	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	Name of location			<u> </u>			<u> p</u>		9	i i		l		т —
SI. No	ivalile of location		Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2227	Beruhalli	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2228	Govindaagraharam	Krishnagiri	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2229	Guddur	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Gumalapuram	Krishnagiri	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Jagadevi	Krishnagiri	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Jonabonada	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2233	Kakkadasam Not On SH	Krishnagiri	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kalguddapatti	Krishnagiri	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2235	Kanandahalli Koot Road	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Karakuppam	Krishnagiri	Rural	46	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2237	Kaveripatnam to Santhur Road	Krishnagiri	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kodiyalam	Krishnagiri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Kollapally	Krishnagiri	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	KothakriSHnapalli	Krishnagiri	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kouthalam	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kulloor	Krishnagiri	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3 2
	Mallapadi To Jagadevi Marudheri	Krishnagiri	Rural	50 46	SC	CFS	20 25	20	400	0 12	0	Draw of Lots	5	4
	Mugaloor	Krishnagiri Krishnagiri	Rural Rural	50	Open Open	DC DC	25	25 20	625 400	12	30 30	Draw of Lots Draw of Lots	5	4
	Nagamangalam	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nallur Village On Kgf Road	Krishnagiri	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Nandhimangalam	Krishnagiri	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Natrampalayam	Krishnagiri	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nedungal	Krishnagiri	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nerigam	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nochipatti	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Padavanoor gate	Krishnagiri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
2254	Paiyur not on NH	Krishnagiri	Rural	46	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Periyaputhur On Krp Dam Road	Krishnagiri	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Samalpatti not on NH	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Samalpatti to Nagaram	Krishnagiri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Samanapalli On SHoolagiri To Udanapalli Road	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4

	Name of location			<u> </u>			<u> p</u>		9	i i			1	т —
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *		Finance to arranged applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
2259	Sandanapalli	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Sellampatti	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Seshurajapuram	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Sevaganapalli	Krishnagiri	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Sevvampatti not on SH	Krishnagiri	Rural	46	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Singarapettai not on NH	krishnagiri	Rural	46	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Theertham Village	Krishnagiri	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Unisenatham	Krishnagiri	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Veruppasandiram	Krishnagiri	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Anangur to Devanakurichi	Namakkal	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Andipalayam	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Ariyagoundanpatti	Namakkal	Rural	50	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Belkurichi to Namagiripettai on MDR	Namakkal	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Kabilarmalai	Namakkal	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Karaikurichi	Namakkal	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kattanachampatti	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Keerambur Village	Namakkal	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Komarapalayam To Edapadi Road	Namakkal	Rural	54 50	Open	DC	20	20	400 400	12	30	Draw of Lots	5 5	3
2277	Kondamanayakkanpatti	Namakkal	Rural	60	OBC	DC CFS	20 20	20 20		12 0	30	Draw of Lots	0	2
	Manapalli (Between Coop Sugar Mill And Palapatti) Masakalipatti	Namakkal Namakkal	Rural Rural	50	SC Open	DC	20	20	400 400	12	30	Draw of Lots Draw of Lots	5	4
	Mullukurichi	Namakkal	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Musalnaickenpalayam	Namakkal	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nachipudur	Namakkal	Rural	70	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Navani	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2284	Oruvandur	Namakkal	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
2285	Pachal	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Palayapalayam	Namakkal	Rural	50	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2287	Parali	Namakkal	Rural	50	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
2288	Pavithram(Not On SH)	Namakkal	Rural	52	Open	DC	20	20	400	12	30	Draw of Lots	5	4
_	Perunkuruchi	Namakkal	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Pillanallur To Gurusamipalayam	Namakkal	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

	Name of location		1	T	1	mada	uo po	0011	gaotani	1			I	
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimen a of the si M.). *		Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2291	Piranthagam	Namakkal	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2292	Ponparapipatti(Mallur To Venandur)	Namakkal	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Pudukottai	Namakkal	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	R P Pudur(Gandhipuram To Karavalli)	Namakkal	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	R Pudupatti	Namakkal	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	S Kondalam	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Seventhipatti	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	T.Goundampalayam	Namakkal	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Thimmanaickenpatti	Namakkal	Rural	56	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Tholur	Namakkal	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2301	Thondipatti	Namakkal	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Thottiyapalayam	Namakkal	Rural	50	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Tiruchengode To Molasi road on MDR	Namakkal	Rural	61	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Vaiyappamalai To Periyamanali	Namakkal Namakkal	Rural	56 50	SC	CFS DC	20 20	20 20	400 400	0 12	0 30	Draw of Lots	5	2
	Vaiyyappamalai to Mallasamudram on MDR 858 Vennadur	Namakkal	Rural Rural	54	Open Open	DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	4
	Alamarathupatti	Salem	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Anayampatti	Salem	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Avadathur	Salem	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2310		Salem	Rural	70	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Balbakki	Salem	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Chinnammapet	Salem	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Chinnathirupathi To Jodukuli Road	Salem	Rural	46	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
2314	Chinnathirupathi to Karuvalli	Salem	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
2315	Chinthamaniyur To Thaliyariyur	Salem	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Dasinayakkanpatti	Salem	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2317	From Chinnappampatti towards Jalakandapuram (With in 1 Km from Chinnappampatti)	Salem	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2318	From Jalakandapuram towards Tharamanagalam (With in 1 Km from Jalakandapuram)	Salem	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2319	From Kakapalayam NH Jn towards illampillai (not on NH) within 1 km	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
												2 2. 2505		

	Name of location		1	T t U	Tuto or ru	l l	uo po	0011	gaotan	1				
SI. No	ivalile of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	•	Finance to arranged applicant	hy the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2320	From Muthunaickenpatti towards Tharamangalam (With in 1 Km from Muthunaickenpatti)	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2321	From Poolampatti towards Koneripatti (With in 1 Km from Poolampatti)	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2322	From Poolampatti Towards Mettur (With In 1 Km From Mettur)	Salem	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2323	From Tholasampatty towards Tharamangalam (With in 1 Km from Tholasampatty)	Salem	Rural	55	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2324	From Vaigundam towards kalipatti (With in 1 Km from Kalipatti)	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2325	From Vaigundam Towards Konganapuram (With In 1 Km From Vaigundam Not On Nh)	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2326	Gonur	Salem	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2327	Gundikkal	Salem	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2328	Kadiyampatti- Lokur	Salem	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2329	Kalkudalpatti in Eranahalli Panchayat	Salem	Rural	60	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
2330	Kallanatham	Salem	Rural	54	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2331	Kalleripatti	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2332	Kalliamman Temple to Ayodhiyapattinam Panchayat Union Elementary School	Salem	Rural	82	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kamalapuram to Tinnapatty	Salem	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kannankurichi	Salem	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Karumandurai	Salem	Rural	66	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Karuppur To Sengaradu	Salem	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kattukottai (Not On NH)	Salem	Rural	54	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Keeripatti	Salem	Rural	50	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Mallur (Not On Nh)	Salem	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Muthunaikkanpatty To Omalur Road	Salem	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nagiampatti	Salem	Rural	57	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
	Narasingapuram	Salem	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
_	Nirmullikuttai	Salem	Rural	66	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Oonathur	Salem	Rural	54	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Oruvapatti Pirivu Road between Poolampatti to Chettimangurichi	Salem	Rural	55	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Paalikadai-Semandapatti Palayur (Salam ta Muthanaiskannatti)	Salem	Rural	46 60	Open	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots	5 5	4
234/	Palayur (Salem to Muthanaickenpatti)	Salem	Rural	J 60	Open	ן טכ		<u> 20</u>	400	12	J 3U	Draw of Lots	5	4

Sign No Revenue District Type of RO Site Type of Site		Name of location			I					J	Ī				
Regular/Rural Security Sec	SI. No		Revenue District	Type of RO	monthly Sales	Category		l	a of the si		arranged		1	Minimum	Security Deposit
September Sept	1	2	3	4	5					8		9b	10	11	12
2349 Pannapatty Point Pannapatty Point Pannapatty Point Pannapatty Point Pannapatty Point Pannapatty Point Pannapatty Pannapatty Point Pannapatty Pannap						1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		J	·		working capital requireme nt for operation of RO Rs. in Lakhs	fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	Lots/Bidding)		Rs. in Lakhs
Salem	2348	Panamarathupatti- Vellalagundam	Salem	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
Salem Rural S4 Open DC 20 20 400 12 30 Draw of Lots S 4			Salem	Rural		SC				400		0	Draw of Lots	0	2
Salem Rural 54 Open DC 20 20 400 12 30 Draw of Lots 5 4 2353 Pontanur Salem Rural 54 OBC DC 20 20 400 12 30 Draw of Lots 5 3 3 3 3 3 3 3 3 3															+
Salem Rural 54 OBC DC 20 20 400 12 30 Draw of Lots 5 3 3 3 3 3 3 3 3 3						-				-					4
Pottliapuram On Kamalapuram To Thinnapatti Road Salem Rural 46 SC CFS 20 20 400 0 0 0 Draw of Lots 0 2 2355 Sarkar Nattamangalam Salem Rural 54 Open DC 20 20 400 12 30 Draw of Lots 5 4 4 4 4 4 4 4 4 4	_														
Salem Rural Salem Salem Rural Salem Rural Salem Salem Rural Salem Salem Salem Rural Salem Salem Salem Salem Salem Salem Salem Sale									_		1				+
Salem Rural Salem Salem Rural Salem Sale		· · · · · · · · · · · · · · · · · · ·													2
Salem Rural 46 Open C.1 DC 20 20 400 12 30 Draw of Lots 5 4															+
Salem															
Salem Rural S2 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2															
Salem Rural 54 Open DC 20 20 400 12 30 Draw of Lots 5 4								_							
2361 Thumbalpatti												_			
2362 Vadakumarai Salem Rural 54 Open DC 20 20 400 12 30 Draw of Lots 5 4 2363 Valasaiyur Main Road(Pallipatti) Salem Rural 54 Open DC 20 20 400 12 30 Draw of Lots 5 4 2364 Vellalagundam Salem Rural 54 SC CFS 20 20 400 12 30 Draw of Lots 5 4 2365 Elaiyur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2366 Kallankurichi Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2367 Kolathur Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2368 Rasulpuram Road Ariyalur Rural 48 Open DC 20 20 400 0 0 Draw of Lots 5 4 2369 Rayampuram to Sennivanam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2369 Rayampuram to Sennivanam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2370 Sathamanagalam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3 2371 Sendurai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 3 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC											.				
Salem Rural S4 Open DC 20 20 400 12 30 Draw of Lots 5 4															
Salem Rural 54 SC CFS 20 20 400 0 0 Draw of Lots 0 2															+
2365 Elaiyur						_									+
2366 Kallankurichi Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2367 Kolathur Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2368 Rasulpuram Road Ariyalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2369 Rayampuram to Sennivanam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2370 Sathamanagalam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2371 Sendurai Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4<															
2368 Rasulpuram Road Ariyalur Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2 2369 Rayampuram to Sennivanam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2370 Sathamanagalam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2371 Sendurai Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozbanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5															+
2369 Rayampuram to Sennivanam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2370 Sathamanagalam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2371 Sendurai Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 4 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5															
2370 Sathamanagalam Ariyalur Rural 48 OBC DC 20 400 12 30 Draw of Lots 5 3 2371 Sendurai Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12		·												 	+
2371 Sendurai Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Aviting Cuddalore Rural 48 Open DC 20 20 400		1/1				-									
2372 Sendurai-Annaikarai Road within 5 km radius from Udayarpalayam Ariyalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400															+
2373 SozhanKurichi to Udayarpalayam Ariyalur Rural 48 OBC DC 20 400 12 30 Draw of Lots 5 3 2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4								_			-				+
2374 Aladi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4											1				+
2375 Avatti Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2376 Avinangudi Cuddalore Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															+
															+
14377 DINAMBINE TO TOUR TO THE TOTAL T						-									+
															3
															2

	Name of location		1	<u> </u>			<u> p</u>		9	i i		I		т —
SI. No	Name of location		Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
2380	C Thandeswaranallur	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2381	Kadampuliyur	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2382	Kammapuram Panjayat	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2383	Kanur on MDR 817	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kattugudalur	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Keelathanur on MDR 814	cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Keerapalayam	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Kosapallam	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2388	Kullanchavady - Kattugudalore Road	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Maligampattu	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Mangalore	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Manjakuzhi Manjakuzhi	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3 4
	Melmambattu Miralur	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	_
	Mudanai	Cuddalore Cuddalore	Rural Rural	48 48	SC OBC	CFS	20 20	20 20	400 400	0 12	30	Draw of Lots Draw of Lots	5	3
	Panikankuppam	Cuddalore	Rural	48	SC	DC CFS	20	20	400	0	0	Draw of Lots	0	2
	Parangipettai Town	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Paravalur	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Pathirikuppam	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Peralaiyur	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Periyanesalur	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Perperiyankuppam	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Podaiyur Ma	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Pothiramangalam	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Puvanur Ko	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2405	Ramapuram	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2406	Sathippattu	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2407	Sepalanatham	Cuddalore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2408	Seppakkam	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2409	Silambimangalam	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Srimushnam on MDR 815	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2411	Thiruthuraiyur	Cuddalore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

S. No		Name of location		1	1					J	<u> </u>			l	\Box
Regular/Rural SC/SCC C SC/PS/ST COLORIDAD Sc/PS/ST Sc/PS/	SI. No		Revenue District	Type of RO	monthly Sales	Category		1	ea of the sit	•	arranged		1	Minimum	Denosit
Company Comp	1		2 3	4	5	-				8	9a	9b	10	11	12
2413 Attainur 2414 Attainur 2415 Attainur 2416 Att						1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		, and the second	·		working capital requireme nt for operation of RO Rs. in Lakhs	fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	Lots/Bidding)		Lakhs
2414 Adakuthu Panchayat				Rural	-				+			30	Draw of Lots		+
1415 Within 5 KMs from Ceramic Aladi X Road (On MOR 746)															
Author SKMs from Virudhachaliam Vegetable Market on Kattukudalur Road Rural All Open DC 20 20 400 12 30 Draw of Lots 5 4															
MOR 815															
Althamangalam		(MDR 815)	Cuddalore	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
Description			Nagapattinam	Rural									Draw of Lots		
Assemblation															
2421 Kizhvelur TO Pattamangalam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4			Nagapattinam	Rural		Open			+				Draw of Lots		4
2422 Kondal															
2423 Kottur			Nagapattinam	Rural		Open					+				
2424 Madanam Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3															
Pagasalai												+			
2426 Porayar Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2427 Sholampettai Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2428 Thethakudi Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2429 Thirunagari Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2430 Umbalacherry Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2431 Vanagiri Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2432 Ch															
2427 Sholampettai Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4															
2428 Thethakudi															
Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4												1		_	+
2430 Umbalacherry															
2431 Vanagiri Nagapattinam Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2432 Aduthurai Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2433 Chettikulam Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2434 Elambalur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2435 Eraiyur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur <		•													
2432 Aduthurai Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2433 Chettikulam Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2434 Elambalur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2435 Eraiyur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 5 4 2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur															
2433 Chettikulam Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2434 Elambalur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2435 Eraiyur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur Perambalur Rural 48 Open CC1 DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on		ů .													
2434 Elambalur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2435 Eraiyur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur Perambalur Rural 48 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumb															
2435 Eraiyur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumbalur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>															
2436 Esanai Perambalur Rural 48 OBC DC 20 20 400 12 30 Draw of Lots 5 3 2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur Perambalur Rural 48 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumbalur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2															
2437 Kaikalathur Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2438 Keezhaperambalur Perambalur Rural 48 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumbalur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2				_											
2438 Keezhaperambalur Perambalur Rural 48 Open CC 1 DC 20 20 400 12 30 Draw of Lots 5 4 2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumbalur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2															
2439 kunnam (not on NH) Perambalur Rural 48 Open DC 20 20 400 12 30 Draw of Lots 5 4 2440 Kurumbalur Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2 2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2				1											
2440 Kurumbalur Perambalur Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2 2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2															
2441 Mangoon Perambalur Rural 48 SC CFS 20 20 400 0 Draw of Lots 0 2				 					1						-
									1						
1 2442 I Melamathur not on NH I Perambalur Rural 48 SC CFS 20 20 400 0 0 Draw of Lots 0 2		Melamathur not on NH	Perambalur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

	Name of location		 	<u> </u>			<u> p</u>		9	i i				т —
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rur	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
2443	Melapuliyur	Perambalur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Nannai	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Nerkunam	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Padalur not on NH	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Paravai	Perambalur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Puduvettakudi not on SH	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	T.Kalathur	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Thaluthalai to Vengalam on MDR 819	Perambalur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2451	Valikandapuram	Perambalur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2452	Ammankuruchi	Pudukkottai	Rural	48	Open CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
2453	Arimalam	Pudukkottai	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Ettiyathali	Pudukkottai	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Keeranur to Puliyur at Puliyur	Pudukkottai	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kodumbalur (Pudukkottai to Mannaparai road , not on NH)	Pudukkottai	Rural	48	Open	DC	20 20	20	400	12	30 30	Draw of Lots	5	3
2457	Konaiur to Kandiayanatham Kothamangalam south	Pudukkottai Pudukkottai	Rural Rural	48 48	OBC SC	DC CFS	20	20 20	400 400	12 0	0	Draw of Lots Draw of Lots	0	2
	Malaiyur	Pudukkottai	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Merpanaikadu	Pudukkottai	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Mullipatti	Pudukkottai	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Nachandupatti	Pudukkottai	Rural	48	Open	DC	20	30	600	12	30	Draw of Lots	5	4
	Nagarapatti	Pudukkottai	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Poiyamani (Mannaparai to Kovilpatti road)	Pudukkottai	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Rangiayam	Pudukkottai	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Singathakurichi	Pudukkottai	Rural	48	Open CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Suriyur	Pudukkottai	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2468	Vadugapatti	Pudukkottai	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2469	Adhirampattinam (within town limits)	Thanjavur	Rural	48	Open	DC	30	20	600	12	30	Draw of Lots	5	4
	Alathur- Pattukkottai (MDR)	Thanjavur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Ammapettai	Thanjavur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2472	Devankudi	Thanjavur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Kalanjeri (on Papanasam Saliyamangalam Road)	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
2474	Madhukkur (MDR 226)	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4

	Name of location	po					<u> p</u>		9	i i			1	Т
SI. No			Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	l	um Dimen a of the si M.). *	te (in Sq.	Finance to arranged applicant	by the	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura		(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)		Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs		Rs. in Lakhs	Rs. in Lakhs
2475	Madhukkur- Siramelkudi Road	Thanjavur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Marungulam (on Karambamkudi Road)	Thanjavur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Naduvikkadu	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Nanjikottai Village (Not on NH)	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Parakalakottai MDR 343 (RHS fom Muthupet)	Thanjavur	Rural	48	OBC PH	DC	25	25	625	12	30	Draw of Lots	5	3
	Pattukkottai Bye Pass Road	Thanjavur	Rural	48	SC PH	CFS	25	25	625	0	0	Draw of Lots	0	2
2481	,	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Sengipetti Village (on Kunnadarkoil-Sengipetti MDR 833)	Thanjavur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
_	Sikkalnayakanpettai (on Thiruppanandal-Aduthurai Road)	Thanjavur	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Thirupazhanam village (on Eachangudi- Tiruvauyaru Road)	Thanjavur	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2485	400 M (ODR 5/475)	Thanjavur	Rural	48	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Valavanpuram	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Velour Village (On Nemmeli - Kothayakadu MDR 778)	Thanjavur	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Vettavayal (MDR 603)	Thanjavur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Akkaraipatti	Tiruchirappalli	Rural	48	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Alampalayam to Annaikkalapatti	Tiruchirappalli	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Allithurai	Tiruchirappalli	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Arangoor	Tiruchirappalli	Rural	48	Open CC 1	DC	25	25	625	12	30	Draw of Lots	5	4
	Arasalur	Tiruchirappalli	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Edumalai	Tiruchirappalli	Rural	48	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
	Kargudi	Tiruchirappalli	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Keelakalam Village	Tiruchirappalli	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2497		Tiruchirappalli	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Kulumani	Tiruchirappalli	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2500	Kumulur Lalaudi aat aa NU	Tiruchirappalli	Rural	48 48	Open	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots	5	4
	- 6	Tiruchirappalli	Rural	48	Open	DC	25		625	12	30	Draw of Lots		4
2501	Moovanur	Tiruchirappalli	Rural Rural	48	Open Open	DC	25	25 20	400	12	30	Draw of Lots Draw of Lots	5 5	4
	Murungapatti	Tiruchirappalli Tiruchirappalli	Rural	48	OBC CC 1	DC	25	25	625	12	30	Draw of Lots Draw of Lots	5	3
	Naganallur	Tiruchirappalli	Rural	48	SC CC 1	CFS	25	25	400	0	0	Draw of Lots Draw of Lots	0	2
	Natham Village	Tiruchirappalli	Rural	48	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4
2303	וייםנוומווו יווומבכ	i ii uci iii appaiii	Nuidi	40	Орен РП	של			400	12	J 30	DIAM OL FORS)	

Revenue District Type of RO Revenue District Type of Site* Type of Site* Minimum Dimension (in M.)/Area of the site (in Sq. M.). * Mode of Selection Mode of Selection Revenue District Type of Site* Revenue District Regular/Rural) Revenue District Type of Site* Revenue District Type of Site* Revenue District Regular/Rural) Revenue District Revenue Dis	Fixed Fee / Minimum Bid amount Deposit 11 12 Rs. in Lakhs Rs. in Lakhs
(Regular/Rural) (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/SDC/OBC CC 1/OBC PH/OPEN/OPE (Regular/Rural) (SC/SC CC 1/SC CC (CC/DC/CFS) Frontage	Rs. in Lakhs Rs. in
1/SC PH/ST/ST CC 1/ST PH/DEN/OPE working capital required requirem for cC 1/OBC PH/OPEN/OPE working capital required required requirem for developme operation nt of	
CC 2/OPEN Lakhs ure at RO PH) Lakhs ure at RO Rs. in Lakhs	
2506 Navalpattu Tiruchirappalli Rural 48 OBC DC 20 20 400 12 30 Draw of L	5 3
2507 Pappankurichi Main Road Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	5 4
2508 Pathalapettai Tiruchirappalli Rural 48 SC CFS 20 20 400 0 0 Draw of L	5 0 2
2509 Pavendar Nagar within 3 km radius on MDR 306 Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	
2510 Peruvalappur Tiruchirappalli Rural 48 OBC DC 20 20 400 12 30 Draw of L	
2511 Pullambadi not on NH Tiruchirappalli Rural 48 Open DC 20 400 12 30 Draw of L	
2512 Ranganathapuram Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	
2513 Sengariyur Tiruchirappalli Rural 48 SC CFS 20 20 400 0 0 Draw of L	
2514 Sengattupatti Tiruchirappalli Rural 48 OBC DC 20 400 12 30 Draw of L	
2515 Shobanapuam Tiruchirappalli Rural 48 Open DC 20 400 12 30 Draw of L	
2516 Thandalaiputhur Tiruchirappalli Rural 48 Open CC 1 DC 20 400 12 30 Draw of L	
2517 Thirupanjeeli Tiruchirappalli Rural 48 Open DC 20 400 12 30 Draw of L	
2518 Thiruppattur Tiruchirappalli Rural 48 SC CFS 20 20 400 0 0 Draw of L	
2519 Thiruthalaiyar Tiruchirappalli Rural 48 OBC DC 20 400 12 30 Draw of L	
2520 Thiruvanaicholai village Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	
2521 Thumbalum Tiruchirappalli Rural 48 Open DC 20 400 12 30 Draw of L	
2522 Thuvarankurichi Tiruchirappalli Rural 48 OBC DC 20 20 400 12 30 Draw of L	
2523 Top Sengattupatti Tiruchirappalli Rural 48 SC CFS 20 20 400 0 0 Draw of L	
2524 V.Periapatti Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	
2525 Viragalur Tiruchirappalli Rural 48 Open DC 20 20 400 12 30 Draw of L	
2526 Andipandhal-MDR672 Tiruvarur Rural 48 OBC DC 25 25 625 12 30 Draw of L 2527 Between Edakeelayur and Pullavarayankudikkadu Tiruvarur Rural 48 SC CFS 25 25 625 0 0 Draw of L	
2528 Kadalangudi MDR 370 Tiruvarur Rural 48 Open DC 25 25 625 12 30 Draw of L 2529 Kalappal Tiruvarur Rural 48 Open DC 25 25 625 12 30 Draw of L	
2529 Karappal Rural 48 Open DC 25 25 625 12 30 Draw of L 2530 Karuvakurichy MDR 248 (within Karuvakurichy village limits) Tiruvarur Rural 48 OBC DC 25 25 625 12 30 Draw of L 2530 Karuvakurichy MDR 248 (within Karuvakurichy village limits)	
2530 Kardvakurichy MDR 248 (Within Kardvakurichy Village ilmits) Ilruvarur Rural 48 OBC DC 25 25 625 12 30 Draw of L 2531 Koradacherry Town (on MDR 609) Tiruvarur Rural 48 SC CFS 25 25 625 0 0 Draw of L	
2531 Koladacherry Town (on MDR 609) Tiruvarur Rural 48 Open DC 25 25 625 12 30 Draw of L	
2532 Laksininarigudi to Parluddi indik 609 Indukti indik 609 Induk	
2533 Maruthavanam(MDR 839/773) Tiruvarur Rural 48 Open DC 25 25 625 12 30 Draw of L	
2535 Nannilam (Between SH and TNEB Power station) Tiruvarur Rural 48 Open DC 25 25 625 12 30 Draw of L	
2535 Poonthottam Tiruvarur Rural 48 SC CFS 25 25 625 0 0 Draw of L	
2537 Segal Madapuram Tiruvarur Rural 48 OBC DC 25 25 625 12 30 Draw of L	

	Name of location		I				_ <u> </u>		J					
SI. No		Revenue District	Type of RO Estimated monthly Sales Potential #		Category	Type of Site*	f Minimum Dimensi M.)/Area of the site M.). *		•			Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7			8	9a	9b	10	11	12
			(Regular/Rura	al)	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)	(CC/DC/CFS)	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO Rs. in Lakhs	Estimated fund required for developme nt of infrastruct ure at RO Rs. in Lakhs	(Draw of Lots/Bidding)	Rs. in Lakhs	Rs. in Lakhs
	Thappalampuliyur	Tiruvarur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Ullikkottai (Keezha Road)	Tiruvarur	Rural	48	Open	DC	25	25	625	12	30	Draw of Lots	5	4
	Vadapathimangalam MDR-609	Tiruvarur	Rural	48	SC	CFS	25	25	625	0	0	Draw of Lots	0	2
2541	1	Tiruvarur	Rural	48	OBC	DC	25	25	625	12	30	Draw of Lots	5	3
	Deevanur	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2543	Gedilam to Tirunavalur	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2544	Kandachipuram to Nallapalayam	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
	Kiliyanur to Thailapuram	Viluppuram	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2546	Koluveri	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2547	Koogaiyur	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2548	Kuilapalayam (Auroville main Road)	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Lakkinayakkanapatti	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2550	Mambalapattu to kalapattu	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2551	, , , , , , , , , , , , , , , , , , , ,	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2552		Viluppuram	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Panamalaipettai- Anniyur	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2554	Sangiyam to manalurpet (Manalurpet-Tirukkoilur Road)	Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2555		Viluppuram	Rural	48	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2556	Tiruchitrambalam to Panchavadi	Viluppuram	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2557	Tiruvakkarai	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2558	Veerapandi to Vaippur	Viluppuram	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.